Jiangyin Huafang New Energy Hi-Tech Equipment Co.,Ltd

IS HERSRISEHRAHE A Cone Drive Company

@ No.85 Yungu Road,Changshou,Zhouzhuang Town,
Jiangyin,Jiangsu,P.R.China

TS & TR RS S MEE852 *M
% +86 510-86366206/863666117/86366260

|
X sales@h-fang.com.cn

[El (& ENRER 5 5




fmigiz e

CODE DESCRIPTION 01
N HikES -
MOTORS OPTION

AT .
COMPANY INTRODUCTION

TR i
PROJECT CASE

WZZ

W SERIES

W7 -mmmemmem s 07
Bl 08
IR e 09
A e 10
e 11
T 12
W2 ~ommemmmm e 13
W25 ~-m=nmmrm e 14
WEZR7|

WE SERIES

W -+~ mmmmmmmmmem s oo 15
b 16
L 17
o 18
W ---ommmmmemmo oo mmeo oo 19
WS -------onnemmemmmmmm s 20
W8 ---------emnmmmmmmm s oo s s 21
WEAZ7!

WEA SERIES

Y 22
WEAQ -~ -onmemmmmom oo 23
T 24
T 25
WEAT4-2 --oooommmmmmmmamnm oo 26
WEATS -----on-emsmmemsemo oo 27
T 28
T 0 29

WEA2] -----smsamsmssanssansn s 31

WEA21-2 -------o-amsemmmoemoeeceaneec 32
WEEA2S --------ecsmssamssassnseseae 33
WEA25-2 ---------sn-emmmmemmeos oo 34
WEA28 -----------ommemmemmmnoeon oo 35
WEBZ5 )
WEB SERIES

o 36
B R 37
B 38
B 39
I SO —— 40
WEB{5! --snrsmeraresseranesnseanannnasn, 41

WEBH7 --ssrsseranessesanesnseanennan, 42
) 43
EREE 44
WEB2{ --so+secssmseanesmsesniacesniaaces 45
I 46
WEB25 --+sxssssazessesanesnrranennseanes 47
WEB25-2 48
SE/PEZ3 )
SE/PE SERIES

SE3C/PE3C -------------mmwemeeneenoan 49
SESC/PESC --------------mwemeeneeneae 50
SETAIPETA --------mmmmmmmmmameeneneec 51

SEQAIPEQA ----------omwmmmomeanmnoan 52
SEA2A/PE12A ~-------=-m=wmmwmmnamnans 53
SEN14A/PE14A ~---------mmwmmommmamnnes 54
SEATAIPE1TA ~------m-wmmwmmemmmamnanes 55

= = 56

SE25/PE25 ---------=r-=rmmrmmeamsannans 57

SEA/PEAZZ N
SEA/PEA SERIES

SEAQ/PEA -------s-=-mmwsmmsamssnneasss 58

SEAREEAR 59

SEAM4/PEA14 60

SEAUEEAY 61

SEARUPERR] 62
SEA25/PEAR5 -------------------oo-aoo- 63
SEB/PEBZ .
SEB/PEB SERIES
SEB7/PEBT----------nm-mmoomoeoeanoaes 64
SEBQ/PEBQ ------------------ooooeooo 65
SEB12/PEBA2 ------------mmommmoooaoes 66
SEB14/PEB14 ----------n-noomoeoooeoos 67
SEB17C/PEB17C ----------n--mmmommeo 68
SEB21/PEB21 ----------sn-mmmmmmaooan 69
SEB25/PEB25 -----------------------o- 70
HSEZ37! .
HSE SERIES

HSET ---------xmxeamrmmrmneoceaceaca o 71
HSEQ -------=x-s-onmmossoseaceaceacees 72
T 73
HSE14 -----ac-ansassanemnmnn s sseacae. 74
HSEAT ----acmemeansansansansanannceae 75
R R 76
L 77
HSE21A-2 ~-----wm-rmmemmsamsemsemceneee - 78
HSE25 --------mnwmmmemsemmemseocen oo 79
HSE25-2 --------snwmmmsmmemmemnemnenneas s 80
HESPNZZ .
HSEPN SERIES

HESPN-0223 -----------------=-x=a===--- 81
HESPN-0480 -----------------=--==-==== 82
1000%%! 83
1000 SERIES

4000%%1 84
1000 SERIES



fmiSis BB

Code: 1.2 3 4 5 6 7 8 9 10 1 12 13 14
[ [ [ [ (. I |
Description: Model code Gear  Worm shaft & Set position Motor OEM
Order nfornaton - [o[8) (] - (2 ) (v ] saram0] - [z ]
(Example)
Option: OEM customer special applies. EPUSHRER
24.15.200 Motor code. S
None For hydraulic Motor or no motor. REDIAT
A Away, hydraulic port direction. BEDEHEROSE: 885,
| In, hydraulic port direction. WEDKHEHROAE: $#R.
u Up, hydraulic port direction. BEDEHEROAME: k.
D Down, hydraulic port direction. BEDKHEROSE: T,
None For electric Motor or no motor. BT
160 Hydraulic motor's displacement, cc/rev. (by design) WREDILHER, colrev. (I8HHEE)
None For electric Motor or no motor. BT
R Right, motor position kG,
L Left, motor position =y
F Front, motor position DikpiE,
B Back, motor position ==t
None Worm number, None means one worm. IRITER, BANT.
2 Worm number, "2" means two worms IRHTEE, HE: 2.
None End cap SRITIERANIR R IR .
H Hex extrusion LI 2PNy yay=-D
E Encoder RIBRR(AIER), IFMAGG.
None Mounting motor REBHSREDIE
B SAE 6B spline SAE 6B .
12 12mm hole with keyway 12mmAFIE2IER .
16 16mm hole with keyway 16mmAFIRIEF .
25 25mm hole with keyway 25mmAFIEERL .
None  Metric blind screw hole. A, SPEAFIRL S,
B Imperial blind screw hole. A, SNBSS .
T Thru hole on inner ring and Metric blind screw hole on outer ring. REBESFL, SMBEAFIREF.
| Metric thru screw hole on inner ring and metric blind screw hole on outer ring. RBAENRSLETL, IMNEAERNEH .
BT Thru hole on inner ring and Imperial blind screw hole on outer ring. REEAL, SMB RN EFL.
Bl Imperial thru screw hole on inner ring and imperial blind screw hole on outer ring. REBEENREGETL, JMNEREHRY S
85  Reduction ratio, see code 3. IR, T4RES3

E
EA
EB

ITNSO®

WD
PD
WDP

A Lip seal(S & W)or advanced (V) BAEHEZHE (S&W) , itk (V)

Dual axis, helical gear, precision.
Dual axis, helical gear, zero backlash raceway, precision.

c Dual seal PUGiiE o)
%) WRELEH
None x
3 Sizein inches of ball path diameter,reduction ratio:62. WEREHOER, PN, Rk 62.
5 Size in inches of ball path diameter,reduction ratio:62. IWERREROER, BN, HEEL: 62,
7 Size in inches of ball path diameter,reduction ratio:73, 60, 47. WEGRERLER, PAZEN, REL: 73, 60, 47.
9 Size in inches of ball path diameter,reduction ratio:61, 62. WEREHOER, PN, FIR: 61, 62,
12 Size in inches of ball path diameter,reduction ratio:78, 79. WERREROER, SN, HEL: 78, 79.
14 Size in inches of ball path diameter,reduction ratio:85, 86. WEKREHLER, PN, RIELE: 85, 86,
17 Size in inches of ball path diameter,reduction ratio:102, 81, 104. WEGREFOER, PN, FE: 102, 81, 104,
19  Size in inches of ball path diameter,reduction ratio:93, 115. WERREROER, SN, HEL: 93, 115,
21 Size in inches of ball path diameter,reduction ratio:125, 90. WEGREROER, PAZEN, FIELL: 125, 90.
25  Size in inches of ball path diameter,reduction ratio:150, 144, 104, 94, 108, 54. WERREROER, BN, R 150, 144, 104, 94, 108,
Enclosed housing slewing drive. BB eIk EhE B
Oil seal piiEtoEa)
Dual oil seal SGHEEE
None  Open-housing slewing drive. EE= B EI IR E .
Helical gear. Fhga
Worm gear. SRR
Zero backlash. FEE
Precision, low backlash. RBER, (KiEkR
Heavy load, worm gear. BEHRA, Bt
Dual axis, helical gear. TUHE, RIS
Dual axis, worm gear. T, 1R

TGRS, {RIERR
R, Rk, (KERR, RETER

54,

Encoder 4®i32%

AC Motor

AC Motor AZ7EEH1

DC Motor EiEENL

Hydraulic Motor #&/E5iX




AT ]y

CIRMmESHERSFHEEERAR (BR 475" ) REBKIAREFI T2 RiRRS i
SR . EHTRETERTEMANNNENRMSENEZEHRBERE, AT HSLATMLH
AR T2, FmkEEEEAR, FELERM ERFEelH.

EHERBUBPFERAZLY, ERITTE. BEHIEMRSA—K, SETFURARIIFTILE _
Ft, HEREEIRHEMR RIS ME IR R ENEHE RERS . " :

“Jiangyin Huafang New Energy High-Tech Equipment Co., Ltd. ("H-FANG") is a US based world leader
in precision motion control technology whose parent company is Timken,a world leader in engineered
bearings and power transmission products.Inheriting the advanced technologies,processes,products
and the Quality Management Systems from the parent company,H-FANG has been unremittingly pursu-
ing innovation and excellence and has become a world leader in solar tracking systems and industry
equipment applications.By cohesively integrating R&D, intelligent manufacturing,and service,which is
centered with customers and products,H-FANG is focusing on technology development so as to lead
the industry,and provide most efficient slewing solutions and customized high-quality services for the
global green and sustainable initiatives.”

ANG

B L Ompany
e




R

Forestry Machine

' E o EESiR
Wet Shotcreting Machine Aerial Work Platform

N -

matips B - aaiils’ BOieE - mats Erias

Concrete Mixer L . Port Machine Machine Tools+ Automation Medical Devices

E=SELCEL] SZIREEH =S BSRE
Roadway Repair Machine] Multi-purpose Dirill Sewage Suction Truck Vacuum Pump Truck




SLEWING DRIVE [El§&s8iRiESS

UNITS/& fi:mm
1inch=25.4mm

Weight:29kg

FRONT VIEW INPUT NS
ENRE
Cover
e A 8 9% %
58 £
+0.065 gy
< @25 +0.025 @ i ~
8
s 1241 92
o | R PR N HHERM g == =8
4 o o o
© £ \.‘Z’ﬁﬁl§ 8
g ) e N
3 R L SOES
bl 2-M12x1.75 275
1N b
142.5 Based On 12 Equally Spaced @25
206.5 *2 ®127139% 5
| Input NI 22
SIDE VIEW 175 6 - N
MARE (@135 ] 8 s 1
%‘1 11-@14 So
— Based On 12 Equally Spaced L1741 gl 8
127197 T ST
0|5 = =) > | 10 Q
o ) @ -
) .2 v L =
o175 | 2-M12x1.75 75
@205
@230 R
@250 | 6B SplinefeiE
ﬁﬁt*ﬁ MOMENT LOAD CHART——— _ iﬁ}u&lﬁ Mounting Holes Option
. 15(11.07) - . v
= ode
é kS 125(9.23) e (Outer Ring 4M&)) (Inner Ring PIE)
S’ 10 (7.38) _ _
g % 75 (5.54) — | M12x1.75 Tap (B0%)22 M12x1.75 Tap (BUR)22
S E 5 (3.69) T M12x1.75 Tap (B0F)22 @14 Thru ({B7L)
=)} =
£ @ 25 (1.85) B | 1/2"-13UNC-2B Tap (BGF)22 | 1/2"-13UNC-2B Tap (BUF)22
o
= 4445 8889 113.33 177.78 222.22 BT | 1/2"- . S ;
R O S 1/2"-13UNC-2B Tap (BUF)22 @14 Thru (B7L)

Axial Load3#H@# 1T kN(x103 Ibf)

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking

Torque Torque Rating Rating Rating Rating Ratio  Precision

SLEWING DRIVE [El3&=RiES

UNITS/E2 {izmm
1inch=25.4mm

Weight:40kg

FRONT VIEW INPUT N
TERE
Cover lA +0.08 66
BRIFE \ 81002 -
P~ +0.065 ';!!"y SIS
< 225 w05 /) ////= B ~
N\ 5
o s 1241 %2
™ d A BmE _ \slsl RO e XX 41— ['e)
1] < o
s SN g
2 ™ N 'l?\\gl N Q,
= £ Equally Spaced & L >
9% 2-M12x1.75 == 275
15-N
Based On 16 Equally Spaced @25
[ Input A% 1671597 52
+051 22
SIDE VIEW @220 ©25.32 103 A ) | =
e glzg ‘ 15018 22159 105 "
—"2_|| IBased On 16 Equally Spaced \ 8,
1%167.197% i A 7en g;) o
0|5 o x| ! S N
G FF > 10 Q
S &
p L
© 2-M12x1.75 275
6B Splinettsz
—— & F F35EE] MOMENT LOAD CHART———— — FZEREIR Mounting Holes Option ————
= 36(26.57) N
03.:_ ;é 30(22.14) (Inner Ring IR
e 24(17.71) - -
= — M16x2 Tap (BF)30 M16x2 Tap (BIR)30
g E 18(13.28)
2= 12 (8.86) T M16x2 Tap (IZiF)30 @18 Thru (i&7L)
o =
= ﬁ 6 (4.43) B | 5/8"-11UNC-2B Tap (IZiF)30 | 5/8"-11UNC-2B Tap (B%)30
[l
100 200 300 400 500 600 BT | 5/8" H BHR ;
399, A8 399, H0 50 5% 5/8"-11UNC-2B Tap (BGF)30 @18 Thru (&%)

Axial Load 3@ FaTkN (<103 Ibf)

ﬁﬁg%ﬁﬁ Slewing Drive Performance Parameters

Tilting Moment [lellsligfe} Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking

etaet 273 ibbapis RISDIE WERHST | FEBEET | BEsEE | fEshEE | ORE | BESR BB

3.5 kN.m 14.2 kN.m 20 kN.m 220 kN 90 kN 63 kN 48 kN

47:1 <0.15° 29%g
2583 Ibf.ft 10.5x10°Ibf.ft | 14.8x10°Ibf.ft | 49.5x10%Ibf | 20.2x10%Ibf | 14.2x10°Ibf 10.8x10° Ibf

“A” VIEW AS INPUT IS ALLOWED A * Please be sure to remain under the curve. B R iEHHREFRE T EZSEEIA o
ENEEAETE ‘A" EIE * This drawing is just for your refenece.lA B4R tEES %, |

© This drawing is susbject to change due to new design without prior notice. A A EI{REBHL = RAIALFI

MABSTEN. 3

* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR. :

AIREMENE R TIFRZIT

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT ?ri
g

[JA SLEWING DRIVE

Torque Torque Rating Rating Rating Rating Ratio  Precision

et B H%E RIFIME RS | FEBEE | WEsEE | fEsEE | REl | BESR | BB

8 kN.m 35.6 kN.m 34.5kN.m 578 kN 215 kN 136 kN 115 kN

62:1 <0.15° 40kg
5904 Ibf.ft 26.3x10°Ibf.ft | 25.5x10%Ibf.ft | 129.9x10%Ibf| 48.3x10%Ibf | 30.6x10°Ibf 25.9x10° Ibf

“A” VIEW AS INPUT IS ALLOWED A * Please be sure to remain under the curve SRS IREFRE T EMEEEIN o

ENEATE ‘A" B0E = ° This drawing is just for your refenece.lA B4Rt 2%, i

7777777777777777777777777777777777777777777777777777777777777777 S This drawing is susbject to change due to new design without prior notice. /A SHRER XA FRIIA |

o MABS{TEA. |

r; * Please contact the technical department for dimensions and performance parameters of the drives. :
T NRTERENIMERIMRESEH, BERABIIKER.

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRET

sLewG Drive AT



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

UNITS/E2 {izmm
1inch=25.4mm

UNITS/& fi:mm
1inch=25.4mm

Weight:52kg

Weight:62kg

FRONT VIEW INPUT ERNEZNE FRONT VIEW INPUT BN
EE EAE
Cover +0.08 66 Cover 66
HiRE 8 +0.02 B3P E N
18
l: Grease Nipple @25 ﬁggg @ g\@
RN i - i T
8 124122 = N
ol | eS|\ sy e = T 3 3 < H— 3
~ o~ N 4 N
& 18-M dg TR S NN 3
¥ N\ = Q o N\ Y /2 ‘ll, Q Q
Equally Spaced @ NN B S Equally Spaced E N 1
8 5575 & SN 4 5% =N
1 « 19-N 2-M12x1.75 275 23-N 275
Z 1 1 Based On 24 Equally Spaced T
Based On 20 Equally Spaced a2 247197
2071975 5 3015 @25
|
52 s 52
[ Input BN | Input 45
+0.51 o 22 . 22
@25.32 +03 ! —~ -
SIDE VIEW 0. ‘ r NN B SIDE VIEW [% 1 : r N B
@UU”, @310 19-018 - - N §° ﬂwm 2395597 n 24-018 S 8
Based On 20 Equally Spaced R ol o ©eoo2l |1l Equally Spaced L ~T %a
@229 i 3 — 1741 @] 18 | g —JH 41721 &) 18
#207,1575 3 | St o N STl | S
? > 0 Q Llo \ 3 > 0 Q
w5 0 i =] {@ )» 13| © —
0 @ N B ‘ - = oo B - -
8 ] © @265
& 2-M12x1.75 75 539 2-M12x1.75 275
N @422 N
6B Splineftig 445 6B Splineftig
75 &% 7156 B MOMENT LOAD CHART————— — ZZZEFIEIE Mounting Holes Option —— &EH J35EE] MOMENT LOAD CHART————— — TZEF|IBIA Mounting Holes Option ————
—  60(44.28
0 E ( ) ‘ — T T - 72(53.14) N
g2 50 (369 K15 (Outer Ring N8l (Inner Ring IE]) Y £ 60(44.28) (Inner Ring AE])
S o o5
=¥ 400982 M16x2 Tap (BIF)30 M16x2 Tap (BIF)30 g2 4803542 M16x2 Tap (B0F)30 M16x2 Tap (B0F)30
_ " " _ N N
5 § 30 (22.14) ap (BUR) ap (BUR) T ¥ 350657) ap (BUR) ap (BUR)
Sy 20(14.76) T M16x2 Tap (BF)30 @18 Thru (iB3L) é 2 2a0771) T M16x2 Tap (BF)30 @18 Thru (iB3L)
(2]
£ R o
g B 10 (7.38) B | 5/8"11UNC-2B Tap ()30 | 5/8"-11UNC-2B Tap (IF)30 g B 12 (8.86) B | 5/8"-11UNC-2B Tap (IR)30 | 5/8"-11UNC-2B Tap (BZiF)30
150 300 450 600 750 . = : F . - ;
(33.75) (67.5) (101.25) (135) (168.75) BT | 5/8"-11UNC-2B Tap (IZiF)30 ©18Thru (L) (25010) (‘118?) (?gg) (28(2)) (1205030) BT | 5/8"-11UNC-2B Tap (IiF)30 ©18 Thru (&7L)

Axial Load i arkN(x 103 Ibf) Axial Load 4B 7arkN (<103 Ibf)

ﬁﬁg%ﬁﬁ Slewing Drive Performance Parameters

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Rating Rating Rating Rating Ratio  Precision Torque Torque Torque Rating Rating Rating Rating Ratio  Precision
e EHE RIFNE MEEgREE | ARSEET | HEDRET | fEmEET | OREt | BESR | Z28 BILHEERE R H%E RIFNE HMEHHE | FABHE | HEsEE | fEmEE | REt | BESR | B8
9.5 kN.m 57 kN.m 43 kN.m 760 kN 280 kN 190 kN 148 kN 10.8 kN.m 71.2 kN.m 48 kN.m 960 kN 360 kN 230 kN 200 kN
79:1 <0.15° 52kg 86:1 <0.13° 62kg
7011 Ibf.ft 42.1x10°Ibf.ft | 32x10°Ibf.ft 171.1x10%Ibf|  62.9x10%Ibf | 42.7x10°Ibf 33.3x10° Ibf 7970 Ibf.ft 52.6x10°Ibf.ft | 35x10°Ibf.ft 215.8x10°Ibf|  80.9x10%Ibf | 51.7x10°Ibf 44.9%10° Ibf
""""""" A VIEWAS INPUT ISALLOWED /) °Please be sure to remain under the curve SRS bREIREA TR AABEM. N VIEWASINPUTISALLOWED A\ °Pleasebe sure to remain under the curve BRETNIRNFAGEMATEEAS.
. giv;lﬁl;;ﬁl:gl{&lﬁs QJI}IIA:I,WED A * This drawing is just for your refenece.l_EE#R{R S, : . QE\V;I%A;LEZ;U‘TA‘S Q]I}El%WED A * This drawing is just for your refenece. LL LIRS X . |
7777777777777777777777777777777777777777777777777777777777777777 S« This drawing is susbject to change due to new design without prior notice. 2/ SHRERBIHF=RHIRLE 5 This drawing is susbject to change due to new design without prior notice. ZNA SR BB F= R |
3 i =
. 5 MABSTEM. : , 5 MAESTEN. 3
SPECIAL DES|G$N’§AS§EE§) N %LQI?QQER iREQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES'%\‘}EBASEEES N %&;Igé"';'? iREQU'REMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. :
IRIERSIE R GAHRTY T NREBEEMNUR TSRS SN, BERABNIIEER, | FIRIBRE SR EH TR 5 NRBEBEEMNERIMMESEY, BSRADIIER. |

I S.c\NG DRIVE SLEWING DRIVE



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

UNITS/& fi:mm
1inch=25.4mm

UNITS/E2 {izmm
1inch=25.4mm

Weight:82kg Weight:95kg

FRONT VIEW INPUTIEREEE FRONT VIEW INPUT 2NN
TEE TERE
0 66 66
Cover | 8 +g_gg Cover 008
[t \ @\ iRE e +g.gg§ 002
+0.065 L 7 § +0. _ =
i i N _
@25 +o025 () © A \ d B © © 40 TS\ >
Yo} + % S\,(/\'\'((‘\"\I\-\“ 1241 § o e} ( g !
| < | e—— T +
: 3§ N7 2 RUNCIENR =
2 %o g ~ \\\})\I\l\\)TI}\J % 2 32-M So @ n@ IN: !( N
Q|4 Equally Spaced <° Y = Equally Spaced o NO{RO ==
4 qually Space p ‘k\ L bt © k
& @%@ SOAS NS R 2M12x1.75 575
- ==y =
£ aIfOSN ~cod 2-M12x1.75 - 275 Based On 32Equally Spaced @25
249 7 qu s: p 1#%32719%
| Input NI @25 ‘
52 Input I
|
SIDE VIEW ggég-? ’ 225,32 125" & 22| .
MALE (3651 | 20-918 051 ) r ‘ — SIPE VIEW @470 ‘ 33
Equally Spaced 221.59 +03 & g I MALE 0420 Q
9% $o @380 31-018 ©
i N 0 t ©
1) o 2 ool R 1741 8l < || | Based On 32 Equally Spaced
8| 4D i\ & pup= < 0 g ool 1 3 i 3271975 +0.51
- 0 = B B /ﬁ% i i TN S @21.59 +03
o L Z &%) (15 T e
© 2-M12x1.75 275 i @470 @25.32 +03
2525 -ggig
@535 inets
6B Splinefzig e
—— &E J35EE] MOMENT LOAD CHART———— — LT 1%IA Mounting Holes Option ———— —  &EHFHEEE MOMENT LOAD CHART———
0 & 150(110.7) M N = 200 (147.46)
g, % 125(92.25) (Outer Ring 4 (Inner Ring AE) é% 160 (117.97) ‘
2 $ 100 (738 - 7 X
5t 75 (;5 35)) - M16x2 Tap (B®)30 M16x2 Tap (%)30 £ & 120 (88.48) — M16x2 Tap (BF)32 M16x2 Tap (B235)32
£ =z . £ =z
2 o 50 (36.9) T M16x2 Tap (BF)30 @18 Thru (&7L) S = 80 (5898) T M16x2 Tap (BF)32 @18 Thru (B7L)
2R 51845 - - 25 40 (2949)
e (18.45) B | 5/8"-11UNC-2B Tap (BIR)30 | 5/8"-11UNC-2B Tap (I%iF)30 S m B | 5/8"-11UNC-2B Tap (I¥iF)32 | 5/8"-11UNC-2B Tap (BiF)32
= P~ = =
2267 4535 6803 907.1 11339 BT | 5/8"-11UNC-2B Tap (3F)30 @18Thru (B, 300 600 900 1200 1500 BT | 5/8" ! R 5
(509) (1019) (1529) (2039) (2549) P %) 0E (67 44) (154 89)(205.32) 260 16) (357°2) CEHMNS AR ED R T

Axial Load #i[E#fe kN (<103 Ibf) Axial Load #i@arkN(x 103 Ibf)

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

ﬁﬁg%ﬁﬁ Slewing Drive Performance Parameters

Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking , Output Tilting Moment [lellsligfe} Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Rating Rating Rating Rating Ratio Precision '/eight Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
etk 1REE RIFHIE MEFEEE | fEBHEE | HMamEE | foaiEE | Rkl | BESR | B8 BEEIE R H%E RIFNE HMEHHE | FABHE | HEsEE | fEmEE | REt | BESR | B8
12.96 kN.m 142.4 KN.m 58 kN.m 1166 kN 435 kN 280 kN 231 kN 18.5 kN.m 170 kN.m 80.1 kN.m 1400 kN 525 kN 290 kN 250 kN
104:1 <0.1° 82kg 94 :1 <0.1° 95kg
9564 Ibf.ft 105x10%Ibf.ft | 42.8x10°Ibf.ft| 262x10°Ibf 97.8x10°Ibf | 62.9x10°Ibf 51.9x10° |bf 13653 Ibf.ft | 125.5x10°Ibf.ft | 59.1x10%Ibf.ft | 314.7x10°Ibf 118x10° Ibf 65.2x10°Ibf 56.2x10%Ibf

“A” VIEW AS INPUT IS ALLOWED
BNRAFE “A” EE

A * Please be sure to remain under the curve. J&E R EHHRCFREETEMLSTEN
* This drawing is just for your refenece.lA B4R tEES %, :
© This drawing is susbject to change due to new design without prior notice. A A EI{REBHL = RAIALFI
MABSTEN. 3
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR. |

“A” VIEW AS INPUT IS ALLOWED
BNRAYFE A" ERE
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRET

A * Please be sure to remain under the curve. 5B R SRR LR A ELSBEM
* This drawing is just for your refenece. LA B ES %, |
§ * This drawing is susbject to change due to new design without prior notice. A A BIR BT R AILF |
o MABBTEM. !
r; * Please contact the technical department for dimensions and performance parameters of the drives. :
5 MRFBEEBNINERIFIMEES T, BERATIIRKER.

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT ?rR
AIREMENE R TIFRZIT 2

I S.c\NG DRIVE SLEWING DRIVE



SLEWING DRIVE [El§&s8iRiESS

UNITS/& fi:mm
1inch=25.4mm

Weight:139kg

SLEWING DRIVE [El3&=RiES

UNITS/E2 {izmm
1inch=25.4mm

Weight:176kg

FRONT VIEW INPUTIEREEE FRONT VIEW TIE2NE!
ENRE EAE
A Cover
Cover
HiRE l 4-510 66 P 4-R10 66
] 5 /%Q% . « i
N So o N =1 So
© //,”/ 12:1% o e 1241 %
N - r F > s - F e
2 7/////// N g 2106.4 N
9 +0.065 PS¢ I E—— N +0.065 e > R Q
N | @25 +0.025 ////u ///\\\\\\\ 925 +0025 // WS \\\\\\\
- 12x1.75 Tap( BGR )21 12x1.75 Tap( BG% )21
Based On 36 EquaIIy Spaced 1975
1#%367L19%
325 | T . @25
Input BN 4-R10 nput Hai/Avm 4-R10 5
$3 ! ZEN ‘
9 SIDE VIEW 2621 . e Y .
EJ?%VIEW 0526 | g MR E -gggg ‘ S O-¢ //‘/r \\'§ o
- [0466.7] © 24-@22 © £ 22+1%°
3425 _‘ 35-@22 1l Equal{gSpaced = — — 8
Based On 36 Equally Spaced +0.51 olo i SARY o o +0.51 S
— : 1367197 02159 105 3 "E, U 22159 03 8
ole prey 5 L +051 A
oz} ' @25.32 +0. T "
- IE@, SOESE IS 025.32 w03 2-M12x1.75 Tap( BOE )21

2652

— & E HIEE MOMENT LOAD CHART——————

240 (177)

Axial Load 3#[a)3 kN (<103 Ibf)

6B Splinetzi

_— i%ﬂiﬁlﬁ Mounting Holes Option —— 8 ——

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

— & F HIEE] MOMENT LOAD CHART—————

352.3(260)

Axial Load a2 farkN(x103 Ibf)

6B Splinet&iz

ﬁ%;wﬁlﬁ Mounting Holes Option

0 & Code M N 0 & M N
%,i 200(147.5) ] (Outer Ring 4M#)) (Inner Ring AIE]) g % 298.1(220) (Outer Ring 4M&) (Inner Ring PIR&)
E % 160 (118 s
=1 120 ((88 5)) — M20x2.5 Tap (BGF)40 M20x2.5 Tap (BGR)40 T ¥ 257.5(190) — M20x2.5 Tap (BUR)40 M20x2.5 Tap (BGR)40
£ 2 : =
25 80 (59) T M20x2.5 Tap (BOF)40 @18 Thru (&7L) Sy 21680160) T M20x2.5 Tap (BI7)40 @22 Thru (L)
2R 2R 176.1(130)
S m 40 (29.5) B | 3/4"-10UNC-2B Tap (BGF)40 | 3/4"-10UNC-2B Tap (BGR)40 = % : B | 3/4"-10UNC-2B Tap (BGF)40 | 3/4"-10UNC-2B Tap (BGR)40
=3
300 600 900 1200 1500 1800 BT | 3/4" 7 § 500 1000 1500 2000 2500 BT | 3/4" g R 5
O0%) (132 8)(2002)(2808) (557) (4083 3/4"-10UNC-2B Tap (BF)40 @22Thru (iBFL) (112.4) (224.8) (337.2) (449.6) (562) 3/4"-10UNC-2B Tap (BUR)40 @22 Thru (i@7L)

ﬁﬁg%ﬁﬁ Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Rating Rating Rating Rating Ratio Precision '/eight Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
etk 1REE RIFHIE MEFEEE | fEBHEE | HMamEE | foaiEE | Rkl | BESR | B8 BEEIE R H%E RIFNE HMEHHE | FABHE | HEsEE | fEmEE | REt | BESR | B8
28.7 kN.m 203 kN.m 105.8 kN.m 1598 kN 640 kN 385 kN 335 kN 34.2 kN.m 310 kN.m 158.3 kN.m 2360 kN 945 kN 590 kN 470 kN
90:1 <0.1° 139%g 104 :1 <0.1° 176kg
21180 Ibf.ft 105x10%Ibf.ft | 78.1x10%Ibf.ft | 359x10°Ibf 144%10° Ibf 87x10°Ibf 75%10° Ibf 25240 Ibf.ft | 229%x10%Ibf.ft 117x10° Ibf.ft 531x10°%Ibf 212x10%Ibf 133%10° Ibf 106x10° Ibf
""""""" A VIEWAS INPUT ISALLOWED A © Please be sure to remain under the curve AR AMESFANENEBER.  AVEWAS NPUTISALLOWED A © Please be sure fo remain under the curve AR AMESFAHEMEBER.
ENEEAETE ‘A" EIE * This drawing is just for your refenece.lA B4R tEES %, i BNERYIE ‘A" HAE * This drawing is just for your refenece. LA B ES %, i
7777777777777777777777777777777777777777777777777777777777777777 § © This drawing is susbject to change due to new design without prior notice. A A EIfREE = FRAIELF § » This drawing is susbject to change due to new design without prior notice. 2~A E/R BB~ RANF]
\ 5 MABSTEM. : , 5 MAESTEN. 3
SPECIAL DES|G$N’§AS§EE§) N %LQI?QQER iREQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES'%\‘}EBASEEES N %&;Igé"';'? iREQU'REMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. :
IRIERSIE R GAHRTY T NRREBEEMNIRIMMESSY, BERANIIEER. | FIRIBREHE R TAHRIY 5 NRBEBEEMNERIMMESEY, BSRADIIER. |

I SLEWING DRIVE

SLEWING DRIVE 14



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

UNITS/& fi:mm
1inch=25.4mm

UNITS/E2 {izmm
1inch=25.4mm

Weight:48.5kg Weight:61kg

FRONT VIEW INPUTIERNGEE FRONT VIEW INPUT RN
IEMRE IERE
Cover A +0.08 66 c A +0.08 66
R175.5+2 8 +002 over R218+2 8 +0.02
prE L . S "y 4 12 prE | gy “
rease Nipple +0.065 i N 10,065 i W
GBI 225 00 (G E A \\<4|;== _ @25 +0025 _[Q) i 17 \/{;EH -
1 = 5 TR W | 1041 52
«© - o \\\\\\\\\\\\}J S 5 o o \\I\\\\\\\\\\\\\ S
: WIS 8 - NV 8
16-M o R{E\\L ] 2 SR L
Equally Spaced & L .“E 2 & = “‘é
9% 2-M12x1.75 275 - A 2-M12x1.75 275
15_N T T - T T
Based On 20 Equally Spaced
Based On 16 Equally Spaced
2442 B67L197 @25 2. 1220713597 @25
.y - 52 286.5'] 52
nput IR | | cw
@25.32 05 & 22 = Input  EINiH 302081 22
+4 +0.51 . e - " . —-
?lI‘II:EIEzVIEW R133 @255 -2 @21.59 +03 4 3 SIDE VIEW @340 > T
e o -21112 ‘ 15-0918 <T o fanE  R173 (9259 . 19.018 | g,
N Based On 16 Equally Spaced w0 g: BT L 8l § ‘l‘l}—.)_ 0229 BasedOn 20 E ually Spaced 3 [k 1741 § 3
o 12163L19% S8 S ~ tr207 5% g | &
s ‘_4}— [te) z 110 Ty © D L;') - |10 Q
o N - < \ AW L
© e 2 : f : e 15 = 8 f
= © 2-M12x1.75 275 ' N o
222252 : 275
2270 . N
2325 6B Splinefzi G110 6B Splinefti
—— && %6 E MOMENT LOAD CHART———— — FTEEFLIEIR Mounting Holes Option ——— —— 7&# 3B E MOMENT LOAD CHART———— L FLIBEIR Mounting Holes Option
. 36(2657 -
W B ( ) Code M N W & 60 (44.28) N
g2 30(22.14) KB (Outer Ring #hE]) (Inner Ring PIE) g2 50 (36.9) (Inner Ring )
2 § 24(17.71) — M16x2 Tap (BIF)30 M16x2 Tap (BIF)30 C 5 0@ — M16x2 Tap (BUF)30 M16x2 Tap (BUF)30
3E  18(13.28) el el 5 E 002219 p =R p =R
2 w1286 T M16x2 Tap (BUF)30 @18 Thru (&) S o 2001476) T M16x2 Tap (BUF)30 @18 Thru (&7L)
j=2 j=2]
% fu@ 6 (4.43) B | 5/8"-11UNC-2B Tap (BUF)30 | 5/8"-11UNC-2B Tap (BIF)30 § @ 10 (7.38) B | 5/8"-11UNC-2B Tap (BGR)30 | 5/8"-11UNC-2B Tap (BIF)30
& =
100 200 300 400 500 600 BT | 5/8" H W ] 150 300 450 600 750 BT | 5/8" ! R ;
(399, 79 a0 400 B0 890, 5/8"-11UNC-2B Tap (BGR)30 @18Thru (&FL) % &% 185 S 18%s 5/8"-11UNC-2B Tap (BG%)30 @18 Thru (&7L)

Axial Load #i@#fErkN(x 103 Ibf) Axial Load fliE#fsTkN(x 103 Ibf)

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

ﬁﬁg%ﬁﬁ Slewing Drive Performance Parameters

Holding

Tilting Moment Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking Tilting Moment [lellsligfe} Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Rating Rating Rating Rating Ratio  Precision Torque Torque Rating Rating Rating Rating Ratio  Precision
etk EHE RIFHIE MEFEEE | fEBHEE | HMamEE | foaiEE | Rkl | BESR | B8 HIHEERE R H%E RIFNE HMEHHE | FABHE | HEsEE | fEmEE | REt | BESR | B8
8 kN.m 35.6 kN.m 34.5 kN.m 578 kN 215 kN 136 kN 115 kN 9.5 kN.m 57 kN.m 43 kN.m 760 kN 280 kN 190 kN 148 kN
62:1 <0.15° | 48.5kg 79:1 <0.15° 61kg
5904 Ibf.ft 26.3x10°Ibf.ft | 25.5x10%Ibf.ft | 129.9%10°Ibf 48.3x10%Ibf | 30.6x10°Ibf 25.9x10° |bf 7011 Ibf.ft 42.1x10%Ibf.ft | 32x10°Ibf.ft 171.1x10% Ibf 62.9x10°Ibf | 42.7x10°Ibf 33.3x10°Ibf
""""""" A VIEWAS INPUT ISALLOWED /) ° Please be sure to remain under the curve AN BRSRa ERAEN .,  AVEWASINPUTISALLOWED /) °Please be suretoremain under the curve AR AMESFAHEMESEN.
. giv;lﬁl;;ﬁl:gl{&lﬁs QJI}IIA:I,WED A * This drawing is just for your refenece.l_EE#R{R S, : . QE\V;I%A;LEZ;U‘TA‘S Q]I}El%WED A * This drawing is just for your refenece. LL LIRS X . ‘
7777777777777777777777777777777777777777777777777777777777777777 § © This drawing is susbject to change due to new design without prior notice. A A EIfREE = FRAIELF § » This drawing is susbject to change due to new design without prior notice. 2~A E/R BB~ RANF]
\ 5 MABSTEM. : , 5 MAESTEN. 1
SPECIAL DESIGN BASE ON CUS,IOM'_ERS REQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DESIGN BASE ON CUSIOM_ERS REQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. |
RIS R A T R i S NRTEEEEMMNERIMMEEEY, BSHANIIER. ‘ FIRIERE R R TR S NRTEEEEMOMNERIMMAEEY, BSEABIRR.

IEA SLEWING DRIVE

SLEWING DRIVE



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

UNITS/& fi:mm
1inch=25.4mm

UNITS/E2 {izmm
1inch=25.4mm

Weight:68kg Weight:90kg

FRONT VIEW INPUT RNzl FRONT VIEW INPUT NS
EE IEALE
Cover R235.5+2 +008 66 Cover R280.5+2 +0.08 66
B \ 8 +0.02 . BRE) 8+002 .
. N
025 5% 6 4O i : 025 105 (G {4 I S
] o © . s RSeS| 1241 72
g 5 8 @& N1+ ¢
3 N ! \ B
o D S S NN ©
o 8 © ° \\7/””1» )
sl | « ] S PR © ! N\ 1
g 5% g ] S N 8 Q% SN
2-M12x1.75 e 2-M12x1.75 275
23-N i i e g T T
Based On 24 Equally Spaced 285
Equally Spaced
301.5 7 12247197 @25 349 2 q ): P @25
| 52 [ 52
Input BN 051 22 Input X\ 051 22
SIDE VIEW  Rig3  ©380%2 : § s | EUI%VIEW 3 § g |
ARE o @295 $o = So
i ‘ 23018 4721 gl 8 20-018 . Hazer 8 78
~ Based On 24 Equally Spaced | Q N Equally Spaced 8 | S ]
= i 247197 > |10 S 3 ® > |10 S
“EoN : e g :
= - G? (.ID -
2-M12x1.75 275 2430 = © 27.5
_ 0479 4 N
6B Splinet&ss 2535 6B Splinef&i#

— R&EHIIEE viomenT Load cHART—————

— Z%EF|IEIA Mounting Holes Option ——— —— & EH J35EE] MOMENT LOAD CHART——————

ﬁ%;wﬁlﬁ Mounting Holes Option

72(53.14)

0 £ Code M N g & 150(1107)
R 60(44.28) sl (Outer Ring 4M&)) (Inner Ring PIEE]) 22 125(92.25)
O o o o
L2 48(35.42 (ol
=X (35.42) — M16x2 Tap (BF)30 M16x2 Tap (BIF)30 1 100 (73.8) — M16x2 Tap (BF)32 M16x2 Tap (BUF)32
gk 36(26.57) EZ 75553
S @ 24(17.71) T M16x2 Tap (KiF)30 @18 Thru (iB7L) = @ 50 (36.9) T M16x2 Tap (IiR)32 @18 Thru (iB4L)
o £ R
£ @ 12 (8.86) B | 5/8"-11UNC-2B Tap (BF)30 | 5/8"-11UNC-2B Tap (BF)30 3 25 (18.45) B | 5/8"-11UNC-2B Tap (BF)32 | 5/8"-11UNC-2B Tap (BGF)32
= EZ = H
200 400 600 800 1000 BT | 5/8" ! R i 2267 4535 680.3 907.7 1133.9 BT | 5/8" y R ;
200 4% g% SN 5/8"-11UNC-2B Tap (BG%)30 @18Thru (E7L) zen 4833, 5803, &1, U8 5/8"-11UNC-2B Tap (BG%)32 @18 Thru (&7L)

Axial Load i@ 7arkN(x 103 Ibf) Axial Load i@ kN(x 103 Ibf)

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

ﬁﬁg%ﬁﬁ Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Rating Rating Rating Rating Ratio  Precision Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
etk 1REE RIFHIE MEFEEE | fEBHEE | HMamEE | foaiEE | Rkl | BESR | B8 HILEERE R H%E RIFNE HMEHHE | FABHE | HEsEE | fEmEE | REt | BESR | B8
10.8 kN.m 71.2 kN.m 48 kN.m 960 kN 360 kN 230 kN 200 kN 12.96 kN.m 142.4 kN.m 58 kN.m 1166 kN 435 kN 280 kN 231 kN
86:1 <0.13° 68kg 104 :1 <0.1° 90kg
7970 Ibf.ft 52.6x10°Ibf.ft | 35x10°Ibf.ft 215.8x10%Ibf|  80.9x10%Ibf | 51.7x10°Ibf 44.9x10° Ibf 9564 Ibf.ft 105%103 Ibf.ft 42.8x10%Ibf.ft | 262x10°%Ibf 97.8x10°Ibf | 62.9x10°Ibf 51.9x10%Ibf

“A” VIEW AS INPUT IS ALLOWED
BNRAFE “A” EE

A * Please be sure to remain under the curve. J&E R EHHRCFREETEMLSTEN
* This drawing is just for your refenece.lA B4R tEES %, :
© This drawing is susbject to change due to new design without prior notice. A A EI{REBHL = RAIALFI
MABSTEN. 3
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR. |

“A” VIEW AS INPUT IS ALLOWED
BNRAYFE A" ERE
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRET

A * Please be sure to remain under the curve. 5B R SRR LR A ELSBEM
* This drawing is just for your refenece. LA B ES %, |
§ * This drawing is susbject to change due to new design without prior notice. A A BIR BT R AILF |
o MABBTEM. !
r; * Please contact the technical department for dimensions and performance parameters of the drives. :
5 MRFBEEBNINERIFIMEES T, BERATIIRKER. :

AIREMENE R TIFRZIT

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT ?ri
g

lfA SLEWING DRIVE

SLEWING DRIVE



SLEWING DRIVE [El§&s8iRiESS

UNITS/& fi:mm
1inch=25.4mm

Weight:169kg

SLEWING DRIVE [El3&=RiES

UNITS/E2 {izmm
1inch=25.4mm

Weight:199kg

FRONT VIEW INPUT N lE FRONT VIEW INPUT EEDNGZNE]
EWRE TERE
R388+3
Cover R339+3 4-R10 66 Cover f‘ 4-R10 66
PP 3o\ WirE S\ [
S 72/ v /%//f‘i‘a‘é
o 4 = g 94 3 4 NN g
S o o S o
“' 8 //I’// 1217 " o 3 ///I’// 122172
) . = i 0 - i ©
E: 0,065 184 ////// 2 S A 106.4 ///‘// X
+0. A L~ +0. e e
"3 Equally Spaced 925 +0025 /%"'/////\\\\\\\ § || @25 +0025 ////“////\\\\\\\
N 9% 2-M12x1.75 Tap(5R)21 1 ’ 35.-N 12x1.75 Tap(BLx)21 |35
5 325E—N e / Based Or;g 36 E&%?:I;y Spaced
ased On qually Space %3674
1%367L197% @25 @25
| 4-R10 | " 4-R10
Input %I NI *\f 52 Input i \if Tg\ 52
28 So !
= ‘ D ¥
SIDE VIEW 5053 ol (06O (. = SIDE VIEW 8 — g
MARE = ‘ © 7 So M 2650 i o 241%°
0466.7 | 35-922 OB 1 227 o o o 35022 - i | &
@425 Based On 36 Equally Spaced 051 2106.4 % - i Based 0?"%665?12]?2/ Spaced 2106.4 A 8
+ rnl | I | QSN —
gl oI ir—‘;*m Ao 367197 m% 8l Qe g{ orengl * /%“/////‘\\\“\
9 ll ~ ol ~ N
fo) _ - 02532 103 2-M12x1.75 Tap(BUE )21 ' 2 121,75 Tap(37)21
o540 8 120 2630 &
25842 - oo _
2628 6B SplinefzsE ! 6B Splineftsz
—— FEH BB MOMENT LOAD CHART————— — ZZEFLEIA Mounting Holes Option — — & HDIEE MOMENT LOAD CHART—————— LT3 IE Mounting Holes Option
L & 240(177) oo M N 5 352.3(260) Mo N
% (,i 200 (147.5) ] (Outer Ring M) (Inner Ring AIF) g o 298.1(220) (Outer Ring 4M&) (Inner Ring PIE])
= % 160 (118 =X
g f 120 ((ss 5)) — M20x2.5 Tap (BUR)40 M20x2.5 Tap (BUR)40 é E 257.5(190) — M20x2.5 Tap (BGR)40 M20x2.5 Tap (BGR)40
£ Z : EzZ
2 ;%j 80 (59) T M20x2.5 Tap (BUR)40 @22 Thru (i&@7L) = @ 216.8(160) T M20x2.5 Tap (BUF)40 @22 Thru (i&FL)
28 L (295) . . £ @ 176.1(130) " .~ " o
= I I
= m B | 3/4"-10UNC-2B Tap (BGF)40 | 3/4"-10UNC-2B Tap (BGF)40 cE B | 3/4"-10UNC-2B Tap (BGF)40 | 3/4"-10UNC-2B Tap (BIiR)40
= LS
300 600 900 1200 1500 1800 BT | 3/4" 7 3 500 1000 1500 2000 2500 BT | 3/4"- ! WOR 5
0% 180y a0, 299, 508 18, 3/4"-10UNC-2B Tap (BGR)40 @22Thru (&) (112.4) (224.8) (337.2) (449.6) (562) 3/4"-10UNC-2B Tap (BGX)40 @22 Thru (&%)

Axial Load 3@ 7aTkN (<103 Ibf)

Axial Load 4B 7arkN(x 103 Ibf)

ﬁﬁg%ﬁﬁ Slewing Drive Performance Parameters

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Rating Rating Rating Rating Ratio Precision '/eight Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
etk 1REE RIFHIE MEFEEE | fEBHEE | HMamEE | foaiEE | Rkl | BESR | B8 HILEERE R H%E RIFNE HMEHHE | FABHE | HEsEE | fEmEE | REt | BESR | B8
28.7 kN.m 203 kN.m 105.8 kN.m 1598 kN 640 kN 385 kN 335 kN 34.2 kN.m 310 kN.m 158.3 kN.m 2360 kN 945 kN 590 kN 470 kN
90:1 <0.1° 169kg 104:1 <0.1° 199%g
21180 Ibf.ft 150x10%Ibf.ft | 78.1x10°Ibf.ft| 359x10°Ibf 144%10° Ibf 87x10°Ibf 75%10° Ibf 25240 Ibf.ft | 229%x10°%Ibf.ft 117x10° Ibf.ft 531x10°Ibf 212x10%Ibf 133x10° Ibf 106x10° Ibf

“A” VIEW AS INPUT IS ALLOWED
BNRAFE “A” EE

A * Please be sure to remain under the curve. J&E R EHHRCFREETEMLSTEN
* This drawing is just for your refenece.lA B4R tEES %, :
© This drawing is susbject to change due to new design without prior notice. A A EI{REBHL = RAIALFI
MABSTEN. 3
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR. |

“A” VIEW AS INPUT IS ALLOWED
BNRAYFE A" ERE
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRET

A * Please be sure to remain under the curve. 5B R SRR LR A ELSBEM
* This drawing is just for your refenece. LA B ES %, |
§ * This drawing is susbject to change due to new design without prior notice. A A BIR BT R AILF |
o MABBTEM. !
r; * Please contact the technical department for dimensions and performance parameters of the drives. :
5 MRFBEEBNINERIFIMEES T, BERATIIRKER. :

AIREMENE R TIFRZIT

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT ?ri
g

I SLEWING DRIVE

SLEWING DRIVE



SLEWING DRIVE [EI$530iRESS SLEWING DRIVE [EI$&30imiES

UNITS/& fi:mm
1inch=25.4mm

UNITS/& fizmm
1inch=25.4mm

Weight:403kg Weight:35kg

FRONT VIEW INPUT BN FRONT VIEW INPUTIEDE!
EMRE IEMRE
R467+3 w00 66
Cover . 012 B;‘;;‘; |A 8 +002
BIRE 4R10 142005 2. e R138+2 ons E ,.ié.,/ :
oo 1 @25 0025 f0) 8 == B
gzNoo fgﬁ; o o Grease Nipple Il AESSIN 8
© o K/ <A\ | S e §|= 1281 %0
0 o | ¥ ! N — >
8 +0.065 % oML & < Py \\\I\\»\\,\,\)\\\\ &
o) @50 +0.025 Y y NN Q
@ 4-M16x2Tap( iR )32 [/ = . pi ‘*"“‘& L
/’/ Equall g acI::i 180=180 E o 10-M o i e
r 4 qually Sp Equally Spaced 2-M12x1.75 275
P 39-N 1975 ] 975 1 T
Based On_“40 E%L'Jjally Spaced 11-N
, 562.2 #0337 1‘}22'5 Based On 12 Equally Spaced 025
Input BN 206.5 -1 1271197 ‘ 52
g [Input  EAH 308 & 22
‘? +4 — ! J—
SIDE VIEW @700 ) | — 3 SIDE VIEW @195 -2 ! =T
AR @650l | 39-926 £ R S UARE R100 o135 o
@600 i B 1, 1-014 - [lize o 8
Based On 40 Et%ally Spaced ©w| @105 - jhnal 8 «
o J S 124071197 ~ Based On 12 Equally Spaced 28 I S
18 2 © i oKt 12127197 b - Y Q
- -~ @] o © i ~ i g L
0 ’5 N or %) TN '!‘.8 <'° = _ 2
@730 < ] i « © 2-M12x1.75 275
@760 @50 2175 |
2810 g;g? 6B Splinefeiz
——— &L P FEE MOMENT LOAD CHART————— ——— TEFLIEIR Mounting Holes Option ————— — & IEE] MOMENT LOAD CHART——— — FEEFEIR Mounting Holes Option ——
, & s00wTd) Code M N o 18u0n Code M N
3 & 500(368.95) ] (Outer Ring 4M#)) (Inner Ring AIE]) g § 12.5(9.23) e (Outer Ring 418 (Inner Ring PIE)
© 'S 400 (295.16) - - o 10 (7.38)
E £ 200 . — M24x3 Tap (BGF)36 M24x3 Tap (I#)36 E lé/ 7.5 (5.54) — M12x1.75 Tap (BGR)25 M12x1.75 Tap (#)25
zZ — . [0} - . .
S g 200(147.58) 1| ErSTnEEIE 2 T §Z 5 (69 T | M12x1.75 Tap (BR)25 @14 Thru (#87L)
j=2
— R . " N " N '&
é 5 100 (73.79) B | 7/8"-9UNC-2B Tap (BGiF)36 | 7/8"-9UNC-2B Tap (ITiF)36 g % 2.5 (1.85) B | 1/2"-13UNC-28 Tap (BiR)25 | 1/2"-13UNC-28 Tap (K1i7)25
o 1000 2000 3000 4000 BT | 7/8"-9UNC-2B Tap (BUR)36 @26Thru (&7 TE 4445 8889 113.33 177.78 222.22 ¥ = 5
(224.7) (449.4) (674)  (898.) L) ) 4do 8880 11333 17178 2223 BT | 1/2"-13UNC-2B Tap (5)25 @14 Thru (83L)

Axial Load ¥i[a EfeTkN (%108 Ibf) Axial Load ¥ & 57kN(x103 Ibf)

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

ﬁaﬁ%&ﬁ Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Rating Rating Rating Rating Ratio  Precision Torque Torque Rating Rating Rating Rating Ratio  Precision
HHEE EHE RIFNE IR REERET A Eh & RamEE | REt | BESR | 2= HHERE R H%E REFNE ISR REERETE A EhEAE RFEmHEE | RERL | BESR | F582
40 kN.m 600 kN.m 250 kN.m 3400 kN 1360 kN 850 kN 680 kN 3.5 kN.m 14.2 kN.m 20 kN.m 220 kN 90 kN 63 kN 48 kN
110:1 | <0.15° | 403kg 47 :1 <0.15° 35kg
29516 Ibf.ft 443x10%Ibf.ft | 184x10°Ibf.ft 764x10° Ibf 306x10° Ibf 191x10° Ibf 152.8x10° Ibf 2583 Ibf.ft 10.5x10%Ibf.ft | 14.8x10%Ibf.ft | 49.5x10°Ibf 20.2x10°Ibf | 14.2x10°%Ibf 10.8x10% Ibf

“A” VIEW AS INPUT IS ALLOWED
BNRAFE “A” EE

A * Please be sure to remain under the curve. J&E R EHHRCFREETEMLSTEN
* This drawing is just for your refenece.lA B4R tEES %, :
© This drawing is susbject to change due to new design without prior notice. A A EI{REBHL = RAIALFI
MABSTEN. 3
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR. |

“A” VIEW AS INPUT IS ALLOWED
BNRAYFE A" ERE
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRET

A * Please be sure to remain under the curve. 5B R SRR LR A ELSBEM
* This drawing is just for your refenece. LA B ES %, |
§ * This drawing is susbject to change due to new design without prior notice. A A BIR BT R AILF |
o MABBTEM. !
r; * Please contact the technical department for dimensions and performance parameters of the drives. :
5 MRFBEEBNINERIFIMEES T, BERATIIRKER.

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT ?rR
AIREMENE R TIFRZIT 2

EET) S.c\NG DRIVE SLEWING DRIVE



SLEWING DRIVE [EI§53% %S

UNITS/E2 {izmm
1inch=25.4mm

Weight:53kg

FRONT VIEW INPUT NS
TERE
A +0.08 66
B%;;/er | R180+2 8 +00
F] H
SR Grease Nipple @25 10008 ® f\ /
A A ’ \i\és\!((\'«(‘\ = 1241 go
| | ) &=
@ i VI ol
el - R X% \\\\\}\\\,\))\\\\J ©
™ ‘2"{{%#!‘\* S
g /7 8 L ]
b 2.M12x1.75 275
T T T
Based On 16 Equally Spaced
#%167L19% @25
52
[
Input FINi% +051 22
SIDE VIEW 0220 ‘ f 7 -
e ours. 15018 g,
2145 Based On 16 Equally Spaced ] 1} E 17¢1 & 18
~ 1670197 ] | Qo
& = A : 110 8
® 2 ]
A © 7 z
o 2-M12x1.75 275
6B Splinettiz
—— & EH J35EE] MOMENT LOAD CHART—————— — RZEIF|IBIA Mounting Holes Option ————
= 36(2657) N
O
g2  30(2214) (Inner Ring PIFE])
o O
S 24(17.71) _ _
é i_« 18 (13.28) — M16x2 Tap (BG%)30 M16x2 Tap (IZiF)30
s .
S5 12 (886) T M16x2 Tap (IZiF)30 @18 Thru (iB7FL)
) H
g 6 (4.43) B | 5/8"-11UNC-2B Tap (BGF)30 | 5/8"-11UNC-2B Tap (BGF)30
=
100 200 300 400 500 600 BT | 5/8" ! LR 5
(399, 200 309 400 200, 8% 5/8"-11UNC-2B Tap (B0F)30 @18 Thru (&7L)

Axial Load 3#im kN (=103 Ibf)

ﬁﬁgﬁﬂﬁ Slewing Drive Performance Parameters

SLEWING DRIVE [El§53% %S

UNITS/E2 fii:mm
1inch=25.4mm

Weight:66.8kg

FRONT VIEW INPUT NGNS
ENE
A . 66
Cover | \ R225+2 81002
PRE,\, s
== )
V2N
\\\‘i'(/(\'«;’ii"‘?\‘“ 1241 5°
o I N e
& -\QI = 8
\\\\\\\\\\\\\\}J %
- | NNz
& EquaI1I;/3 S'\gaced \;,_{’\gl\\i .
<. \ i "'///////’\ L
N 19-N 2-M12x1.75 275
2225 Based On 20 E b
> qually Spaced
‘286-5 -1 %2071159% @25
Input IR 52
! 22
SIDE VIEW 2500 st ‘ - N )
e 19- @18 S 8
%H | Based On 20 Equally Spaced — 1741 CC)I)L ?umov
~ T o | 12207197 | o
& = g = ’Iin 8
L oo = L
S © L Z
@310 2-M12x1.75 275
2358
2391 ‘ 6B Splinetei
— FF HIEE] MOMENT LOAD CHART————— = #EREIR Mounting Holes Option ———
W E 60 (44.28)
32 50 (369)
o O
£ T 40(2952) - =
z 5 — M16x2 Tap (BIR)30 M16x2 Tap (BIR)30
2 £ 30(2219)
S Eé 20 (14.76) T M16x2 Tap (BGF)30 @18 Thru (J&7L)
j=2]
£ @ 10 (7.38) B | 5/8"-11UNC-2B Tap (B®)30 | 5/8"-11UNC-2B Tap (iF)30
[l
- 150 300 450 600 750 BT H BOR i
555 &%) 137%s) §%) (18595 5/8"-11UNC-2B Tap (BG%E)30 @18 Thru (i@7L)

Axial Load $fi@#k1aTkN(x 103 Ibf)

ﬁﬁg%ﬁ% Slewing Drive Performance Parameters

Tilting Moment [lellsligfe} Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
e REHE RIFHE I ERETET R WEmEE | ROmEE | R | BESR | =2
8 kN.m 35.6 kN.m 34.5 kN.m 578 kN 215 kN 136 kN 115 kN
62:1 <0.15° 53kg
5904 Ibf.ft 26.3x10°Ibf.ft | 25.5%10°Ibf.ft | 129.9x10°Ibf 48.3x10%Ibf | 30.6%10%Ibf 25.9x10°bf

“A” VIEW AS INPUT IS ALLOWED

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Rating Rating Rating Rating Ratio  Precision Weight
e B DE RIFHE TR E REERETE A EhE T RamEE | Rk | BESR | 2828
9.5 kN.m 57 kN.m 43 kN.m 760 kN 280 kN 190 kN 148 kN
79:1 <0.15° | 66.8kg
7011 Ibf.ft 42.1x10%Ibf.ft | 32x10°Ibfft | 171.1x10°Ibf 62.9x10°Ibf | 42.7x10°Ibf 33.3x10°Ibf

“A” VIEW AS INPUT IS ALLOWED

A * Please be sure to remain under the curve. S8Rt & B {RCRR R E BRI o
* This drawing is just for your refenece.lA B4R tEES %, :
§ © This drawing is susbject to change due to new design without prior notice. A A EI{REBHL = RAIALFI
o MABSTEM. :
r; * Please contact the technical department for dimensions and performance parameters of the drives. !
T NRFERENINERITIMERSEH, BERAMIIKR. |

BNRAFE ‘A" @RE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRZIT

PR SLEWING DRIVE

A * Please be sure to remain under the curve. 5B R SRR LR A ELSBEM
ENEATE ‘A" B0E * This drawing is just for your refenece. LA B ES %, i
* This drawing is susbject to change due to new design without prior notice. A A BIR BT R AILF |

[}
"""""""""""""""""""""""""""""""""""""""""" b=} —
. o MABS{TEA. :
SPECIAL DES%?%;?:;Q%;E@I??;;?_REQU'REMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. |
PR A7k T NRBBEBMSMUR IS EY, BORANIIHER, :

SLEWING DRIVE



SLEWING DRIVE [EI§53%iEE

WEA14-2

SLEWING DRIVE [El5=iEsE

UNITS/E2 fii:mm
1inch=25.4mm

UNITS/E fi:mm
1inch=25.4mm

Weight:75kg

Weight:90kg

FRONT VIEW [INPUT SRS FRONT VIEW [INPUT NS

IERE ERE
Cover A R240+2 +008 66 Cover R240£2, 5 g1o08 66
wirE )\ BirE

-
N
I+
N
+0.08

@82.55 o

Grease Nippl
AW

380
380

‘ 282.55 o
190

NIWZ24[ R

2.

190
w—

9 o b
27.5
Z T T T T
237.5 23-N
" Based On 24 Equally Spaced
301.5F 247197 025 Based On 24 Equally Spaced |  Equally Spaced @25
Inplut N 52 &24%Lig$237 5 237 ?ﬁ l 52
f - y - ' +0. 1!
22 ' 603 ©25.32 505 i —
SIDE VIEW 2340 p— [Input BINEG  Input BN | - —
. { r SIDE VIEW r
. g = @340 ‘ g 2
e gggg | 23-918 8o G 2295| W %o
Based On 24 Equally Spaced — I 171 mL 3 2265 ‘ 23-018 = 4721 8L 8
= 12247197 I N Based On 24 Equally Spaced ~ £8 I 5
© @3 g - |10 Q - #243119% i - |10 Q
L b L
= @;} - g © L =
275 t © 2-M12x1.75 275

6B Splineftiz 6B Splinefriz

—— && %6 E MOMENT LOAD CHART————— T ZFLIEIR Mounting Holes Option ZFRHEF| I Mounting Holes Option

—— &FH D EE MOMENT LOAD CHART—————

— 72(53.14) .
o o = 72(5314) Code M N
g2 60(44.28) ERpS 60 (44.28) K15 (Outer Ring 4M&l) (Inner Ring PI[E])
o O b mo
=X #8(3542) - M16x2 Tap (I%)30 M16x2 Tap (IZi%)30 > T ey — M16x2 Tap (BiF)30 M16x2 Tap (BGF)30
g g 36(26.57) é E 36 (26.57)
% ;é 24(17.71) T M16x2 Tap (BZ%)30 @18 Thru (iB7L) S E 24 (17.71) T M16x2 Tap (BIR)30 @18 Thru (iB7L)
— R . " N " N = B
g 8 12 (8.86) B | 5/8"-11UNC-2B Tap (BIiF)30 | 5/8"-11UNC-2B Tap (KIF)30 £ 12 (8.86) B | 5/8"-11UNC-2B Tap (BIF)30 | 5/8"-11UNC-2B Tap (BiF)30
= ~
200 400 600 800 1000 BT | 5/8"-11UNC-2B Tap (BIF)30 @18 Thru ({@7FL 200 400 600 800 1000 ! o ;
B (101) (159) (202) (253 p (BGR) (&FL) 2 a8 8B 8% % BT | 5/8"-11UNC-2B Tap (B%®)30 @18 Thru (J&7L)

Axial Load i arkN(x 103 Ibf)

Axial Load a1 farkN (x103 Ibf)

ﬂﬁg%&ﬁ Slewing Drive Performance Parameters 'Eﬁg%&% Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking _ Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking ,
Torque Torque Rating Rating Rating Rating Ratio Precision \Veight Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
BEEIE R F%E RIFNEE MOBEE | ROBHEE | HEsEE | fREsEE | Rt | BESR | 8 e 1B %E RIEFNE MOEREE | AOBREET | HEDEHT | fEmEE | OREt | BESR | 8
10.8 kN.m 71.2kN.m 48 kN.m 960 kN 360 kN 230 kN 200 kN 16.2 kN.m 71.2 kN.m 82 kN.m 960 kN 360 kN 230 kN 200 kN
86:1 <0.13° 75kg 86:1 <0.15° 90 kg
7970 Ibf.ft 52.6x10°Ibf.ft | 35x10°Ibf.ft 215.8x10%Ibf | 80.9x10%Ibf | 51.7x10°Ibf 44.9x10°%Ibf 11956 Ibf.ft 52.6x10°Ibf.ft | 60.5x10°Ibf.ft | 215.8x10%Ibf | 80.9%10°Ibf 51.7x10° Ibf 44.9x108 Ibf
""""""" A VIEWAS INPUT ISALLOWED /) ° Please be sure to remain under the curve AN BRSRa ERAEN .,  AVEWASINPUTISALLOWED /) °Please be suretoremain under the curve AR AMESFAHEMESEN.
A gl;\v;lﬁl;;ﬁl;ﬂgl{&lﬁs %I}llj.lWED A * This drawing is just for your refenece.lA B4R tEES %, A Qi%ﬁfgqus Q]I}E%WED A * This drawing is just for your refenece. LA B ES %,

« This drawing is susbject to change due to new design without prior notice. A ATHRBAEGHF=REIRF |
TIRESTEL. 3
* Please contact the technical department for dimensions and performance parameters of the drives. :
MRFELEEMINERI TS EY, BERARIIKR. :

SLEWING DRIVE

7777777777777777777777777777777777777777777777777777777777777777 § * This drawing is susbject to change due to new design without prior notice. AR A IR BB 2 7= FHIALFI S
MABSTIE. | 3
+

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT ?rR
AIREMENE R TIFRZIT 2

* Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES%%“;%%Q%;&@I?@E;?_REQU'REMENT
MRFBLBEIPR IS EY, BERABIIRER. : - Tty

Pl SLEWING DRIVE



SLEWING DRIVE [Ol&= %S

UNITS/E2 {i:zmm
1inch=25.4mm

Weight:66kg

SLEWING DRIVE [El§&3%iEsE

UNITS/# {iZ:mm
1inch=25.4mm

Weight:96kg

FRONT VIEW INPUT N
TEALE
Cover 'T‘ R249 +0.08 70
iRE 8+0.02
& Grease Nipple @25 15052 © E\@
oy SN I \ I
‘ K it < N
~ i ©
g e % =
N So e \
© / 24-M « \O%O \ B
3 Y 4
g 7, Equally Spaced ﬁ 3 2-M12x1.75 /‘:=
: 23N e
255 Based On 24 Equally Spaced 25
319 1247197 52
Input i
22532185 2|
05\(© {SF =L
SIDE VIEW 22159183 © 2
; 330 S -
M| 271 (] co
e 2300 ‘ 23-918 i = D 1701 ST g
On 24 Equally Spaced oo T 1L ¥ = ) ST
- 72471197 ss 10 S
&Y @Z}f 2 © -2 S
@ 12x1.75 .

6B Splinetriz

M16x2 Tap (BGF)28

_— i%ﬂ:iﬁlﬁ Mounting Holes Option — 8 ——

M16x2 Tap (BGF)28

M16x2 Tap (BF)28

@17 Thru (J&7L)

5/8"-11UNC-2B Tap (BGR)28

5/8"-11UNC-2B Tap (BG%)28

— & F IEE] MOMENT LOAD CHART—————

—  112(82.58)
o & \
gs 96 (70.78)
) 80 (58.98)
TE 644719 _
EZ  48(35.39)

o T
zw 32 (23.59)
£ % 16 (11.8) B
o

BT

200 400 600 800 1000
(51) (101) (152) (202) (253)

5/8"-11UNC-2B Tap (B0%)28

@17 Thru (i@7L)

Axial Load 3@ 75 kN (<103 Ibf)

FRONT VIEW INPUT NGNS
EWRE
‘ R285+2
Cover |A ‘ T, +0.08 66
FHIPE N\ e 8 +0.02
. - %\ Grease Nipple @05 19088 .
R FERHE 5OHOG, T SR
' < \ | 1241 %2
o | liEE e Q) e
© i\ ! A | ik 20-M o ® \J(@\ ‘_\?\/\/;\%(\\g g
> L\ & i iy g° z2g ==\
o N ‘ 74/ Equally Spaced ) Q © »
N4 b N~ | 9% & 2-M12%1.75 578
@25
349 ’:12 Equally Spaced
lnput I\ = oz
g
Yol
1Snu|2|VIEW @406 S
S [03651] |  s0.018 <
22159 103"
Yo}
8| {};( 225.32 103
6B Splinettiz
——— & F 73565 E] MOMENT LOAD CHART————— — FTEEFEIR Mounting Holes Option ———
L, & 150(1107) — 7 v
T2  125(92.25) 55 (Outer Ring 4M&)) (Inner Ring IF&)
2 2 100 (73.8) - -
£ £ — M16x2 Tap (BUR)32 M16x2 Tap (BGR)32
g > 75(55.35)
S Eé 50 (36.9) T M16x2 Tap (BUF)32 @18 Thru (J@7L)
ER 2501845 7 R
= (18.45) B | 5/8"-11UNC-2B Tap (KF)32 | 5/8"-11UNC-2B Tap (IZi%)32
- 2267 4535 680.3 907.1 1133.9 BT | 5/8"- M B ;
Bod 1333, 8833, 3050y 588 5/8"-11UNC-2B Tap (BGF)32 @18 Thru (J&7L)

Axial Load 3@ 7 kN (103 Ibf)

ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

ﬂﬁg%&% Slewing Drive Performance Parameters

Tilting Moment

Holding

Static Axial

Static Radial

Dynamic Axial Dynamic Radial Gear  Tracking _ Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
Lotz R F%E RIFNFE HEFHE | FABHET | SasEE | fEsEET | ORE | BESR | B8 BIHEEIE REHE RIFNE HWEEEE | fEBREE | WEmEE | foaHEET | Rkl | BESR | BE
12 kN.m 90 kN.m 50 kN.m 1000 kN 400 kN 240 kN 220 kN 12.96 kN.m 142.4 kN.m 72.3 kKN.m 1166 kN 435 kN 280 kN 231 kN
92:1 <0.1° 66 kg 104:1 <0.1° 96 kg
8856 Ibf.ft 66x10° Ibf.ft 37x10%Ibf.ft | 224.8x10°Ibf | 89.9x10%Ibf | 54.0x10°Ibf 49.5x10°% Ibf 9564 Ibf.ft 105x10°%Ibf.ft | 53.4x10%Ibf.ft| 262x10°Ibf 97.8x10°Ibf | 62.9x10%Ibf 51.9x10° Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRFE “A” ERE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRZIT

A4 SLEWING DRIVE

A * Please be sure to remain under the curve. S8Rt & B {RCRR R E BRI o
* This drawing is just for your refenece.lA B4R tEES %, :
§ © This drawing is susbject to change due to new design without prior notice. A A EI{REBHL = RAIALFI
MABSTEN. :
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR. |

“A” VIEW AS INPUT IS ALLOWED
BNRAYFE A" ERE
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRET

A * Please be sure to remain under the curve. 5B R SRR LR A ELSBEM
* This drawing is just for your refenece. LA B ES %, |
S e This drawing is susbject to change due to new design without prior notice. A2 BIRERBIHF=REILF
o MABBTEM. !
r; * Please contact the technical department for dimensions and performance parameters of the drives. :
5 MRFBEEBNINERIFIMEES T, BERATIIRKER.

SLEWING DRIVE



SLEWING DRIVE [BI4&30imiERS SLEWING DRIVE EI$&30RIESS

WEA19B

UNITS/E fi:mm
1inch=25.4mm

UNITS/# {iZ:mm
1inch=25.4mm

Weight:115kg Weight:118kg

FRONT VIEW INPUT N FRONT VIEW INPUT N ]
ERE IEE
Cover ‘ R285+2 A Cover R312.5

A +0.08
e Grease Nipple 8100 RE ] Grease Nipple 8+002
TGS 40065 N A @25 1005 )
325 +0.025
2 521 % o ZasinG
< < @ [ ©
0 [ © D e e e 0 S
S N = N 32-M S @\ @‘ N
N g’o | a ?°
K ©\©\‘@© o Equally Spaced @ Q\\@
& 2-M12%1.75 9% & 2-M12%1.75
Equally Spaced | Equally Spaced 31-N
dua y pace qua i)ézﬁpace @25 Based On 32Equally Spaced @25
L 285 285 ‘ 5 1%32719%
698 o 52 [ Input BN
| Input A | Input SN g8 8 22 o8
SIDE VIEW i - INZ SIDE VIEW "
e 2406 © o Y g, MR 2490 , P
©| T Fo [@420] | 31-018 &
0365.1 . 701 S Ga20]
| 20-318 = 1 gl 8 2380
2332 4051 N N Based On 32Equally Spaced
Equally Spaced @21.59+03 45 © N\ 110 8 © : 975 22159103
8l & =l 7P wsr X ORE. = 3l de% p—T
©) ©25.32 +03 2-M12x1.75 g K2 225.32 103
] "
6B Splineft# 6B SplinefesE
—— & EE MOMENT LOAD CHART————— —— FEH FI5EE] MOMENT LOAD CHART—————— T IFIEIA Mounting Holes Option ———
—  150(110.7 —~
Y E ( ) W & 200 (147.46) . 7 5
g2 1250225 g5 160(117.97) R (Outer Ring 4M&) (Inner Ring PIEE])
2 2 100 (73.8) g
SE 75 (55.35) - M16x2 Tap (I5%)32 M16x2 Tap (IZiR)32 £ ¥ 120 (8848) - M16x2 Tap (BF)32 M16x2 Tap (BF)32
E 2 : £ 2
S 2 50 (369 T M16x2 Tap (BF)32 @18 Thru (&7L) S £ 80 (58.98) T M16x2 Tap (BF)32 @18 Thru (&7L)
w ( ) = W
[=2) [}
é R 25(1845 -2B Tap (BR)32 | 5/8"-11UNC-2B Tap (IR)32 £R 10 @9 B | 5/8"-11UNC-2B Tap (I3%)32 | 5/8"-11UNC-2B Tap (IZiF)32
5 = 5
2267 4535 680.3 907.1 1133.9 BT | 5/8" ! iR i 400 800 1200 1600 2000 BT | 5/8" ! R i
psg 4335 0803 014 L1383 5/8"-11UNC-2B Tap (BF)32 @18 Thru (i&3L) 69 (199%4y22 %) (5% 2999 5/8"-11UNC-2B Tap ()32 @18 Thru (i@,

Axial Load#iE)#7arkN(x 103 Ibf) Axial Load 3@ 7T kN (<103 Ibf)

'Eﬁ%%ﬂﬁ Slewing Drive Performance Parameters

ﬂﬁg%&% Slewing Drive Performance Parameters

Output Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking Tilting Moment [lellsligfe} Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Torque Rating Rating Rating Rating Ratio  Precision Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
e & HE RIFHE I ERETT BT A ENETT REmEE | R | BEER | 5= e RENE RIFHE IR E REEETE A EhE RomhEE | mEk | BESER | 22
19.44 kN.m 142.4 kN.m 94 kN.m 1166 kN 435 kN 280 kN 231 kN 18.5 kN.m 196 kN.m 80.1 kN.m 1800 kN 675 kN 290 kN 250 kN
104 :1 <0.15° 115 kg 94 :1 <0.1° 118 kg
14347 Ibfft | 105.1x10°Ibf.ft | 53.4x10°Ibf.ft 262x10° Ibf 97.8x10°Ibf | 62.9x10°Ibf 51.9x10° Ibf 13653 Ibf.ft | 144.6x10°Ibf.ft | 59.1x10%Ibf.ft | 404.6x10%Ibf | 151.7x10%Ibf | 65.2x10%Ibf 56.2x10° Ibf

“A” VIEW AS INPUT IS ALLOWED @ : Please be sure to remain under the cu\rve.;ﬂﬂﬁifﬁﬁf%iﬁﬁﬁl{ﬂﬁiﬁlﬁwu | “A" VIEW AS INPUT IS ALLOWED Q : Please be sure to remain under the cuwe.ﬂﬂﬁiﬁgﬁiﬁiﬁﬁﬁﬂﬁ?ﬁﬁﬂ B |

AN i e ! This drawing is Just for your refenece.. 0 J:_EEM,\?%‘,A . . o o 3 BN A" SINE 2 This drawing is just for your refenece.L,U:Z&Mélt.,%o‘ ) ) S N ;
7777777777777777777777777777777777777777777777777777777777777777 G This drawmg;s susbject to change due to new design without prior notice. 5 SHREBHTHF=REMLF | TG eThis dranngﬂ'i susbject to change due to new design without prior notice. ZAEHRE X~ FAEINA |
, o TABBTEH. ! ) o MABEBTEM. !

SPECIAL DE%?;E&%Q%%@I?&E;;_REQU'REMENT I *Please contact the technical department for dimensions and performance parameters of the drives. ' SPECIAL DES%%“;%%Q%%@I?@E;;REQU'REMENT I+ Please contact the technical department for dimensions and performance parameters of the drives. '
HRAH T NRBBEEMNYRIIEES Y, HESRABIBER. | R : |

MRFERBNIIMER IS EY, ESRARIIKER.

pisA SLEWING DRIVE

SLEWING DRIVE



SLEWING DRIVE [BI4&30 R EES SLEWING DRIVE [EI$&30RIESS

UNITS/& {iz:mm ' UNITS/& {iZ:mm

1inch=25.4mm 1inch=25.4mm
|

Weight:172kg Weight:205kg

FRONT VIEW INPUT BN FRONT VIEW INPUT RN
IEMRE 1IEME]
A R346.5+3 Cover R346.5:3
Cover ] ) 4-R10 +0.08 66
s Grease Nipple 66 [Yatiak=s N +0.02
s 7‘ 3 2 7 NAANNN
p AR ‘//’ /N Grease Nipple 2 /] :{/@§\5\§ .
m =< it T : A
o 0 g | w3 g A %//I% 12017
DI 0452 2 ///’4l|= T ¥ ///%/"//////////// S
? 2 0 g dE
© 36-M ",,/7// = R b @25 +0.025 RONES
N Equally Spaced QAN y
1 157 2-M12x1.75 Tap(BUR )21
> Equally Spaced Based On 36 Equally Spaced
e 35-N 5% 1%367L19719Mm
415 2 Based On 36Equally Spaced 350 350 | 325
i . 1%2367L19% 830 - 4-R10
Input %I\l | . 52
| Input SN | Input HNif 281\ ! »
SIDE VIEW 55013 | (6222 Vi ¢ . SIDE VIEW E: =
N = , © 4 007 o N > 7 — - So
MARE oaoe.] | 25.092 i . //////“%/ 224172 I 055013 g /////I'/é/ 22017
L = \ 'm‘ % ) __I T A 4T v IV __l B ‘
@425 Il Based On 36Equally Spaced +051 % ////////////% & 2 657 al 35-022 +051 /////////% &
o[ AT S 1367197197 @21.59 +03 Ny < (S Based On 36Equally Spaced ©@21.59 +03 (7 pe- Q
el N @ ' I (R T T NS O TP N 36719751975 s O
P HE 22532 105 ; © @ 25.32 +03 &35
‘ o0 8 2-M12x1.75 Tap(ZTR )21
3584.2
9629 inett N
‘ 6B Splinefeiz 6B Splinefz#
— &% 1356 E] MOMENT LOAD CHART———— = #ER%IA Mounting Holes Option ——— — &F 5B E] MOMENT LOAD CHART—————— 2 #ERIR Mounting Holes Option
o £ 24007 L, & 240 (177)
T2  200(147.5) 2  200(147.5)
2 S 160 (118) ~ H 2 S 160 (118) - -
§ E 120 (885) — | M20x2.5 Tap (BiR)40 M20x2.5 Tap (BZiR)40 8 E 120 (885) — | M20x2.5 Tap (BF)40 M20x2.5 Tap (B7)40
E Z : E = :
2 w 80 (59 T M20x2.5 Tap (BGF)40 @22 Thru (i@7L) 2 W 8 (59) T M20x2.5 Tap (BGF)40 @22 Thru (3&7L)
R 40 (205) . - . o SR 40 (295) . - . -
2 g B | 3/4"-10UNC-2B Tap (I&Zi#)40 | 3/4"-10UNC-2B Tap (KR )40 Z8 B | 3/4"-10UNC-2B Tap (KIR)40 | 3/4"-10UNC-2B Tap (IR )40
=
300 600 900 1200 1500 1800 BT e = S i 300 600 900 1200 1500 1800 BT - 7 i
(674) (134.8)(202-2)(289.8) (337) (404 ) 3/4"-10UNC-2B Tap (BG#)40 @22 Thru (18BFL) (674) (134.8)202.2)(269 ) (337) (404.4) 3/4"-10UNC-2B Tap (K#)40 @22 Thru (18@7FL)
Axial Load #i[a]#7eTkN (%103 Ibf) Axial Load $i[E) k7 kN(x 103 Ibf)
ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters Hﬁg%&% Slewing Drive Performance Parameters
Output Tilting Moment Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Tilting Moment [glellsligfe} Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Torque Rating Rating Rating Rating Ratio Precision ‘Veight Torque Torque Rating Rating Rating Ratio  Precision
BLEEIE & E RIFHE HEFHE | FABHET | SasEE | fEsEET | ORE | BESR | B8 e REDE RIFHE HMEFBHT | FEBHT | BEmRET | fEmEET | OREt | BESR | 282
28.7 kN.m 203 kN.m 105.8 kN.m 1598 kN 640 kN 385 kN 335 kN 48 kN.m 203 kN.m 179.9 kN.m 1598 kN 640 kN 385 kN 335 kN
90:1 | <0.1° | 172kg 90:1 | <0.13° | 205kg
21180 Ibf.ft 150%10°Ibf.ft | 78.1x10%Ibf.ft | 359x10°Ibf 144x10° Ibf 87x10° Ibf 75%10° Ibf 35400 Ibf.ft 150x10%Ibf.ft | 133x10°Ibf.ft | 359x10°Ibf 144x10° Ibf 87x10° Ibf 75%10° Ibf
""""""" A VIEWAS INPUT ISALLOWED /) °Please be sure to remain under the curve JRES b REIFa T RABEM. N VIEWASINPUTISALLOWED A\ °Pleasebe sure to remain under the curve BRETNIRNFAGEMATEEAS.
. giv;lﬁl;;ﬁl:gl{&lﬁs QJI}IIA:I,WED A * This drawing is just for your refenece.l_EE#R{R S, : . QE\V;I%A;LEZ;U‘TA‘S Q]I}El%WED A * This drawing is just for your refenece. LL LIRS X . |
7777777777777777777777777777777777777777777777777777777777777777 § © This drawing is susbject to change due to new design without prior notice. A A EIfREE = FRAIELF § * This drawing is susbject to change due to new design without prior notice. AR AR BB FAIF
. o TABBTEH. : ) o MABBTEM. :
SPECIAL DESIGN BASE ON CUS,IOM'_ERS REQUIREMENT a * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DESIGN BASE ON CUSIOM_ERS REQUIREMENT i * Please contact the technical department for dimensions and performance parameters of the drives. |
FIREMENR R TIFEI T NRRBEEMNYRTINESEY, BORABIEE, | FRIEMENRRIETIFRL T NRRBEENRIIEESEY, BORASIIR. |

EEET) S.\VNG DRIVE SLEWING DRIVE



SLEWING DRIVE [BI4&30 R EES SLEWING DRIVE [EI$&30RESS

UNITS/& fiz:mm UNITS/E {i:mm
1inch=25.4mm 1inch=25.4mm

Weight:202kg Weight:273kg

FRONT VIEW INPUT RPN FRONT VIEW INPUT Nl
IEE ERE
cover R396.5+3 Cover 4-R10 +008 66
e 4-R10 66 Yatipt m 8 +0.02 —_—
So\ ol 0 G- © //é{/(//
< * 7 7 N © '/.: N “\Ak.i‘“\\ S
7/ 7777 So ~ ARl ® N\ — 0
g =l 3, prppasc oty
VY 7 i i +0. S~ Is =T
“lg +0.065 ///////V///'//'///j 7§ E @) X~ © NN
& J Equally Spaced 925 +0.025 ‘//é 7///\:\\"{\:% 4-M12x1.75 Tap (%) 21
Iy & 140%140 Equally Spaced
B
35-N Equally Spaced Based On 29 Equally Spaced 025
Based On 36Equally Spaced 9% %29F119%
| 12367197 ’ 416 416 | J
Input  HINi 4-R10 486 - 486 | B 0y 4-R10 52
og | Input X | Input ik 2 ///////%
So 7 ° O V2NN
SIDE VIEW 265043 "8 ‘/{/‘/Z/ SIDE VIEW 0628 NI N <SS s
s | [Ba) < P 8 S 5 1 A N Ny ?O
e 2565 | 35-922 © %/////"% 22152 e 30022 [@560 <) Wé\‘@ \\§§§% 122t1 %o
Based On 36Equally Spaced /ﬁ - 0 w0511 | % [ 21064 | NN oi
© oo 12367197197 +051 /////,4////% & B=E| 2512 021.59+03 -l %x‘l&; 8
8lgl] @( @21.59 103 y =N S B | Ao on30 S X © NS
o 0253255 A g 8 S 4-M12x1.75 Tap (B0) 21
% = - 140x140 Equally Spaced
B
Scr:;vrflug @512
! 6B Splinetti = 2630 6B Splinetti
| 675
——— & JI4EE] MOMENT LOAD CHART————— — ZETEIR Mounting Holes Option ———— — & & 7335 E MOMENT LOAD CHART—————— — ZEEF%IR Mounting Holes Option
= 352.3(260) M N 0 B 352.3(260) - N
25 Outer Ring 41& Inner Ring & g2 (Outer Ring 4ME) (Inner Ring PIFE])
g o 298.1(220) (Outer Ring (Inner Ring PIfE) 5 2081 (220)
x = X o= o=
= % 257.5(190) _ M20x2.5 Tap (BF)40 M20x2.5 Tap (BUR)40 é £ 257.5(190) — M20x2.5 Tap (I&%)40 M20x2.5 Tap (I&%)40
£ =z s Z
S E  2168(160) T M20x2.5 Tap (BCR)40 @22 Thru (iB71) = w 2168(160) T M20x2.5 Tap (BF)40 @22 Thru (E7L)
2R 176.1(130) o - £ R 176.1(130) . o . =
= § B | 3/4"-10UNC-2B Tap (BGR)40 | 3/4"-10UNC-2B Tap (iF)40 = B | 3/4"-10UNC-2B Tap (IiF)40 | 3/4"-10UNC-2B Tap (I&iF)40
500 1000 1500 2000 2500 " Y S 3 500 1000 1500 2000 2500 BT - LR 1
(112.4) (224.8) (337.2) (449.6) (562) BT | 3/4"-10UNC-2B Tap (IiR)40 @22 Thru (1BFL) (112.4) (224.8) (337.2) (449.8) (562) 3/4"-10UNC-2B Tap (KG#)40 @22 Thru (&%L)
Axial Load $i[E1#75TkN(x103 Ibf) Axial Load ¥i[a & feTkN (<108 Ibf)
ﬂﬁg%&ﬁ Slewing Drive Performance Parameters Hﬁg%ﬁ% Slewing Drive Performance Parameters
Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking _ Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight Torque Torque Rating Rating Rating Ratio  Precision
Ltz R F%E REFNEE MOBEE | ROBHEE | HEDEE | fREsEE | Rt | BESR | 8 BILEEIE & H%E RIEFNE AT | fEBEE | WEsEE | fOaHEE | ORRl | BESR | BE
34.2 kN.m 310 kN.m 158.3 kN.m 2360 kN 945 kN 590 kN 470 kN 58 kN.m 310 kN.m 247 KN.m 2360 kN 945 kN 590 kN 470 kN
1041 <0.1° 202kg 108:1 | <0.12° | 273kg
25240 Ibf.ft 229x10%Ibf.ft | 117x10°Ibf.ft 531x10°Ibf 212x108Ibf 133%x10° Ibf 106%10° Ibf 42800 Ibf.ft 229x10°Ibf.ft |182.3x10°Ibf.ft| 531x10°Ibf 212x10°%Ibf 133%10° Ibf 106%10° Ibf
””””””” WVEWASNPUTISALOWED ) Pleasebesuetorenal under o oo BEBMBETESCARER. | yewswemsalown  f) Peebesuolornanune tecye BERELERGEESRSS.
ﬁ)\mﬁﬁFEAﬁ]ﬂj‘, ,,,,,,,,,,,,,,,,,,,,, § + This drawing is susbject to change due to new dégign without prior notice. AABHREEBGHF=RHINF | m)\u«—nfﬁﬁEAﬁ%ﬂE ,,,,,,,,,,,,,,,,,,,,, § « This drawing is susbiect to change due o new deI;E]n without prior notice. A /AB}RERBGEF RAOHIAI |
. o MABSTEM. | ) o MABS{TEA. !
SPECIAL DESIGN BASE ON CUS,IOM'_ERS REQUIREMENT a * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DESIGN BASE ON CUSIOM_ERS REQUIREMENT i * Please contact the technical department for dimensions and performance parameters of the drives. |
777777777777777 FRERSOERAGHRSN D neRBERONURIMESEE, BORADIIKER. 3 RIS ESR T RIE T MRBEEEOSRIMESEN, BORADIIHE. ‘

ERA SLEWING DRIVE SLEWING DRIVE



SLEWING DRIVE [El§&=tiESS SLEWING DRIVE Elfs=iRESE

UNITS/E2 {i:zmm
1inch=25.4mm

UNITS/E2 {izmm
1inch=25.4mm

Weight:418kg Weight:37kg

FRONTVIEW INPUT RN FRONTVIEW INPUT RN
= =
1IFLE R4G7+3 EHJ A o6
over +0,
Cover 'T\ . e - . 8+8.gg
iRE 012 l R138+2 H
4R10 H % o Y
4 o . X >
[ Equally Spaced 5200) o7, - < Grease Nipple @ I © =T
% ZONI IR RS 1 Q -
. NN s A%
o |! 3 j [t} y I I )
e o U1 BT | < < S o S Ql\\\\\\)\\\\J S
™ +0.065 O 7 N\ \ +(2 \‘;\:;//aillh\ﬁ Q
2 250 00 __Jy o o 101 3| \Ow® &\ L
1 4-M16x2Tap( BUF )32 |/ =" ¥ o Equally Spaced N € A—1
g Equally Spaced 180x180 A\ 15 2-M12x1.75
39N st ] 1N
2 mmmsE Based On 40 Equally Spaced 46+1 1425 Based On 12 Equally Spaced 25
‘ 1240711975 206.5 1 #1237119% 5
Input  FI N\ +051 | 22
P prie\ Inp‘ut N 225.32 103 i -
gl//’ +051 r =
SIDE VIEW @700 ?II SIDE VIEW 219572 321,59 09 > —
. A . 3
e 2650 ] 39-026 ‘_4///4;///_/;///,/////\5 e oy 2138 1014 [ ol "o
L || _Based On 40 Equally Spaced //////////\;\;\; “| 81051 Based On 12 Equally Spaced 0] — g 172 8l &
i Y 2 5 N\ - =S
8o 3 | H4oFLigd S o N #127119% ¢ : 10 8
e (S g | < — -
@730 © 2-M12x1.75
ggé? @50 6B SplinetzsE

Ry

—— &# IHEE MOMENT LOAD CHART—————

600(442.74)

ﬁ%}lﬁﬁlﬁ Mounting Holes Option

—— FE J35EE] MOMENT LOAD CHART————

ﬁ%;bjﬁlﬁ Mounting Holes Option

= 7 N o 15(11.07) N
g; 500(368.95) (Outer Ring §ME) (Inner Ring PIE) S5 125023 (Inner Ring PIE)
S5 sty M24x3 Tap (ILR)36 M24x3 Tap ()36 SE o M12x1.75 Tap (BUF)25 M12x1.75 Tap (5%)25
3 - oy _ x «
g E 3000221.37) pI=E P (BUA 5E 75659 .75 Tap (BGR), .75 Tap (BGR).
2 i@ 200(147.58) T M24x3 Tap (IZiR)36 ©26 Thru (B7L) S g 5 (3.69) T M12x1.75 Tap (R)25 @14 Thru (1&E4L)
2 jo
é B 100 (73.79) B | 7/8"-9UNC-2B Tap ()36 | 7/8"-9UNC-2B Tap (BF)36 SR 25089 B | 1/2"-13UNC-2B Tap (BZiF)25 | 1/2"-13UNC-2B Tap (BZiF)25
5 = é
1000 2000 3000 4000 BT | 7/8"-9UNC-2B Tap (I0iF)36 @26 Thru (87, 44.45 8889 13333 177.78 222.22 BT | 1/2" g B i
(224.7) (4494) (674)  (896.8) p (BZF) (&) 445 8880 13533 17778 2222 1/2"-13UNC-2B Tap (IF)25 @14 Thru (&)

Axial Loadmﬁ]ﬁﬁkN( %103 Ibf) Axial LoadiﬂirﬁjﬁéﬁkN( %103 |bf)

ﬁﬁg%ﬂﬁ Slewing Drive Performance Parameters

ﬁﬁg%ﬁﬁ Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking Tilting Moment [lellsligfe} Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Rating Rating Rating Rating Ratio  Precision Torque Torque Rating Rating Rating Rating Ratio  Precision
BILEERE R F%E RIFNFE HEFHE | FABHET | SasEE | fEsEET | ORE | BESR | B8 BILHEERE RENE RIFNE HMEHHE | FABHE | HEsEE | fEmEE | REt | BESR | B8
40 kN.m 600 kN.m 250 kN.m 3400 kN 1360 kN 850 kN 680 kN 3.5 kN.m 14.2 kN.m 20 kN.m 220 kN 90 kN 63 kN 48 kN
110:1 | <0.15° | 418kg 47 :1 <0.15° 37kg
29516 Ibf.ft 443x10°Ibf.ft | 184x10°Ibf.ft 764x10°Ibf 306x10°Ibf 191%x10° Ibf 152.8%10° Ibf 2583 Ibf.ft 10.5x10%Ibf.ft | 14.8x10%Ibf.ft | 49.5x10°Ibf 20.2x10°Ibf | 14.2x10°Ibf 10.8x108Ibf
""""""" A VIEWAS INPUT ISALLOWED /) °Please be sure to remain under the curve SRS bREIREA TR AABEM. N VIEWASINPUTISALLOWED A\ °Pleasebe sure to remain under the curve BRETNIRNFAGEMATEEAS.
. giv;lﬁl;;ﬁl:gl{&lﬁs QJI}IIA:I,WED A * This drawing is just for your refenece.l_EE#R{R S, : . QE\V;I%A;LEZ;U‘TA‘S Q]I}El%WED A * This drawing is just for your refenece. LL LIRS X . ‘
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, § ° This drawing is susbject to change due to new design without prior notice. AR\ B R BB = SAMLF | § * This drawing is susbject to change due to new design without prior notice. A EREB 2 RAEIF |
, 5 MABSTEM. : , 5 MABBHEN. 1
SPECIAL DES|G$N’§AS§EE§) N %LQI?QQER iREQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES'%\‘}EBASEEES N %&;Igé"';'? iREQU'REMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. :
IRIERSIE R GAHRTY T NREBEEMNUR TSRS SN, BERABNIIEER, | FIRIBRE SR EH TR S MERBEENNYRTIMESEN, HSRABIIEER.

KA SLEWING DRIVE

SLEWING DRIVE 36



SLEWING DRIVE [El§&s8iRiESS

UNITS/& fi:mm
1inch=25.4mm

Weight:54kg

FRONT VIEW INPUT RN lE
EWRE
0. 66
B%?;% | R180:2 81002
+0.065 E
d @25 +0.025 @ H O ~
) g
— 4 <« Q 1241 %2
5 HHE == 8
2 « o °l \NY J N
> o]
3 AN \‘\:’))2:'\\%\ g
|| &.:',L.\s\\‘ L
@ Equally Spaced Q @ o © '//////4 _
1 1945 2-M12x1.75 B
15-N
Based On 16 Equally Spaced
167197 @25
| 52
Input &I\ ; !
P @25.32 05 A 22|
+0.51 I e
SIDE VIEW @220 22159 10 : o T
e irs] 15-918 T T
Based On 16 Equally Spaced : — »L»17i1 8] 0
N 1671197 eg ! o
~ S g s 0 S
b R B 0 ~ L
. &) 3 (1 E X Z
T ©
2242 275
G301 6B Splinerz
—— &&E 6B MOMENT LOAD CHART———— — ZZEFPEIT Mounting Holes Option ———
, & 36(2657) M N
E ;é 30(22.14) (Outer Ring 41M&) (Inner Ring M)
ee
=X 2arT) — | M16x2 Tap (K3R)30 M16x2 Tap ()30
g & 18(13.28) - :
2 @ 12 (8.86) T M16x2 Tap (I#)30 @18 Thru ((&7L)
[o2]
£ @ 6 (4.43) B | 5/8"-11UNC-2B Tap (BF)30 | 5/8"-11UNC-2B Tap (LIF)30
F =
= 100 200 300 400 500 600 BT | 5/8" y TR ;
299, X8 309, 48 5% 5%, 5/8"-11UNC-2B Tap (BUF)30 @18Thru (&)

Axial Load 3@ TETkN (<103 Ibf)

'[Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

SLEWING DRIVE [El3&=RiES

UNITS/E2 {izmm
1inch=25.4mm

Weight:70kg

FRONT VIEW INPUT NS

ENRE
Cover A R222.5+2 1008 66
Bﬁ?F‘E_} | . — 8 +002

+0.065

\ Grease Nipple
VGG r
o N WA o<\ MDA 8
S| TS T T 18-M o
© Equally Spaced 3
® 9% L
o 19-N
Based On 20 Equally Spaced
#%207L19%
286.5 925
‘ 54 52
Input Ik +0. I
ot 22532 103 i =
+0.51 ) N ——
SIDE VIEW @300 @21.59 +0.3 2 - T
MARE 2259 \ 19-218 L — 3;
‘ %—1 ||, Based On 20 Equally Spaced © 8: A 11741 8l <
~ N #207L19% % 10 8
L@ 3| lem 8 8 “m -
© ’ - g -
% 6
3327 27.5
358 L
@391 6B Splineftig

—  FEHHIEE MOMENT LOAD CHART————

ﬁ%}l,iﬁlﬁ Mounting Holes Option

60 (44.28)

0 & M N
H 5 50 (36.9) (Outer Ring 41MNE]) (Inner Ring &)
5 ©
Ty 402952 — | M16x2Tap (H)30 M16x2 Tap (I0R)30
g ; 30 (22.14)
S Eé 20 (14.76) T M16x2 Tap (KF)30 @18 Thru ({&7L)
j=2]
£ @ 10 (7.38) B | 5/8"-11UNC-2B Tap (BIF)30 | 5/8"-11UNC-2B Tap (BiF)30
[l

- 150 300 450 600 750 BT | 5/8"-11UNC-2B Tap (BIF)30 @18 Thru ({&7L)

(33.75) (67.5) (101.25) (135) (168.75)

Axial Load $fi@#k1aTkN(x 103 Ibf)

ﬁﬁgi}ﬁﬁ Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Rating Rating Rating Rating Ratio  Precision
etk 1REE RIFNE MEEgREE | ARSEET | HEDRET | fEmEET | OREt | BESR | Z28
8 kN.m 35.6 kN.m 34.5 kN.m 578 kN 215 kN 136 kN 115 kN
62:1 <0.15° 54kg
5904 Ibf.ft 26.3x10°Ibf.ft | 25.5x10%Ibf.ft | 129.9x10°Ibf| 48.3x10°Ibf | 30.6x10°Ibf 25.9x10° |bf
""""""" ATVIEWAS INPUT ISALLOWED A © Please be sure to remain under the curve R MRS ABATER.
NIRRT ‘A" [BIE = ° This drawing is just for your refenece.lA E B4R RS %, |
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5 This drawing is susbject to change due to new design without prior notice. AR MU FRAILA |
, o MABSTEM. :
SPECIAL DESIGN BASE ON CUS,IOM'_ERS REQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. !
FIREMENR R TIFEI T NRRBEEMNYRTINESEY, BORABIEE,

KIA SLEWING DRIVE

Tilting Moment [lellsligfe} Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking

Torque Torque Rating Rating Rating Rating Ratio  Precision
BLEEIE RENE RIFNE HMEHHE | FABHE | HEsEE | fEmEE | REt | BESR | B8

9.5 kN.m 57 kN.m 43 kN.m 760 kN 280 kN 190 kN 148 kN
79:1 <0.15° 70kg
7011 Ibf.ft 42.1x10° Ibf.ft 32x10°Ibf.ft 171.1x10°%Ibf |  62.9x10°Ibf 42.7x10% Ibf 33.3x10%Ibf
""""""" A VIEWAS INPUT ISALLOWED A\ °Please be sure to remain under the curve SR REIRES R IATBEN.
A givg%ﬁlrr;q&? Q]I}E%WED A * This drawing is just for your refenece. LA B ES %,

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, g This drawing is susbject to change due to new design without prior notice. 2~AE)R B EUH = RAF
3 MABSTE .
+

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRET

* Please contact the technical department for dimensions and performance parameters of the drives.
MRFELEEMINERI TS EY, BERARIIKR.

SLEWING DRIVE



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

WEB14-2

UNITS/& fi:mm
1inch=25.4mm

UNITS/E2 {izmm
1inch=25.4mm

Weight:76kg Weight:92kg

FRONT VIEW INPUTIEREEE FRONT VIEW TIE2NE!
EE IEALE
Cover ? R240+2 g100 66 Cover |5 R240£2| A 800
PPE,\, H [Yatias
+0.065 T~
@25 +0025 (O A©) a Grease Nipple
] TR
o ] { z 2
3 N S 8
& L Equally Spaced ‘?(: Ny 8
=, L g 0RO ”% - |4
23-N 2-M12x1.75
Based On 24 Equally Spaced 23-N 18-M
2455597 @25 Based On 24 Equally Spaced Equally Spaded
&24¥Lt’>fﬁ‘ﬁ 9
| - 52 2375 237.5 4 52
Input HINIHG | 2 603 +051 22
f X Input N Input N | @25.32 +0.3 a I~
SIDE VIEW @340 , = ~ 22159 103 7 7 r
ARE | 23-918 S g_ SIDE VIEW 3340 .' > g
GZL‘ H‘ Based On 24 Equally Spaced L1741 S ' MRE 23-018 I — »L»17t1 %] ]
ot %2431197% i RPN 9265 ; og ] ST
s — &L © S Based On 24 Equally Spaced pups 10 8
@% : 3 e - 10 S - ~ 12473975 - 5 | 10
A - [to) @ Y I
- P =
2363 7 o © 275
@390
2426 ‘ 6B SplinefesE 6B SplineftsE
—— & & 7155 B MOMENT LOAD CHART————— — FTEEFLIEIR Mounting Holes Option ——— —— && 3% E MOMENT LOAD CHART———— L FLIEIR Mounting Holes Option
- 72(53.14 =
Y E ( ) Code M N 0 & 72(53.14) M N
g 60(44.28) G (Outer Ring 41M&) (Inner Ring M) g2 60(44.28) (Outer Ring 41&l) (Inner Ring F9R&)
o O o O
e S 48(35.42 E Y
% (35.42) — M16x2 Tap (BIF)30 M16x2 Tap (BGR)30 £ 48(35.42) — M16x2 Tap (BGR)30 M16x2 Tap (BGR)30
s E 36(26.57) g5 362657
S = 24(17.71) T M16x2 Tap (BGF)30 @18 Thru (iB7L) 2 Q 24(17.71) T M16x2 Tap (IiR)30 @18 Thru (iB4L)
o 5 o
g B 120886 B | 5/8"-11UNC-2B Tap (§F)30 | 5/8"-11UNC-2B Tap (BF)30 § B 12(889) B | 5/8"-11UNC-2B Tap (BU%)30 | 5/8"-11UNC-2B Tap (BZiF)30
[ &
200 400 600 800 1000 BT n_ » HER 3 200 400 600 800 1000 BT "-11UNC-2B Tap (I 18 Thru (i
200 4% 8 59 W 5/8"-11UNC-2B Tap (BiF)30 @18Thru (&7L) &4 88 8 0% 5/8"-11UNC-2B Tap (%)30 @18 Thru (&7L)

Axial Load 3@ 7ETkN (<103 Ibf)

'[Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Rating Rating Rating Rating Ratio  Precision
HHEE EHE RIFNE IR REERET A Eh & RamHEE | R | BESR | Z8
10.8 kN.m 71.2 kN.m 48 kN.m 960 kN 360 kN 230 kN 200 kN
86:1 <0.13° 76kg
7970 Ibf.ft 52.6x10°Ibf.ft | 35%10°Ibf.ft 215.8x10°% Ibf 80.9x10°Ibf | 51.7x10°Ibf 44.9x108 Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRFE “A” ERE
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AHRIEME R TIFRRIT

KA SLEWING DRIVE

A * Please be sure to remain under the curve. S8Rt & B {RCRR R E BRI o
* This drawing is just for your refenece.lA B4R tEES %,

o MABSTEM. !
[; * Please contact the technical department for dimensions and performance parameters of the drives. !
T NRFERENINERITIMERSEH, BERAMIIKR.

» This drawing is susbject to change due to new design without prior notice. 482X E1{R 88 B 7= G2 FIALF)

Axial Load 3#H@# kN (x103 Ibf)

ﬁﬁgi}ﬁﬁ Slewing Drive Performance Parameters

Tilting Moment [lellsligfe} Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Rating Rating Rating Rating Ratio  Precision
LR RENE RIFHE IR ROEHET | WEmEE | fEmEET | R | BESR | E52
16.2 kN.m 71.2 kN.m 82 kN.m 960 kN 360 kN 230 kN 200 kN
86:1 <0.15° 92kg
11956 Ibf.ft 52.6x10°Ibf.ft | 60.5x10°Ibf.ft | 215.8x10°Ibf 80.9x10° Ibf 51.7x10°Ibf 44.9%x10°bf

“A” VIEW AS INPUT IS ALLOWED
BNRAIFE “A” ERE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRET

* This drawing is just for your refenece. LA B ES %,

MABSTE . |
* Please contact the technical department for dimensions and performance parameters of the drives. :
MRFELEEMINERI TS EY, BERARIIKR.

A * Please be sure to remain under the curve. 5B R SRR LR A ELSBEM
4
E
f
=4

= This drawing is susbject to change due to new design without prior notice. 22X S} 88 B0 R AIIF]

SLEWING DRIVE



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

UNITS/E fi::mm UNITS/EE fi:mm
1inch=25.4mm 1inch=25.4mm

Weight:68kg Weight:101kg

FRONT VIEW INPUTIED ! FRONT VIEW TIE2NE!
ERE IEARE
Cover +0.08 70 A R285+2 +0.08
PEiRE }fl A s R249 8 +0.02 CoverE | 800 66
+0.065 L\ et ak S @05 +0.065 y
- - n / +0.025 / TS
@25 +0025 /O _‘4: © B d /, O@ D - ,\\\//5=‘ | ~
] ¢ 1241 2o (44 =D _
sl RH—= = 8 9 § 5 [ <
5 ] o g o % S
g e T N g = \&“‘)‘,"‘,“ © o i B g - ‘\>>I\I\’\\l\\\
2 AN R o g @ T —
I Equally Spaced 2-M12x1.75 T N 2-M12x1.75 275
! 78 Equall)&/J a?ﬁpaced =3
[ ¢ X
s 23-N ; 20-N
Based On 24 Equally Spaced 025 ™) Equally Spaced @25
: 120471197 52 —J, 3491 5% 5
Input Kﬁi)\ﬁ% PN
P 225.32 103 2. nout BN 25 - =8
2430 = SIDE VIEW o /é o
SIDE VIEW 5930 . — ‘ 2406 ‘ S ©© O
MARE -—ﬁ‘ 23-018 8 e © g
@300 g0 2365.1 \ i S Je
Based On 24 Equally Spaced 1741 &1 8 — 20-018 ﬁ < aT Fio
_ o Ok 17t g8 2332 [ Eaually Spaced J e i 8[ o
~ | TLAA Ecl: (B 10 & T b2 o - @
o PASE)) L3 2 | 1o I gl N X—gi &4 © @21.59 +03 i3 © = 10 S
‘ S &) b/ g| Bvdllo 051 © L -
2305 1ol 22532 w03 2M12x1.75
2364 275 2437 27.5
@395 @479.4 .
2420 6B Splinetti 2509 ‘ 6B Splinet&i
@445
— ®&&F F5EE] MOMENT LOAD CHART—————— — ZEEREIE Mounting Holes Option ——— — &% 155 E] MOMENT LOAD CHART———— — Z#HERLIR Mounting Holes Option
—~ 112(82.58 —
Y E 96( ) ‘ . 7 5 Y E 150(110.7) T N
g2 (70.78) sl (Outer Ring 4M&l) (Inner Ring FIE)) 32 125(9225) (Outer Ring 41E)) (Inner Ring FIE)
S 2 80 (58.98) £ 2 100 (73.8)
£ 64(47.19) — M16x2 Tap (KUF)28 M16x2 Tap (BiF)28 ¥ 75 (55.35) — M16x2 Tap (BF)32 M16x2 Tap (BUF)32
5Z 483539 52 '
e I 223 59; T M16x2 Tap (BF)28 @17 Thru (E7L) Sy 50 (36.9) T M16x2 Tap ()32 @18 Thru (&7L)
jo2} N [
é B 16 (118) B | 5/8"-11UNC-2B Tap (ZiF)28 | 5/8"-11UNC-2B Tap (K7)28 é B 25(1849) B | 5/8"-11UNC-2B Tap (BUF)32 | 5/8"-11UNC-2B Tap (LiF)32
= =
200 400 600 800 1000 BT f T i 226.7 4535 680.3 907.1 1133.9 BT - IR i
B doh) (182) (202) (253) 5/8"-11UNC-2B Tap (KIiR)28 @17Thru (IBFL) {B08) (1019) (1523) (203.9) (254.6) 5/8"-11UNC-2B Tap (K#)32 @18 Thru (1&7FL)
Axial Load #i[E 2k 7aTkN(x103 Ibf) Axial Load #i[a] 7T kN (%103 Ibf)
'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters ﬁﬁgi}ﬁﬂﬁ Slewing Drive Performance Parameters
Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Output Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Rating Rating Rating Rating Ratio Precision '/eight Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
HHEE EHE RIFHIE MEEgREE | ARSEET | HEDRET | fEmEET | OREt | BESR | Z28 BHEEEE R H%E RIFNE HMEHHE | FABHE | HEsEE | fEmEE | REt | BESR | B8
12 kN.m 90 kN.m 50 kN.m 1000 kN 400 kN 240 kN 220 kN 12.96 kN.m 142.4 kN.m 72.3 kN.m 1166 kN 435 kN 280 kN 231 kN
92:1 <0.1° 68kg 104:1 <0.1° 101kg
8856 Ibf.ft 66x10° Ibf.ft 37x10° Ibf.ft 224.8x10° Ibf 89.9x10° Ibf 54x10° Ibf 49.5x10° Ibf 9564 Ibf.ft 105%103 Ibf.ft 53.4x10° Ibf.ft 262x10°Ibf 97.8x10° Ibf 62.9x10°Ibf 51.9x10%Ibf
""""""" A VIEWAS INPUT ISALLOWED /) °Please be sure to remain under the curve JRES b REIFa T RABEM. N VIEWASINPUTISALLOWED A\ °Pleasebe sure to remain under the curve BRETNIRNFAGEMATEEAS.
A \Q;\V;lﬁ/\;#\lgl{&lns %I}llj.lWED A * This drawing is just for your refenece.lA B4R tEES %, i A QE\V;’;.QL?‘Q,;L{‘TA'JS %EE%WED A * This drawing is just for your refenece. LA B ES %, i
7777777777777777777777777777777777777777777777777777777777777777 § © This drawing is susbject to change due to new design without prior notice. A A EIfREE = FRAIELF S This drawing is susbject to change due to new design without prior notice. /A SHRER XA FRIIA |
. o MABSTEM. | ) o MABS{TEA. !
SPECIAL DESIGN BASE ON CUS,IOM'_ERS REQUIREMENT F"; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DESIGN BASE ON CUSIOM_ERS REQUIREMENT g} * Please contact the technical department for dimensions and performance parameters of the drives. |
FIREMENR R TIFEI T NRRBEEMNYRTINESEY, BORABIEE, | FRIEMENRRIETIFRL T NRRBEENRIIEESEY, BORASIIR. |

EET) S.c\NG DRIVE SLEWING DRIVE



SLEWING DRIVE [El§&s8iRiESS

UNITS/& fi:mm
1inch=25.4mm

Weight:121kg

SLEWING DRIVE [El3&=RiES

WEB19B

UNITS/E2 {izmm
1inch=25.4mm

Weight:128kg

FRONT VIEW INPUT NSl
EHE
Cover R285121 A
BIRE 81002
Grease Nipple +0.065
TR @25 +0.025
\@?
<
[ K\ ©
el [\ =)
< z N g
81 » ?cr) %\ O©
Q 2-M12x1.75
20-N 20-M
Equally Spaced Equaltlé Spaced 25
’ i?*ﬁ 285 | 285 *E
698 52
| Input 4N if Input I | 28 o .
SIDE VIEW 2406 e ‘ I
EE] 2365.1 ) 20-318 . = 17+1 @ 2
2332 Equally Spaced @21.59 +03 110 8
o H ] =
8l €A — O © 225.32 105"
& S 275
=
_@a3r &
2479.4 6B Splinettig
2509 plinezeig
—— 7&#E /356 B MOMENT LOAD CHART — LT 1%IA Mounting Holes Option ————
L, g 150107 M A
g2 125(92.25) (Outer Ring 4M&)) (Inner Ring AE))
2 2 100(73.8)
=X — M16x2 Tap (BiF)32 M16x2 Tap (BiF)32
5 E 75(55.39) P (5% P (50%)
S ;_; 50 (36.9) T M16x2 Tap (JiF)32 @18 Thru (&%)
o
£ @ 25 (18.45) B | 5/8"-11UNC-2B Tap (I¥iF)32 | 5/8"-11UNC-2B Tap (BF)32
= = -
2267 4535 680.3 907.1 11339 BT | 5/8"- ! s ;
20 4533 6593 S0%4) Bes 5/8"-11UNC-2B Tap (BU%)32 @18 Thru (i@7L)

Axial Load3#H@# 7 kN(x103 Ibf)

FRONT VIEW
TFRE
| R312.5+2
Cover A
Wi Grease Nipple
1 AP
3 B}
<t
E 32-M
bl Equally Spaced
« 9%
31-N
Based On 32Equally Spaced
%3279
77.5 1
l'input BN
SIDE VIEW
AnE 0490 ‘
(ga20] | 31-918
@380 [|lBased On 32Equally Spaced
Ior) : 7 %327L19%
@)1
— &#H HIEE MOMENT LOAD CHART—————
—~ 200(147.46)
0 &
2 160(117.97)
e
= X 120 (88.48)
& E
§Z 80 (58.98)
W
2R 40 (29.49)
E .
=3

400 800 1200 1600 2000
(89.92) (179.84)(269.76)(359.68) (449.6)
Axial Load 3@, 7aTkN (<103 Ibf)

INPUT NN

81003 66
@25 1005 . B
© © < 8
< 12¢1 %2
; N 0
g ™
= = N o
Yo @ <0 8
7 <IN
- Coxs DN
& 2-M12x1.75 575
==
@25
o
%
[Ye)
N
<
©
221.59103'
225.32 105

6B Splinet&i

_— ﬁ%}l,iﬁlﬁ Mounting Holes Option

— M16x2 Tap (BIR)32

M16x2 Tap (BIR)32

T M16x2 Tap (B0F)32 @18 Thru (J&7L)

B | 5/8"-11UNC-2B Tap (BiF)32 | 5/8"-11UNC-2B Tap (BF)32

BT | 5/8"-11UNC-2B Tap (KiR)32 @18Thru (IBFL)

ﬁﬁgﬁﬂﬁ Slewing Drive Performance Parameters

Eﬁg%&% Slewing Drive Performance Parameters

Output

Tilting Moment [glellsligfe} Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking .
Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
e REHE RIFHE I ERETET R WMEEhEE | RAmEE | REl | BESR | =2
19.44 kN.m 142.4 kN.m 94 kN.m 1166 kN 435 kN 280 kN 231 kN
104 :1 <0.15° 121kg
14347 Ibf.ft 105.1x10%Ibf.ft | 53.4x10° Ibf.ft 262x10° Ibf 97.8x10%Ibf | 62.9x10°Ibf 51.9x10°%Ibf

“A” VIEW AS INPUT IS ALLOWED
BNRAFE “A” EE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRZIT

LX) SLEWING DRIVE

A * Please be sure to remain under the curve. J&E R EHHRCFREETEMLSTEN
* This drawing is just for your refenece.lA B4R tEES %, :
g This drawing is susbject to change due to new design without prior notice. A EHRERSH = FHIRLF
o MABSTEM. :
r; * Please contact the technical department for dimensions and performance parameters of the drives. !
T NRFERENINERITIMERSEH, BERAMIIKR. |

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Torque Rating Rating Rating Rating Ratio Precision ‘/eight
WHEEE RENE RIEFDE ISR REERETE A EhEAE RomhEE | mEL | BESER | B2
18.5 kN.m 196 kN.m 80.1 kN.m 1800 kN 675 kN 290 kN 250 kN
94:1 <0.1° 128kg
13653 Ibf.ft | 144.6x10%Ibf.ft | 59.1x10%Ibf.ft | 404.6x10%Ibf | 151.7x10%Ibf | 65.2x10°Ibf 56.2x10° Ibf

“A” VIEW AS INPUT IS ALLOWED
BNRAYFE A" ERE
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRET

A * Please be sure to remain under the curve. 5B R SRR LR A ELSBEM
* This drawing is just for your refenece. LA B ES %, |
S e This drawing is susbject to change due to new design without prior notice. A2 BIRERBIHF=REILF
o MABBTEM. !
r; * Please contact the technical department for dimensions and performance parameters of the drives. :
5 MRFBEEBNINERIFIMEES T, BERATIIRKER. :

SLEWING DRIVE




SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

WEB21-2

UNITS/& fi:mm
1inch=25.4mm

UNITS/E2 {izmm
1inch=25.4mm

Weight:182kg Weight:213kg

FRONT VIEW INPUT Nzl FRONT VIEW INPUT NG|
EE EAE
R346.5+3 R346.5+3
Cover 4-R10 66 Cover A 4-R10 6
= N\ BirE o\
G i o 7 o Vo
rease Nipple © , N 4 b ® // RS
q Thn 0 © i 1 © 4 v\\\\\ ©
- TR & / 154 e - « / AR
7 71211 9 2 7 71211 s
7 ‘I ] % ‘I )
N _ / /////////% S 1 / ///////// N
N 225 109 ‘v s S L o125 10058 ‘P(» 8
Q2 36-M - 1 r ]
<
N Equally Spaced W\ 2-M12x1.75 Tap(ISZ 12x1.75 Tap(B0F )21
315‘«]’35 120 36-M 35-N
Based On 36 Equally Spaced Equal%%paced Based On 36 Ec;gally Spaced @25
415% 1367197 4-R10 @25 ’ | 350 e 350 | 4-R10
Input BN 52 g preTT R v
Y oz \ | [ Input I N Input NI | p= !
SIDE VIEW $§ !;' ///,::%\é 8 SIDE VIEW 157
255043 © AR ) go o| D
AR E 0466.7 _“ 35.002 o) |18 {/ // 0 221 3 MR E 25503 © : _ 8 _
. oi ’ N 2106.4
0425 {Based On 36 Equally Spaced  gyp1 59 125" // < g 2425 i Based On gg Eg 2uza" Soacey 9215905
Yo} d/‘\b I 8 | &36}'4@*5 —+()51 L o a y space +0.51
8l 8«7\@9 s 3 ©25.32 +03 8 — o o6 _225.32+03
kS 3 @ _X0£9.92 %03 N (o 2-M12x1.75 Tap(BUR )21
@546 w =
2584.2 ) M_
2629 6B Splinetti 6B Splinetti
— & # 75EE] MOMENT LOAD CHART————— — ZEERIEIF Mounting Holes Option — & # 1356 E] MOMENT LOAD CHART———— B FLIFEIR Mounting Holes Option
.2 240 (177) o T N L 240 (177) M N
g2 200(147.5) Vi) (Outer Ring 4M&) (Inner Ring PIF&) g2 200(147.5) (Outer Ring 4MN&]) (Inner Ring PIF&)
53 16019 — M20x2.5 Tap (BUF)40 M20x2.5 Tap (BIF)40 25 ey — M20x2.5 Tap (BGR)40 M20x2.5 Tap (BGR)40
5 E 120 (885) P P o E 120 (885) p =R p (=
S = g (59 T M20x2.5 Tap (BLF)40 @22 Thru (iE7L) 2 ;é 80 (59) T M20x2.5 Tap (BGF)40 @22 Thru (J&7L)
o B o
SR 40 (@5 B | 3/4"-10UNC-2B Tap (BGE)40 | 3/4"-10UNC-2B Tap (BUF)40 S 40 (209 B | 3/4"-10UNC-2B Tap (BIF)40 | 3/4"-10UNC-2B Tap (BUR)40
F i o
- 1200 1500 BT % S ; 1200 1500 BT x 3 3
(67 4) (134 8)(202 2)089.8) (351 (404 4) 3/4"-10UNC-2B Tap (BiR)40 @22 Thru (IBFL) (67 4) (134 8)(202 2)(269.8) (357) (404 4) 3/4"-10UNC-2B Tap (I;%)40 @22 Thru (i@7L)

Axial LoadEH}[ﬁ]iWﬁkN(Mm Ibf) Axial Loadiﬂ]ﬂ%ﬁszN(x103 Ibf)

'[Eﬁ%%ﬂﬁ Slewing Drive Performance Parameters

ﬁﬁgi}ﬁﬁ Slewing Drive Performance Parameters

Output

Tilting Moment Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Rating Rating Rating Rating Ratio Precision '/eight
S & HE RIFHE I ERETT ROfEEsE | WemEE | fEmEE | ORRE | BESR | 52
28.7 kN.m 203 kN.m 105.8 kN.m 1598 kN 640 kN 385 kN 335 kN
90:1 <0.1° 182kg
21180 Ibf.ft 105x10%Ibf.ft | 78.1x10°Ibf.ft 359x10° Ibf 144x103 Ibf 87x10%Ibf 75%10° Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRFE “A” ERE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRZIT

LEA SLEWING DRIVE

A * Please be sure to remain under the curve. S8Rt & B {RCRR R E BRI o
* This drawing is just for your refenece.lA B4R tEES %, :
© This drawing is susbject to change due to new design without prior notice. A A EI{REBHL = RAIALFI
o MABSTEM. :
[; * Please contact the technical department for dimensions and performance parameters of the drives. !
T NRFERENINERITIMERSEH, BERAMIIKR. |

Tilting Moment [lellsligfe} Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Torque Rating Rating Rating Rating Ratio  Precision
Enfstesyicl R H%E RIFNE HMEHHE | FABHE | HEsEE | fEmEE | REt | BESR | B8
48 kN.m 203 kN.m 179.9 kN.m 1598 kN 640 kN 385 kN 335 kN
90:1 <0.13° 213kg
35400 Ibf.ft | 105x10°Ibf.ft 133%x10% Ibf.ft 359x10° Ibf 144x103 Ibf 87x10°Ibf 75%10% Ibf
""""""" A VIEWAS INPUT ISALLOWED /) ° Please be sure to remain under the curve i BbREFeim e M&SE™,
A givg%ﬁlrr;q&? Q]I}E%WED A * This drawing is just for your refenece. LA B ES %, i
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, § * This drawingﬂis susbject to change due to new design without prior notice. A ATIR BB FAIRA
, o MABS{TEA. :
SPECIAL DE%%;%%Q%;@;?@E;;REQU'REMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. :

MRFERBNIIMER IS EY, ESRARIIKER.

SLEWING DRIVE



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

WEB25-2

UNITS/& fi:mm
1inch=25.4mm

UNITS/E2 {izmm
1inch=25.4mm

Weight:212kg Weight:280kg

FRONT VIEW INPUT EERNGZVE] FRONT VIEW TENIE]
ERE IEARE
R396.5+3 Cover
4-R1 X
Cover 0 8 3.82 66 [YaF A= 4-R10
K):'HF'% go +0.08
"o.,_ ““Té R 8 +0.02
q | g ,;///4\\ §° +g © Py
+ 7 T \
. B % 122152 - 8 \,?/f \ y
> ] 2 IS 2.
SN - = s R
+0. \ % - N
2 @25 +0.025 Nl L _D925+0025 © N o }A
N 2-M12x1.75 Tap(IﬂZﬁﬁ )21 - 4-M12 Tap (Iﬁlﬁﬁ )21
~ 140x140 Equally Spaced
; 35-N 0125 36-M 29-N
Based On 36 Equally Spaced Equally Spaced Based 0n_~29 Equally Spaced @25
9 - 2] 29719
164”7 #%367L19% 4.R10 fﬁ 416 416 .
[ - *\ 52 486 486 | og .
Input I\ 28 ! lInput NI Input 5N\ if | S5 4-R10
% P g © e
o g y N @R 8
SIDE VIEW 650 e 22:15° EU'!%WEW . 628 ‘ | | N NIEEES
R o ‘ 35-022 051 B B § e 30-@22(‘7 gg?g +0.51 \ 2& ©106.4 §\ N z
| +0. - , K 0
0525 [Based On 36 Equally Spaced  @21.59 +03 \\\\\\\\ Q Air Vent EQually Spaﬁ__’;g M s ?\;}XR\ Q
8 o[F N 1%367L197% T s ///,::'////\\\\\\ BEE . 051 © 2
<l Qle 225.32 103 ol 5 22532:09 4-M12 Tap (BCR ) 21 |35
il 2-M12x1. 75 Tap(Ii,ﬁ%)21 ) P \ - ap (UR)
— |2l | = ‘ 140x140 _Equally Spaced
Screw Plug 2512 975
L Lo 2642 )
6B SplineftsE [©675] 6B Splineftsz
_— E‘ﬁb*ﬁ MOMENT LOAD CHART—— _ f%ﬂ,iﬁlﬁ Mounting Holes Option —— _— E‘ﬁb*ﬁ MOMENT LOAD CHART—— ﬁ%}l,iﬁlﬁ Mounting Holes Option
= 352.3(260) Code M N o  352.3(260) M N
D w : A = O & 2 = . =
32 298.1(220) vi] (Outer Ring 4ME]) (Inner Ring IE]) g2 298.1 (220) (Outer Ring 4MN&]) (Inner Ring &)
e 3 Q2
£ ¥ 257.5(190) — M20x2.5 Tap (IiF)40 M20x2.5 Tap (IiF)40 £ £ 257.5(190) — M20x2.5 Tap (BF)40 M20x2.5 Tap (BF)40
E = £ =z
s g 216.8(160) T M20x2.5 Tap (BGR)40 @22 Thru (&) g Eé 216.8(160) T M20x2.5 Tap (BGR)40 @22 Thru (i&7L)
[ j=2
£ @ 176.1(130) B | 3/4"-10UNC-2B Tap (BUR)40 | 3/4"-10UNC-2B Tap (BIF)40 s @ 176.1(130) B | 3/4"-10UNC-2B Tap (K540 | 3/4"-10UNC-2B Tap (BLR)40
L= R
(1 1 2 4) (22 4 8) (3537 ) (Egg%) (5562) BT | 3/4"-10UNC-2B Tap (%)40 @22Thru (iBFL) (1 1 2 4) (22 4 8) (3§>7 % (ﬂJg%) (5562) BT | 3/4"-10UNC-2B Tap (Bi#40 @22 Thru (&%)

Axial Load i@ & faTkN(x 103 Ibf)

Tilting Moment

Holding

Static Axial

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

Static Radial

Gear

Axial Load3#H@# 7 kN(x103 Ibf)

Output

ﬁﬁgi}ﬁﬂﬁ Slewing Drive Performance Parameters

Dynamic Axial Dynamic Radial Tracking : Tilting Moment [lellsligfe} Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Rating Rating Rating Rating Ratio Precision '/eight Torque Torque Torque Rating Rating Rating Rating Ratio  Precision
etk 1REE RIFHIE MEFEEE | fEBHEE | HMamEE | foaiEE | Rkl | BESR | B8 Enfstesyicl R H%E RIFNE HMEHHE | FABHE | HEsEE | fEmEE | REt | BESR | B8
34.2 kN.m 310 kN.m 158.3 kN.m 2360 kN 945 kN 590 kN 470 kN 58 kN.m 310 kN.m 247 kN.m 2360 kN 945 kN 590 kN 470 kN
104 :1 <0.1° 212kg 108:1 | =0.12° 280kg
25240 Ibf.ft 229x10%Ibf.ft | 117x10°Ibf.ft 531x10° Ibf 212x10° Ibf 133x10° Ibf 106x10° Ibf 42800 Ibf.ft | 229x10%Ibf.ft |182.3x10%Ibf.ft| 531x10%Ibf 212x10%Ibf 133%10° Ibf 106%10° Ibf
""""""" A VIEWAS INPUT ISALLOWED /) ° Please be sure to remain under the curve AN BRSRa ERAEN .,  AVEWASINPUTISALLOWED /) °Please be suretoremain under the curve AR AMESFAHEMESEN.
. \éivgﬁ)ﬁlrftqa"s QJI}I;I,WED A * This drawing is just for your refenece.l_EE#R{R S, : . QE\V;I%A;LET;UK‘S Q]I}E.EWED A * This drawing is just for your refenece. LL LIRS X . |
7777777777777777777777777777777777777777777777777777777777777777 § © This drawing is susbject to change due to new design without prior notice. A A EIfREE = FRAIELF § » This drawing is susbject to change due to new design without prior notice. 2~A E/R BB~ RANF]
\ 5 MAESTEN, : , 5 MAESTEN. 3
SPECIAL DESIG){N};AS@EE(; N %LQI?QQER iREQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES'%\‘}EBASEEES N %&;{gggR iREQU'REMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. :
TR REt AR T NREBEEMNUR TSRS SN, BERABNIIEER, | FIRIBRE SR EH TR S MERBEENNYRTIMESEN, HSRABIIEER. |

LA SLEWING DRIVE

SLEWING DRIVE



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

UNITS/E2 fii:mm UNITS/EE fi:mm
1inch=25.4mm 1inch=25.4mm
| |
1 Weight:12kg Weight:16kg

FRONT VIEW INPUTIERGZE] FRONT VIEW INPUTIERNGE
TFRE TERE
A
+0.08 2 I i R46 3
| R76 LR 3185, el ‘ 485 . 3, 8
o +N 6-M R7 o <
" N
2 i €8 ) hid ©
¥ S - Equally Spaced N . @) © Q
o 6-M (LI 19.8 \ ki) Q rem
" wooss | | 2\ Re9s i
Equally Spaced 2123385 N = ) .
975 4-@6Thrul_I@10 § S BN - 2121583 | <& % 4-B6Thru L1 @10 &
68x68 Equall)é Spaced 3.5 ??3 .}? T T Equally Spaced At
o = 11.8 ~ 7 75x75 ki ] 45
o)
had 12
b — A2 |
@12 & @12
= — 7&& JI5EE MOMENT LOAD CHART—————— @l 2 —— &R JI5EE MOMENT LOAD CHART
1100
e (811) 1315 ":é & 3250(2405)
g3 880 " S 5 2750(2035
T Input I e 2 (649) Input %I\l £ (2035)
= E 660 S E  2250(1665)
3 Z (487) £ Z
5= 440 28 1750(1295)
= % (ggg) 25 1250 (925)
SIDE VIEW £ 3B SIDE VIEW o126 F S 750 (555)
MIARE = MARE
@126 6 12 18 24 30 @100 15 25 35 45 55
(1349) (2698) (4047) (5396) (6745) 6-011.5 (34) (56) (7.9) (10.1) (1233)
6-211.5 Axial Load S#iEJZ 7 kN ( Ibf) Equally Spaced 6N Axial Load % 7TkN (x10° Ibf)
Equally Spaced 6-N 9% Equally Spaced
[ 9% Equally Spaced > . . 19 4 >
kd . ___Fa t)éﬁp L% FL IR Mounting Holes Option [ — ‘; o — FREEZIE Mounting Holes Option
T = ;
0 8 © ©
g @ © 0 N - S I\ N .
S (Inner Ring PIEE]) | S . B B - (Outer Ring 4/ (Inner Ring P3F&])
! s . e |_¢o - . .
© © — M10x1.5 Tap (BUF)22 M10x1.5 Tap (BUF)17 * — M10x1.5 Tap (BGF)20 M10x1.5 Tap (BGF)18
@40
@100
@115 B | 3/8"-16UNC-2B Tap (BiF)22 | 3/8"-16UNC-2B Tap (BGR)17 2128 B | 3/8"-16UNC-2B Tap (BIF)20 | 3/8"-16UNC-2B Tap (BUR)18
@145
T BEZSEI3R Slewing Drive Performance Parameters 14 BEZ24FE Slewing Drive Performance Parameters
Output Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Output Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Model Weight Model Weiaht
Torque Torque Torque REN] Rating Rating Rating Ratio Precision ''¢'9 Torque Torque Torque REN] REN] Rating Rating Ratio Precision ''¢'9
RE | B RELE RIENE MEEERT | RRHET | HEmsRET | fRmHET | REt | BESR | 5= KA | @ RENE RIFNE MOEERT | FRHET | pamsERE | fEmEET | REt | BESR | 5=
400N.m 1100N.m 2000 N.m 30 kN 16.6 kN 9.6 kN 8.4 kN 600 N.m 2800N.m 5000 N.m 45 kN 22 kN 14.4 kN 11.1kN
SE3C 62:1 | <0.2° | 12kg SESC 62:1 | <02° | 16kg
295 Ibf.ft 811 Ibf.ft 1475Ibf ft 6744 Ibf 3732Ibf 2158 Ibf 1888 Ibf 4225 1bfft | 2066.4Ibfft | 3690 Ibf.ft 10116 Ibf 4945 6 Ibf 3237.1 Ibf 2495 3 Ibf
400N.m 1100Nm 2000 N.m 30 kN 16.6 kN 9.6 kN 8.4 kN 600 N.m 2800N.m 5000 N.m 45 kN 22 kN 14.4 kN 11.1kN
PE3C 62:1 | <0.15° | 12kg PESC 62:1 | <0.12° | 16kg
295 Ibf.ft 811 Ibf.ft 1475Ibf ft 6744 Ibf 3732Ibf 2158 Ibf 1888 Ibf 4225 1bfft | 2066.4Ibfft | 3690 Ibf.ft 10116 Ibf 4945 6 Ibf 3237.1Ibf 2495 3 Ibf

“A" VIEW AS INPUT IS ALLOWED A ° Please be sure to remain under the cu\rve.;i”ﬂ?ﬁfﬁﬁf%iﬁﬁﬁ&ﬂﬁiﬁlﬁwu “A" VIEW AS INPUT IS ALLOWED A * Please be sure to remain under the cuwe.ﬂﬂﬁ%ﬁ%ﬁ;@ﬁiﬁﬁ&ﬂﬁ?ﬁ@ﬂ . |
B “A” BUE D . This drawing s just for your refenece.l J:_ng,\lg%e‘ . . _ o ; BN A" SINE © This drawing is just for your refenece.L,U:Z&Mélté%o‘ ) ) - N ;
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5 This drawmg;s susbject to change due to new design without prior notice. A A BIREA B = FRHILF | S * This drawing 95, susbject to change due to new design without prior notice. A BIREABIHF=REILF
. o MABSTEM. ! o MABS{TEA. !

SPECIAL DESﬂﬁgé%%ﬁg%;{?gf;iREcu'REMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. ! r; * Please contact the technical department for dimensions and performance parameters of the drives. :
D ikt T T NRBEEBMNIRIMESEY, BORAMIIHER. ‘ S NRRBEEMMNYRIMIEESEY, BSRARMIER. ‘

A SLEWING DRIVE SLEWING DRIVE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRET



SLEWING DRIVE [El§&s8iRiESS

SE7A-PEY

UNITS/& fi:mm
1inch=25.4mm

Weight:25kg

SLEWING DRIVE [El3&=RiES

SE9A-PE9A

UNITS/E2 {izmm
1inch=25.4mm

Weight:49kg

RonTviEw INPUTIEREE
WE
R133£2
|A 4R7T 4388
e D~
~ \@ 3-1/8"-27NPT ]
%
4+ f( R N SR oossTH
7 & ‘ N @12 50015 | 5K >0
F/Pg /o ™ T (o R 4-96Thiu_1@10 \BEs
~ 1/~ ° T Enallv Crorad
b — e Equally Spaced
S| T ! _/_:—_—,i%;%} ) / . 75%75 QUat)éﬁpace
‘8 K — Equally Spaced
- ' :
S——] o //'9 10-N @12
132.7 Eq“a'%gﬁpaced —— 7R JI%EE MOMENT LOAD CHART
1702 % o 13558
| Input B\ E ¢ 12202
T Z 10847
ER
o
SIDE VIEW =y 2?22
MAE -
[= 6779
@150
2120.6 4536  68.04 90.71 113.39 136.07
—o% | 10-014 Axial Load $HIEEA kN
o Equally Spaced

40
©

L ©
22

10

2163
@170

@203.2
@221

- i%;l,iﬁlﬁ Mounting Holes Option —————

FRONT VIEW
IEMRE

BNEIE

14 EEZ243E Slewing Drive Performance Parameters

M
(Outer Ring 4

— M12x1.75 Tap (BUF)25

N
(Inner Ring &)

M12x1.75 Tap (BUF)25

T | M12x1.75 Tap (B0%)25

@14 Thru (G&FL)

B | 1/2"-13UNC-2B Tap (IiR)25

1/2"-13UNC-2B Tap (BUF)25

BT | 1/2"-13UNC-2B Tap (IZiR)25

@14Thru (1EFL)

1(40.8) (51.0) (612) (71.4)

Axial Load a1 farkN (x103 Ibf)

Output

81.44 226.79 272.15 317.51 362.87

(81.6)

14§82 243E Slewing Drive Performance Parameters

+0.08

o e el HEEOMV R = S
) SR S
.\7/ﬁﬁ Ry Q
T 15N S8
Based On 16 Equally Spaced
16-M 1671597
Equally Spaced @25
97 52
|
@25.32 05 2
SIDE VIEW 2204 +051 r -
‘ @21.59 +03 P
AR 2175 16-018 > $o
| Equally Spaced 1 — 14744 (cy)] 0
- 2 B © gl i ST
BlfLe | © 8 $% : 10 8
0 © il ~ g |
- ‘ R g -
@222.5 16-G17.5 © 2-M12x1.75 27.5
-9270
-_J Equally Spaced R
@316 ‘ 5% 6B Splinefesz
—— FEH JI4EE MOMENT LOAD CHART————— —— FTEFLEIR Mounting Holes Option —————
339
0 E (25) Mo N -
35 305 (Outer Ring 4hE&]) (Inner Ring )
5% (2%
z ¥ (2177-152; — M16x2 Tap (Ii%)30 M16x2 Tap (BiF)30
g E
$ Eé o T M16x2 Tap (B0R)30 @18 Thru (&3L)
= 16.95
ER (25 B | 5/8"11UNC-2B Tap (BG)30 | 5/8"-11UNC-2B Tap (BR)30
F

BT | 5/8"-11UNC-2B Tap (I%Zi%)30

@18Thru (IE7FL)

Model Output Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight

ESIC IR REE RIFHE MO | FRHET | HOERET | fEmET | REt | BESR 5=
1500 N.m 13500 N.m 10400 N.m 133 kN 53 kN 32 kN 28 kN

SE7A 73:1 | <02° | 25kg
1107 Ibf.ft 9957 Ibf.ft 7671 Ibf.ft 29900 Ibf 11915 Ibf 7194 Ibf 6295 Ibf
1500 N.m 13500 N.m 10400 N.m 133 kN 53 kN 32 kN 28 kN

PETA 73:1 | <0.11° | 25kg
1107 Ibf.ft 9957 Ibf.ft 7671 Ibf.ft 29900 Ibf 11915 Ibf 7194 Ibf 6295 Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRFE “A” ERE
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AHRIEME R TIFRRIT

EET) S.c\NG DRIVE

A * Please be sure to remain under the curve. S8Rt & B {RCRR R E BRI o
* This drawing is just for your refenece.lA B4R tEES %, :
& e This drawing is susbject to change due to new design without prior notice. v SHR BB H# 7= G HRF :
o MABSTEM. :
[; * Please contact the technical department for dimensions and performance parameters of the drives. !
T NRFERENINERITIMERSEH, BERAMIIKR. |

Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight
ESIC Ik REDE RIFHE MEBHEE | ARHEE | HoEE | fomEE | REl | BESR | B8
6.5 kN.m 33.9 kN.m 34.5 kN.m 338 kN 135 kN 81 kN 71 kN
SE9A 61:1 | <017° | 49kg
4794 1bf.ft 25%10° Ibf.ft | 25.5x10° Ibf.ft| 76x10° Ibf 30x10° Ibf 18x10° Ibf 16x%10° Ibf
6.5 kN.m 33.9 kN.m 34.5 kN.m 338 kN 135 kN 81 kN 71 kN
PE9A 61:1 <0.09° | 49kg
4794 Ibf.ft 25x10° Ibf.ft | 25.5%x10° Ibf.ft| 76x10° Ibf 30x%10° Ibf 18%10° Ibf 16%10° Ibf
""""""" A VIEWAS INPUT ISALLOWED A\ °Please be sure to remain under the curve SR REIRES R IATBEN.
A givg%ﬁlrr;q&? Q]I}E%WED A * This drawing is just for your refenece. LA B ES %, i
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, § » This drawing is susbject to change due to new design without prior notice. 2~A E/R BB~ RANF]
, o MABS{TEA. 3
SPECIAL DE%%;%%Q%;@;?@E;;REQU'REMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. :

MRFERBNIIMER IS EY, ESRARIIKER.

SLEWING DRIVE



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

UNITS/8 {iZ:mm
1inch=25.4mm
|
Weight:61kg

SE14A-PE14A @ .

FRONT VIEW INPUT RPN FRONT VIEW INPUT RN
ENRE IERE R230 23-N
66 A Based On 24 Equally Spaced y 66
I 124311975
Iy Grease P
7 o rease Plug
;al%% i} . it )
% SN\ P ' . s
%\\‘i’(’&'{(&&“ So Plug o Wi NG | 1o4q 50
5 =i | L o) ) s 7%
N =N © 2 4 el ®
8 SN - 8 \ / NS -
- Equally Spaced Ky 4 =
- e 18-M
220 19-N 4 Equally Spaced
Based On 20 Equally Spaced @25 237.6 v
285 __ 12031157 o 303 .
linput SRS +051 It 22 linput - NG +051 ! 22
©25.32 +03 G ~ @25.32 +0.3 ~
SIDE VIEW 2289 o5 - = SIDE VIEW 325 o - 8
e @259 @21.59 +03 4 r e 321.59 +03 2 .
MR 20018 5 M e o 5
. ‘ < Equal%%paced ] i [ 14741 § 8 H Equally Spaced = L 4721 gl 8
3 ‘ g 2 eg x o o j 3 157 eg x o
0 2 1 ° =l ?? S 0 Q mL ue o F? > 0 Q
SEa 8 — L F S - L
2308.5 ik 18-018 < A > 25425 Me175 g -
Equally Spaced - x1. 27 : - : 27.5
0358 ‘ 9% ) @390 Equally Spaced )
2402 6B Splinettig 2435.5 I T 6B Splineti
—— 7R 6B MOMENT LOAD CHART—————— —— FEEFIEIR Mounting Holes Opton —————— —— 7R 6B MOMENT LOAD CHART—————— —— &R Mounting Holes Option ————
o & 5424(40) M N . = 678 (50) ‘ M N
z ;é 47.46 (35) (Outer Ring 4M&) (Inner Ring PIE) z ;é 61.02 (45) (Outer Ring 4M&) (Inner Ring FIEE)
e 2 22 4
z 3y 4068 (30) — M16x2 Tap ()30 M16x2 Tap (IF)30 3 54.24 (40) — M16x2 Tap ()30 M16x2 Tap ()30
£ Z 33.9 (25) £ 2 47.46 (35)
i ;é 27.12(20) T M16x2 Tap (B#)30 @18 Thru (1E#L) i ;é 40.68 (30) T M16x2 Tap (KIR)30 @18 Thru (1E#L)
% @ 20.34 (15) B | 5/8"-11UNC-2B Tap (KIR)30 | 5/8"-11UNC-2B Tap (I&Zi%)30 % @ 33.9 (25) B | 5/8"-11UNC-2B Tap (I&ZiR)30 | 5/8"-11UNC-2B Tap (BLR)30
[ =
113.39 226.78 340.17 453.56 566.95 BT | 5/8"-11UNC-2B Tap (KIF)30 @18Thru (IBFL) 113.39 226.79 340.17 453.56 566.95 BT | 5/8"-11UNC-2B Tap (KL#)30 @18Thru (1BFL)
(25.5) (51.0) (76.5) (102.0) (127.5) (25.5) (51.0) (76.5) (102.0) (127.5)
Axial Load ¥fiE#75TkN (%103 Ibf) Axial Load ¥fiE#7ErkN(x 103 Ibf)
'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters 'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters
Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Model  Output Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear Tracking :
Torque Torque Rating Rating Rating Rating Ratio Precision Weight Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight
RE | S R F%E RIFNIE HEFHEE | FRHEE | MO8 | fomEE | RElk | BESR | B8 KA | MHE R F%E RIFHIE HEHEE | FRHEE | BoEE | fomEE | REl | BESR | B8
7.5kN.m 54.3 kN.m 43 kN.m 475 kN 190 kN 114 kN 100 kN 8 kN.m 67.8 kN.m 48 kN.m 555 kN 222 kN 133 kN 117 kN
SE12A 78:1 | <017° | 61kg SE14A 85:1 | <017° | 64kg
5532 Ibf.ft 40x103Ibf.ft | 32x10° Ibf.ft | 107x10°Ibf 43x10°Ibf 26x10°Ibf 23x10° Ibf 5900 Ibf.ft 50x10° Ibf.ft | 35x10° Ibf.ft | 125x10° Ibf 50%x10° Ibf 30x10° Ibf 26x10° Ibf
7.5kN.m 54.3 kN.m 43 kN.m 475 kN 190 kN 114 kN 100 kN 8 kN.m 67.8 kN.m 48 kN.m 555 kN 222 kN 133 kN 117 kN
PE12A 78:1 | <0.07° | 61kg PE14A 85:1 | <0.09° | 64kg
5532 Ibf.ft 40x103Ibf.ft | 32x10° Ibf.ft | 107x10°Ibf 43x10%Ibf 26x10°Ibf 23x10° Ibf 5900 Ibf.ft 50x10° Ibf.ft | 35x10° Ibf.ft | 125x10° Ibf 50%x10° Ibf 30%10° Ibf 26x10° Ibf
""""""" A VIEWAS INPUT ISALLOWED /) ° Please be sure toremain under the curve M EHZSREEIATSER .,  AVEWASINPUTISALLOWED /) °Please be suretoremain under the curve AR AMESFAHEMESEN.
. \éivgﬁ)ﬁlrftqa"s QJI}I;I,WED A * This drawing is just for your refenece.l_EE#R{R S, : . QE\V;I%A;LET;UK‘S Q]I}E.EWED A * This drawing is just for your refenece. LL LIRS X . |
7777777777777777777777777777777777777777777777777777777777777777 § © This drawing is susbject to change due to new design without prior notice. A A EIfREE = FRAIELF § * This drawing is susbject to change due to new design without prior notice. AR AR BB FAIF
) o MABSTEA. ! , 5 MABSBTE. '
SPECIAL DESIGN BASE ON CUS,IOM'_ERS REQUIREMENT F"; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DESIGN BASE ON CUSIOM_ERS REQUIREMENT g} * Please contact the technical department for dimensions and performance parameters of the drives. |
FIREMENR R TIFEI T NRRBEEMNYRTINESEY, BORABIEE, | FRIEMENRRIETIFRL T NRRBEENRIIEESEY, BORASIIR. |

FRA SLEWING DRIVE SLEWING DRIVE



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

UNITS/& fi:mm UNITS/E fi:mm

1inch=25.4mm 1inch=25.4mm
| |

Weight:105kg Weight:149kg

FRONT VIEW INPUT RPN FRONT VIEW INPUT RN
EMRE R276.3 IEMRE R334
A . +0.08 66 Grease Plug ‘ 66
] 8 +0.02 /[\ e
4 Grease Plug +0.065 36-M
S @25 +0.025
THEE © - { Equally Spaced r
' N 9% it 8
T - Plug ® FEHS RS | 126192
[t} A 3
X I om0 HEEGVE N—— 8 o Em | 0P NH—— 2
Lo \\\% R go g < Grease Plug - %\»\I}\\ %
N \ 20-M © © i S FERIN |
()} — ! N
A Equally Spaced & N - 7
= ]
20-N 35-N
282.55 Equally Spaced 2 3391 Based On 36 Equally Spaced @25
348 9% @25 203 12367197
[ 52 T 52
Input  HINi% | Input N
225.32 105 0 2 22532105 2
SIDE VIEW 2406 w051 ‘ SN[\ =g SIDE VIEW 25334 ] w051 r =
kAl +0. r N +0. I
MR o366.11 | o8 92159403 : . M 466.7 .02 0215903 - g
m ‘ ‘ EquaI%?Sﬁpaced . . L9749 g:;l ¥ 9 Equally Spaced = — »L»17i1 ?‘)] 8
© * S0 28 | St oo o 9% 28 | S o
©lp | ¢ & g% S 0 8 © g% s 110 S
- © = I ~ 0 I
& A é B N -
§ © X = - ; s
@425 20-917.5 @ 9-M12x1.75 7 o o7 o
2479.4 J Equally Spaced : -
3522 . - . e
, 5t 6B Splinetsse 6B Splinetsse
75k 7I%EE MOMENT LOAD CHART————— — ZEEFIEIR Mounting Holes Option —————— —— 7R 6B MOMENT LOAD CHART—————— —— &P IR Mounting Holes Option
o B 1356 (100) ‘ o 216.96(160)
g2 122.04(90) S B 189.84(140)
o O = O
SR S o
-1 108.48(80) — M16x2 Tap (BUF)32 M16x2 Tap (KUF)32 E X 162.72(120) — M20x2.5 Tap (BiF)40 M20x2.5 Tap (BiF)40
g > 94.92 (70) 2 § 135.6 (100)
‘E; Eé 81.36 (60) T M16x2 Tap (JF)32 @18 Thru ({@7L) S Eé 108.48 (80) T M20x2.5 Tap (BF)40 @22 Thru ({@7L)
[
g @ 67.8 (50) B | 5/8"-11UNC-2B Tap (IZiF)32 | 5/8™-11UNC-2B Tap (IXiF)32 £ @ 81.36 (60) B | 3/4"-10UNC-2B Tap (BIR)40 | 3/4"-10UNC-2B Tap (IZiF)40
= Fo
226.7 4535 680.3 907.1 1133.9 BT | 5/8"-11UNC-2B Tap (KIR)32 @18Thru (IBFL) 907.1 11339 1360.7 1587.5 1814.3 BT | 3/4"-10UNC-2B Tap (KR )40 @22 Thru (1B7L)
(50.9) (101.9) (152.9) (203.9) (254.9) (203.9) (254.9) (305.9) (356.9) (407.9)
Axial Load ¥ 7arkN(x 103 Ibf) Axial Load i arkN(x103 Ibf)
'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters 'Eag%ﬂﬁ Slewing Drive Performance Parameters
Output Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Output Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight
SISk R F%E RIFNIE MEHEE | FRHEE | MoEE | RomEE | REl | BESR | B8 ESIC I R R F%E RIFHIE MEHEE | ARHEE | HoEE | foEE | REl | BESR | B8
10 kN.m 135.6 kN.m 58 kN.m 970 kN 390 kN 235 kN 205 kN 15 kN.m 203 kN.m 70.5 kN.m 1598 kN 640 kN 385 kN 335 kN
SE17A 102:1| <0.15° | 105kg SE21 125:1| <0.15° | 149kg
7400 Ibf.ft 100%10°Ibf.ft | 42.8x10° Ibf.ft | 218x10°Ibf 88x10°Ibf 53x10%Ibf 46x10°Ibf 11000 Ibf.ft | 150x10°% Ibf.ft | 52x10% Ibf.ft | 359%10° Ibf 144x10° Ibf 87x10° Ibf 75%10° Ibf
10 kN.m 135.6 kN.m 58 kN.m 970 kN 390 kN 235 kN 205 kN 15kN.m 203 kN.m 105.8 kN.m 1598 kN 640 kN 385 kN 335 kN
PE17A 102:1| <0.09° | 105kg PE21 125:1| <0.09° | 149kg
7400 Ibf.ft | 100x10°Ibf.ft | 42.8x10° Ibf.ft | 218x10°Ibf 88x10° Ibf 53%x10° Ibf 46x10° Ibf 11000 Ibf.ft | 150x10° Ibf.ft | 78x10° Ibf.ft | 359x10° Ibf | 144x10° Ibf 87x10° Ibf 75x10° Ibf
""""""" A VIEWAS INPUT ISALLOWED /) ° Please be sure toremain under the curve M EHZSREEIATSER .,  AVEWASINPUTISALLOWED /) °Please be suretoremain under the curve AR AMESFAHEMESEN.
. \s%ivﬁvﬁ/;;rz;ﬂ'? QJI}IIA:I,WED A * This drawing is just for your refenece.l_EE#R{R S, : . inzr—nﬁgrzuw Q]I}E.EWED A * This drawing is just for your refenece. LL LIRS X . |
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, S« This drawing is susbject to change due to new design without prior notice. AR EH#F=RAULF | 5 e This drawing is susbject to change due to new design without prior notice. AvA EHRER B~ REMLF]
) 5 WABSTEM. | , 5 WABSmEA. |
SPECIAL DESIGN BASE ON CE’S,IOMEB§ REQUIREMENT F"; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DESIGN BASE ON CUSIOM_ERS REQUIREMENT E * Please contact the technical department for dimensions and performance parameters of the drives. |
FIREMENR R TIFEI T NRRBEEMNYRTINESEY, BORABIEE, | FRIEMENRRIETIFRL T NRRBEENRIIEESEY, BORASIIR. |

B SLEWING DRIVE SLEWING DRIVE



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

UNITS/E fi::mm UNITS/EE fi:mm
5 P 5 1inch=25.4mm A9 P A9 1inch=25.4mm
(]
S E 2 E 2 Weight:204kg S E E Weight:48kg

FRONT VIEW INPUTIERGZE] FRONT VIEW INPUTIERNGE
IEARE R396 IEARE R171
A Grease Plug 66 ]A 66
N +0.08
1 Tt 8 +002
G Plug i 8 I~
rease +0.065 gy W
% Plg | o SHHIE 225 0025 /3) N~ i .
o = | O ] 0 o
© | 4 5 o 7]
Yo i 0 <« —4—goHEE s e OO e NN 0
3 oM o R el N s o & 2
e} -| o~ N ] B}
N4 Equally Spaced % 8 © / Equali{]?ﬁpaced > %, ‘ &7
9% e} - A = S /f -
N L
35-N 15-N
2-M12x1.75 -
401.8 Based Onﬁ3366 Eﬂgjally Spaced — x Based On 16 Equally Spaced
467 136701975 174.15 1671975
o @25 238
Input SN 52 | input A 52
22 +051 I\ 22
SIDE VIEW @204 225.32 +03 & =
iR 0628 . 2© r NG SIDE VIEW Tomsl | s : _ A
565 g I MRE 15-918 @21.59 03 > r
L 36-322 S g_ ‘ Based On 16 Equally Spaced é °
Equally Spaced H4 171 ?‘ol 8 8 e 3 1670197 : _ »L»17i1 g] 8
=~ 9% : o —— Ng £8 ‘ 2
K| © é :} > 10 S . NS = : i g
~ I ‘ 0 L
- - ‘\!
L : 2145 g . z
2-M12x1.75 275 22225 2-M12x1.75 275
) @270 [
6B Splinetti 2296 ‘ 6B Splineft$
—— & I E] MOMENT LOAD CHART————— ——— FTEEFLIEIR Mounting Holes Option —————— —— &EH EE MOMENT LOAD CHART————— ———— & IE Mounting Holes Option
o £ 29828(220) ‘ g & 339 (25 ‘ N
o Eel f =
g5 271.16(200) §% 3051(225) (Inner Ring FIEE)
S o =
Ex . = = e X 2712 (20 = -
€ f 244.04(180) — M20x2.5 Tap (BUR)40 M20x2.5 Tap (BGR)40 T E (20) — M16x2 Tap (BF)30 M16x2 Tap (BF)30
£ 2 216.93(160) 5 2 23.73(17.5)
o N » o ¥
i é 189.81(140) T M20x2.5 Tap (BG#R)40 @22 Thru (1B7L) é % 20.34 (15) T M16x2 Tap (BIR)30 @18 Thru ((&7FL)
é @ 162.70(120) B | 3/4"-10UNC-2B Tap (KiR)40 | 3/4"-10UNC-2B Tap (IiF)40 = i 16.95(12.5) B | 5/8"-11UNC-2B Tap (BF)30 | 5/8"-11UNC-2B Tap (LF)30
= =
800 1200 1600 2000 2400 BT | 3/4"-10UNC-2B Tap (KR )40 @22 Thru (1BFL) 181.44 226.79 272.15 317.51 362.87 BT | 5/8"-11UNC-2B Tap (BU#)30 @18 Thru (1E7L)
(179.9) (269.8) (359.7) (449.6) (539.5) (40.8) (51) (61.2) (71.4) (81.6)
Axial Load ¥ 7arkN(x 103 Ibf) Axial Load i arkN(x 103 Ibf)
'Iﬂgﬁ‘ééﬁﬂﬁ Slewing Drive Performance Parameters 'Eag%ﬂﬁ Slewing Drive Performance Parameters
Output Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Output Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
SISk R F%E fRISI5E HEEEE | ROHEE | BOaHET | FamET | REL | BESR | 2B ESIC Ik R F%E RIFHIE MEBHEE | ARHEE | MoEE | fomEE | REl | BESR | B2
18 kN.m 271 kN.m 84.5 kN.m 2360 kN 945 kN 590 kN 470 kN 6.5 kN.m 33.9kN.m 34.5 kN.m 338 kN 135 kN 81 kN 71 kN
SE25 150:1| <0.15° | 204 kg SEA9 61:1 | <017° | 48kg
13300 Ibf.ft | 200x10%Ibf.ft | 62.4x10°% Ibf.ft | 531x10°Ibf 212x10° Ibf 133x10° Ibf 106%10° Ibf 4794 Ibf.ft 25x10° Ibf.ft | 25.5x10° Ibf.ft| 76x10° Ibf 30x10° Ibf 18%10° Ibf 16%10° Ibf
18kN.m 271 kN.m 84.5 kN.m 2360 kN 945 kN 590 kN 470 kN 6.5 kN.m 33.9 kN.m 34.5 kN.m 338 kN 135 kN 81 kN 71 kN
PE25 150:1 | <0.09° | 204 kg PEA9 61:1 | <0.09° | 48kg
13300 Ibf.ft | 200x10°Ibf.ft | 62.4x10° Ibf.ft | 531x10%Ibf | 212x10°Ibf | 133x10%Ibf | 106x10°Ibf 4794 Ibf.ft | 25%x10° Ibf.ft | 25.5x10° Ibf.ft| 76x10° Ibf 30x10° Ibf 18x10° Ibf 16x10° Ibf
""""""" A VIEWAS INPUT ISALLOWED /) ° Please be sure toremain under the curve M EHZSREEIATSER .,  AVEWASINPUTISALLOWED /) °Please be suretoremain under the curve AR AMESFAHEMESEN.
. \s%ivﬁvﬁ/;;rz;ﬂ'? QJI}IIA:I,WED A * This drawing is just for your refenece.l_EE#R{R S, : . inzr—nﬁgrzuw Q]I}E.EWED A * This drawing is just for your refenece. LL LIRS X . ‘
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, S« This drawing is susbject to change due to new design without prior notice. AR EH#F=RAULF | 5 e This drawing is susbject to change due to new design without prior notice. AvA EHRER B~ REMLF]
. o TRBBTEN. | , o MREBTEN. 1
SPECIAL DESIG){N};ASEEE(; N %@I?Q:ER iREQUIREMENT F"; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES'%\‘}EBASEEES N %&;{g@gR iREQU'REMENT E * Please contact the technical department for dimensions and performance parameters of the drives. :
IRIERSIE R GAHRTY T NREBEEMNUR TSRS SN, BERABNIIEER, | FIRIBRE SR EH TR S MERBEENNYRTIMESEN, HSRABIIEER. |

FTA SLEWING DRIVE SLEWING DRIVE



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

‘ \  UNITS/Z fizmm UNITS/E fi:mm
‘! I ’ ‘! _ /| tinch=25.4mm 4 I ’ 1inch=25.4mm
SE 1 2/ E 1 2 ' Weight:63kg SEA1 / EA Weight:64kg

;ERr?T VIEW TN II:ERF?T VIEW INPUT BN
N EMES
0 R218.5 A R240£2  4g.
P 18-M 8 +0.08 66
I Equally Spaced 00 J:
s Greate Plug 025 32 6 V7~ —7
. : = e\ o T
N BE N ] & & o d
3 g | N — 5
Lf,: 3o z/// I| 8 a
| o ¢ +m_ J'?““\\\Q - "
I o 19-N & =
Based On 20 Equally Spaced - Based On 24 Equally Spaced
220 qually Sp
284 9 1%24319%
Y @25 ‘
Input AL 52 Input  HALE
+051 ) 22| 25,3258 L 22 -
. +0.3 t
SIDE VIEW @300 ‘ _ gy SIDE VIEW o5 ) _ : g
mineE (@259 | W : s T 2340 @21.59 403 r
[259 | | 20-918 R ;uo) AR E 0295 23-18 é o
EquaIIY Spaced . — L4741 8] 0 %1 ‘J Based On 24 Equally Spaced e 14741 ?‘)] 8
8 >C : 1 g = —g 24T £s ! St
oigd ¥ > | 10 Q wl P | Q T > 0 Q
E 2 g I — < -~ g - I
< * . = b * -
© 2-M12x1.75 275 @355 © 2-M12x1.75 275
_ @390 _
| 6B Splineftig @415 | 6B Splineftig
— & & HIEE MOMENT LOAD CHART—————— ———— TR Mounting Holes Option —————— ——— & 7465 E] MOMENT LOAD CHART————— ———— IR Mounting Holes Option ——————
o 54.24(40) | M N . 67.8(50) | N
%:_ :é 47.46(35) (Outer Ring 41M& (Inner Ring AIB)) o g 61.02(45) (Inner Ring &)
S 2 T
T x 4068030 — M16x2 Tap (BUF)30 M16x2 Tap (B0F)30 23 54.24(40) — M16x2 Tap (BGR)30 M16x2 Tap (B0F)30
g § 33.9 (25) §E  47.46(35)
s = 2200 T M16x2 Tap (BIF)30 @18 Thru (L) é 2 4068(30) T M16x2 Tap (BOF)30 @18 Thru (&7L)
g W
£ ,ﬁ@ 20.34(15) B | 5/8"-11UNC-2B Tap (BiF)30 | 5/8"-11UNC-2B Tap (BIF)30 2 @ 33.9 (25) B | 5/8"-11UNC-2B Tap (BiF)30 | 5/8"-11UNC-2B Tap (BIF)30
F s R
113.39 226.78 340.17 453.56 566.95 BT | 5/8"-11UNC-2B Tap (KIF)30 @18 Thru (&%) & 113.39 226.79 340.17 453.56 566.95 BT | 5/8"-11UNC-2B Tap (KIF)30 @18 Thru (G&¥L)
(2555) (51.0) (76.5) (102.0) (127.5) (2555) (51.0) (76.5) (102.0) (127.5)
Axial Load 31 EkN(x 103 Ibf) Axial Load #fiE#7EkN(x 103 Ibf)
'Iiﬁg?}ﬂﬁ Slewing Drive Performance Parameters 'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters
Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Output Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Rating Rating Rating Rating Ratio Precision grelght Torque Torque Torque Rating Rating Rating Rating Ratio  Precision Weight
ESIC It REDE RIFHE MEEES | fRHEET | HEsEE | fEshEE | REtE | BESR | B2 SISt EDE RIFNE MEEES | FRRHEET | BemEE | fEshEE | RE | BESR | B2
7.5 kN.m 54.3 kN.m 43 kN.m 475 kN 190 kN 114 kN 100 kN 8 kKN.m 67.8 kN.m 48 kN.m 555 kN 222 kN 133 kN 117 kN
SEA12 78:1 | <0.17° | 63kg SEA14 85:1 | <0.17° | 64kg
5532 Ibf.ft 40x10%Ibf.ft | 32x10° Ibf.ft 107x10° Ibf 43x10° Ibf 26x10° Ibf 23x10° Ibf 5900 Ibf.ft 50x10° Ibf.ft | 35x10° Ibf.ft | 125x10° Ibf 50%10° Ibf 30x10° Ibf 26x10° Ibf
7.5 kN.m 54.3 kN.m 43 KN.m 475 kN 190 kN 114 kN 100 kN 8 kN.m 67.8 kN.m 48 kN.m 555 kN 222 kN 133 kN 117 kN
PEA12 78:1 <0.07° | 63kg PEA14 85:1 <0.09° | 64kg
5532 Ibf.ft 40x10%Ibf.ft | 32x10° Ibf.ft 107x10° Ibf 43x10° Ibf 26x10° Ibf 23x10°Ibf 5900 Ibf.ft 50x10° Ibf.ft | 35x10° Ibf.ft | 125x10° Ibf 50x10° Ibf 30x10° Ibf 26%10° Ibf
""""""" A VIEWAS INPUT ISALLOWED /) °Please be sure to remain under the curve JRES b REIFa T RABEM. N VIEWASINPUTISALLOWED A\ °Pleasebe sure to remain under the curve BRETNIRNFAGEMATEEAS.
. \s%ivﬁvﬁ/;;rz;ﬂ'? QJI}IIA:I,WED A * This drawing is just for your refenece.l_EE#R{R S, ‘ . inzr—nﬁgrzuw Q]I}E.EWED A * This drawing is just for your refenece. LL LIRS X .

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, §  This drawing is susbject to change due to new design without prior notice. 282 E{REB BUH 7= R RIALF) = This drawing is susbject to change due to new design without prior notice. 22X S} 88 B0 R AIIF]

7777777777777777777777777777777777777777777777777777777777777777 [}

, 5 WABSTEM. | , 5 WABSmEA. |

SPECIAL DE%?%;%S@EQ%%L\@I?QE;?}_REQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES%?%;?:;Q%;E@I??;;?_REQU'REMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. :
Pt Akt T NRBEEBOSMER IS EY, BERADIRER. 3 PRI Tty 8

MRFERBNIIMER IS EY, ESRARIIKER.

EEA SLEWING DRIVE sLewin DRIVE ARG



SLEWING DRIVE [El§&s8iRiESS

SEA17C/PEA17C @

SLEWING DRIVE [El3&=RiES

SEA21/PEAZ

UNITS/& fi:mm
1inch=25.4mm

UNITS/E2 {izmm
1inch=25.4mm

Weight:88kg Weight:140kg

FRONT VIEW
ERE
= Grease Plug
SHE
©
~ _
(o]
@ ln
5 20-M
T Equally Spaced
20N 9%
Equally Spaced
282.55 1575
347
Input  Hi i
SIDE VIEW 0430 '
N gggg 20-918
H Equally Spaced
8 o ey o 7
@355 N
@435
4794
@505
— &E JI5EE] MOMENT LOAD CHART—————
. & 1356(100) |
T2 122.04(90)
o O
£ X 108.48(80)
g5 g402 (70
O X
= % 81.36 (60)
S 67.8 (50)
F

6.7 4535 11
(50 9) (101.9) (152 9) (203.9) (254 9)

907.1

Axial Load 45275 kN (x103 Ibf)

TN

@25

+0.2

28.3 0

@21.59

+0.15

6-6.25 +0.08 | |

- i%;l,iﬁlﬁ Mounting Holes Option —————

+0.51
@25.32

+0.08
8 +0.02

+0.065

+0.025 @

|
+03 £

+03

2-M12x1.75

6B Splinetti

M
(Outer Ring 4

M16x2 Tap (B0F)32

M16x2 Tap (BR)32

5/8"-11UNC-2B Tap (IZi%)32

BT

5/8"-11UNC-2B Tap (IZiR)32

FRONT VIEW INPUT NS
ERE R344
Cover +0.08
66 66
BE}F'E l 8 +0.02 10
@25 1003 ! '
1241 92 gl by e Ll M \y [RERT
’’’’’ I © g
© < o
7// Z] = o
'ilil?\\s\\\Q &7 ch’) E ™ — 1
D & 2-M12x1.75 275
339.1 Based On 36 Equally Spaced
404 13671197 325
! 52
52 Input  #INE oz
22 3 22
TN SIDE VIEW 2534 , e @&@ 7
2 " MR E [@466.7] W & (@/\@% g8_
So @425 ‘ 35022 & < 1701 1 8
— 44171 ?‘ol 8 Based On 16 Equally Spaced % s th 81 @
T ST @ 1#%367.19% +051 - &
: 10 8 o T o 215903 1@ © < S
i L = +051 © - -
“ 25.32 +03 2-M12x1.75 110
27.5 . 275
2615 6B Splinefti#
—— ®&E /I 4EE MOMENT LOAD CHART————— — IR Mounting Holes Option ——————
. o & 216.96(160) .
(Inner Ring PIEE) &2 18084(140) (Inner Ring FIE)
=<
M16x2 Tap (BZiF)32 é £ 11632&_;762822; — | M20x2.5 Tap (iR)40 M20x2.5 Tap (BR)40
= .
@18 Thru (&7L) % & 10848 (80) T M20x2.5 Tap (BGR)40 @22 Thru (&7L)
=
5/8"-11UNC-2B Tap (BR)32 = Tm@ 81.36 (60) B | 3/4"-10UNC-2B Tap (BZiF)40 | 3/4"-10UNC-2B Tap (BGR)40
=
@18 Thru (B 907.1 1133.9 1360.7 1587.5 1814.3 BT | 3/4"-10UNC-2B Tap (BGF)40 @22 Thru (&L
i (203.9) (254.9) (305.9) (356.9) (407.9) P i

'Iiﬁg?}ﬂﬁ Slewing Drive Performance Parameters

Axial Load 48 7a kN (<103 Ibf)

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

Model  Output Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Output Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
eSS ] & H%E REFNIE HEFEE | FRFHEE | WBosEE | fomiiEiE | REl | BESH | BEE ESS ] & H%E REFNIE HEFEE | FRREE | BosiEE | RO | REl | BESH | BEE
SEA 10 kN.m 135.6 kN.m 58 kN.m 970 kN 390 kN 235 kN 205 kN 15 kN.m 203 kN.m 70.5 kN.m 1598 kN 640 kN 385 kN 335 kN
102:1| <0.15° | 88kg SEA21 125:1| <0.15° | 140kg
e 7400 Ibf.ft | 100x10°Ibf.ft | 42.8x10° Ibf.ft | 218x10°Ibf 88x10° Ibf 53x10° Ibf 46x10° Ibf 11000 Ibf.ft | 150x10° Ibf.ft | 52x10° Ibf.ft | 359x10° Ibf | 144x10° Ibf 87x10° Ibf 75%10° Ibf
10 kN.m 135.6 kN.m 58 kN.m 970 kN 390 kN 235 kN 205 kN 15 kN.m 203 N.m 70.5 kN.m 1598 kN 640 kN 385 kN 335 kN
PEA 102:1| <0.09° | 88kg PEA21 125:1 <0.09° | 140kg
17C 7400 Ibf.ft 100%10°Ibf.ft | 42.8x10° Ibf.ft | 218x10°Ibf 88x10° Ibf 53x10° Ibf 46x10° Ibf 11000 Ibf.ft | 150x10°% Ibf.ft | 52x10° Ibf.ft | 359x10° Ibf | 144x10° Ibf 87x10° Ibf 75%10° Ibf

“A” VIEW AS INPUT IS ALLOWED

BNRAFE ‘A" @RE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRZIT

EET) S.c\NG DRIVE

* Please be sure to remain under the curve. B R iEHHREFRE T EZSEEIA o
* This drawing is just for your refenece.lA B4R tEES %, :
& e This drawing is susbject to change due to new design without prior notice. v SHR BB H# 7= G HRF :
o MABSTEM. :
[; * Please contact the technical department for dimensions and performance parameters of the drives. !
B

MRFBEBENIMERIMMEESE L, BEERATIIKER.

“A” VIEW AS INPUT IS ALLOWED
BNRAYFE A" ERE
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRET

* Please be sure to remain under the curve BB R LIRE T E LS TER o

* This drawing is just for your refenece. LA B ES %, |
S e This drawing is susbject to change due to new design without prior notice. A2 BIRERBIHF=REILF
o MABBTEM. !
r; * Please contact the technical department for dimensions and performance parameters of the drives. :
5 MRFBEEBNINERIFIMEES T, BERATIIRKER. :

SLEWING DRIVE



SLEWING DRIVE [El§&s8iRiESS

UNITS/& fi:mm
1inch=25.4mm

Weight:165kg

SLEWING DRIVE [El3&=RiES

UNITS/E2 {izmm
1inch=25.4mm

Weight:26kg

FRONT VIEW

FE

| (456) 390
386.8

Grease Plug

237
[——a
>
| O
b S

242.5

NE=

o

@25

I

Input HINIK

SIDE VIEW
FRE ]

Based On 36 Equally Spaced
123671197 52

+0.15

6-6.25 +0.08
©

o

A i Ty B
<37 8
7 ?

@G\\@ . %//I /;/i

A -
21

"

32-@22 E:

106.4

(130)
53

q

3 ‘ q
Moo
y

—— iR E HIEE] MOMENT LOAD CHART——————

ased On 36 Equally Spaced
12367197

L

722

¢ —
+0.51 ////////}I/vl//z/j

@21.59 +03 5 E;IIIM;/;///,,,

L ””III% g
212532 105 P 2-M12x1.75 «

6B Splinetssz

- i%;l,iﬁlﬁ Mounting Holes Option —————

o 298.28(220) T T
g_;é' 271.16(200}‘ (Outer Ring 4 (Inner Ring )
ge
Ly 244.04180) — | M20x2.5 Tap (BGR)40 M20x2.5 Tap (BUR)40
g £ 216.93(160)
2= 15081(140) T | M20x2.5 Tap (BGR)0 @22 Thru (B7L)
o H
S5 16270(120) B | 3/4™10UNC-2B Tap (WF)40 | 3/4"-10UNC-2B Tap (BUR)40
F &
800 1200 1600 2000 2400 BT | 3/4"-10UNC-2B Tap ()40 @22 Thru (&3,
(179.9) (269.8) (359.7) (449.6) (539.5) ey 0EY

Axial Load 45275 kN (103 Ibf)

FRONT VIEW INPUT NS
TFRE
R133:2 4R7 4308 35
|A Gh— —
) N
SN 3
o Grease Plug ™ /7 SR 041 ch
i 21231888 | Sl y o
T o N 4-@6Thru L1210 8
e Equally Spaced
_ 75975 qua)ﬁ pace:
N
8-M
g Equally Spaced @12
9%
@F,
— & #; 7I5EE] MOMENT LOAD CHART——————
137.2 1975 13558(10000)
1702 % S & 12202 (9000)
5 5
1 Input BN £ 2 10847 (8000)
€ Z 9491 (7000)
oW
= [ 8135 (6000)
c
£ & 6779 (5000
SIDE VIEW EE (5000)
MFRE 4536 68.04 90.71 113.39 136.07
@150 B (10.2) (156.3) (20.4) (255) (30.6)
2120.6 ‘ 10-014 Axial Load $[E# KN (x103 Ibf)
298 T\ T Equally Spaced
Yoo qual pace! s
o i{J?ﬁ _— i%}LﬁIﬁ Mounting Holes Option ———
ol @ © | N N
g (Inner Ring )
) il B
© © — M12x1.75 Tap (BUF)25 M12x1.75 Tap (BUF)25
2182 T M12x1.75 Tap (BGR)25 @14 Thru ({B7L)
2203.2 B | 1/2"-13UNC-2B Tap (BIiF)25 | 1/2"-13UNC-2B Tap (BUF)25
@221 BT | 1/2"-13UNC-2B Tap (F)25 @14 Thru (&B7)

'Iiﬁg?}ﬂﬁ Slewing Drive Performance Parameters

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

Model  Output Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Model  Output Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
eSS ] & H%E REFNIE HEFEE | FRHEE | WBosdE | fomiEiE | REl | BESH | BEE ESCR i) & H%E RIEFNIE AR | REHEE | WOMHE | FREmEE | REL | BESR | BB
18 kN.m 270 kN.m 84.5 kN.m 2360 kN 945 kN 590 kN 470 kN 1500 N.m 13500 N.m 10400 N.m 133 kN 53 kN 32 kN 28 kN
SEA25 150:1| <0.15° | 165kg SEB7 73:1 | <02° | 26kg
13300 Ibf.ft | 200x10%Ibf.ft | 62.4x10° Ibf.ft | 531x10°Ibf 212x10° Ibf 133x10% Ibf 106x10° Ibf 1107 Ibf.ft 9957 Ibf.ft 7671 Ibf.ft 29900 Ibf 11915 Ibf 7194 Ibf 6295 Ibf
18 kN.m 270 kN.m 84.5 kN.m 2360 kN 945 kN 590 kN 470 kN 1500 N.m 13500 N.m 10400 N.m 133 kN 53 kN 32 kN 28 kN
PEA25 150:1 | <0.09° | 165kg PEB7 73:1 | <0.11° | 26kg
13300 Ibf.ft | 200x10°%Ibf.ft | 62.4x10°% Ibf.ft | 531x10°Ibf 212x10°% Ibf 133x10°Ibf 106x10°Ibf 1107 Ibf.ft 9957 Ibf.ft 7671 Ibf.ft 29900 Ibf 11915 Ibf 7194 Ibf 6295 Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRFE “A” ERE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRZIT

¥ SLEWING DRIVE

A * Please be sure to remain under the curve. S8Rt & B {RCRR R E BRI o

* This drawing is just for your refenece.lA B4R tEES %, :
& e This drawing is susbject to change due to new design without prior notice. v SHR B HGH = REF |
4 = !
o MABSTEM. :
r; * Please contact the technical department for dimensions and performance parameters of the drives. !
T NRFERENINERITIMERSEH, BERAMIIKR. |

“A” VIEW AS INPUT IS ALLOWED
BNRAYFE A" ERE
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRET

A * Please be sure to remain under the curve. 5B R SRR LR A ELSBEM
* This drawing is just for your refenece. LA B ES %, |
S e This drawing is susbject to change due to new design without prior notice. A2 BIRERBIHF=REILF
o MABBTEM. !
r; * Please contact the technical department for dimensions and performance parameters of the drives. :
5 MRFBEEBNINERIFIMEES T, BERATIIRKER. :

SLEWING DRIVE




SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

UNITS/& fi:mm UNITS/E fi:mm
1inch=25.4mm : ; I B 1 : ! I B 1 : ! 1inch=25.4mm
Weight:49kg Weight:68kg

FRONT VIEW INPUT Nl FRONT VIEW INPUT JEIRNNE]
IEE IA R171 IEHE R218.5
) +008 66 | A , 66
8 +0.02
+0.065 E\
B25+0.025 @ HA©) ~ B
T . 124192 3 "o
,,,,, | m g ————— z
o q o 0
- Equally Spaced So RN 9 10 S
?| ¢ 515 - = NI - 5 S
] 15-N & L )
ASSSY 19'N
174.15 Based o'g%;filéa;;y Spaced Based On 20 Equally Spaced
238 @25 %203L197%5
[input SN 52 o
| Input  FINR
2204 22532103 2
SIDE VIEW - 2175 il - ] A 7 ! 22z SIDE VIEW 2300
MARE 15-018 221.59103 r ‘ o259 | | r
Based On 16 Equally Spaced & 3 eSS ! 20-318 o
] EIRiE #167L19%5 i al Fio (T Equally Spaced E
N @ = — 17 @) 8 ‘ qualy Sp i [T1741 &f 79
***** o 3 & £g x St o o 2 . g e
17— gmg > _LO Q 0 N E— ? ? - 10 8
L - | 10
o145 | ¢ 2 - f B s f i
2296 inatt L
‘ 6B SplinefeiE 6B SplineftsE
- 3 5:; - - Ay . . o N
TEE(TIHEE MOMENT LOAD CHART F2ERFLIEIR Mounting Holes Option 7 & 7745 E] MOMENT LOAD CHART—————— ——— FEFLIEIR Mounting Holes Option
— 339 (25)
= \ : - N g 5424040 Code M N
é,» ;_; 30.51(22.5) (Outer Ring 4 (Inner Ring AIE) “3’;_: 47.46(35) ‘ e (Outer Ring 4ME&) (Inner Ring PIFE])
© 2 2712 (20) o . - (S
£ % 23.73(17.5) M16x2 Tap (KIR)30 M16x2 Tap (I&#)30 z ‘é’ 40.68(30) . M16x2 Tap (B5)30 M16x2 Tap (B5)30
§2 g e o . 2 £ 3395
% o 2034 (15) T M16x2 Tap (2%)30 @18 Thru (iE7L) g & 271200 T M16x2 Tap (BUF)30 @18 Thru (&7L)
£ R 16.95(125 n_ . SR n_ . SR 2
=B (129) B | 5/8"11UNC-28 Tap ()30 | 5/8-11UNC-2B Tap (I5)30 SR 203419 B | 5/8"-11UNC-28 Tap (F)30 | 5/8™11UNC-28 Tap (F)30
= . =
808 B Wy Py |y BT | 5/8"-11UNC-28 Tap (B30 218 Thru (iB30) 11330 22679 340.17 453,56 566,95 BT | 5/8"-11UNC-2B Tap (B07)30 @18 Thru (B7L)
Axial Load #EIZ7r kN(x 103 Ibf) (09 (19) (76:) (1929 (127.9)
xial Loa 5 Axial Load #ifa) /a7 kN (%103 1bf)
'Iiﬁg%ﬂﬁ Slewing Drive Performance Parameters 'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters
Model  Output Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Model  Output Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight Torque Torque Torque Rating Rating Rating Rating Ratio Precision Weight
ESIC It REDE REFNIE MO | FRHEET | HEsEE | fEshEE | REtE | BESR | B2 ESS ] EDE RIFNE HEFEE | FRHEE | BosiEE | RO | REl | BESH | BEE
6.5 kN.m 33.9 kN.m 34.5 kN.m 338 kN 135 kN 81 kN 71 kN 7.5 kN.m 54.3 kN.m 43 kN.m 475 kN 190 kN 114 kN 100 kN
SEB9 61:1 | <017° | 49kg SEB12 78:1 | <0.17° | 68kg
4794 Ibf.ft 25x10%Ibf.ft | 25.5%10° Ibf.ft | 76x10°Ibf 30x10° Ibf 18x10° Ibf 16x10° Ibf 5532 Ibf.ft | 40x10° Ibf.ft | 32x10° Ibf.ft | 107x10% Ibf | 43x10° Ibf 26%10° Ibf 23%10° Ibf
6.5 kN.m 33.9 kN.m 34.5 kN.m 338 kN 135 kN 81 kN 71 kN 7.5 kN.m 54.3 N.m 43 kN.m 475 kN 190 kN 114 kN 100 kN
PEB9 61:1 | <0.09° | 49kg PEB12 78:1 | <0.07° | 68kg
4794 Ibf.ft 25x10°Ibf.ft | 25.5x10° Ibf.ft | 76x10°Ibf 30x10° Ibf 18x10° Ibf 16%10°%Ibf 5532 Ibf.ft 40%10° Ibf.ft | 32x10° Ibf.ft | 107x10° Ibf 43%x10° Ibf 26%10° Ibf 23x10° Ibf
""""""" AYEWASNPUTSALOWED ) [Pemebecusio onan wder e e BEEMRASTRRTHIRAS. | wyewswewsauow ) [Peebesuclomanude toanesttaRERERmTRaTES.
ﬁ)\MﬁﬁFEAﬁm 777777777777777777777 5 o This drawing is susbject to change due to new dééign without prior notice. 2/ ERER 2L = A HIALF) m)\u«—nfﬁﬁEAﬁ%ﬂE ,,,,,,,,,,,,,,,,,,,,, S e This drawing is susbject to change due to new deI;E]n without prior notice. AATHRBHHAF=RHUIF) |
) 5 WABSTEM. | , 5 WABSmEA. |
SPECIAL DESIG){N};AS@EE(; N %LQI?QQER iREQUIREMENT F"; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES'%\‘}EBASEEES N %&;{gggR iREQU'REMENT g} * Please contact the technical department for dimensions and performance parameters of the drives. :
IRIERSIE R GAHRTY T NRREBEEMNIRIMMESSY, BERANIIEER. | FIRIBRE SR EH TR 5 NRBEBEEMNERIMMESEY, BSRADIIER. |

¥\ SLEWING DRIVE sLewin DRIVE ARG



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

SEB14/PEB14 @ .= SEB17C/PEB17C @ =5

FRONT VIEW iNnPUTIERE FRONT VIEW 20-M INPUTIEDN S
IEHE IA v R240 EE
+008 66 l A 20-N +0.08 66
J: Grease Plug B H . Equallgj?ﬁpaced
N +0.06! i % AN Grease Plu
T @25 fo02 © i /%ﬁ : ~ SRR : _
2 g “~=r$5\3|\\\ 8 0 ' 8
N ! | \\\‘\(’(\’({(‘l\"“ 1241 S o I D B 100 = Ll e 12+1 S o
& NI = "9 © = "9
***** T 5 Sa s
g 16 # == g 2 g SR 8
o d ’4.:';.\\\\‘ | ~ .:"L.\\\\‘ |
Equally Spaced Q A S
23-N 27.5 275
Based On 24 Equally Spaced 282.55
‘ 1%24311978 @25 347
Input - N\ 52 | Input BN | 52
| 22
225.32 103 A 2, @25.32103 : | -
SIDE VIEW % 051 ) - i — SIDE VIEW @430 051 "‘ r = ~
£ @295 ©21.59 +0.3 - iy ’ : -
RE -Fz?‘ 23.0518 - 5 _ e 0386 | 20-918 2.
TH Based Cln 24 Equally Spaced ] 4741 o +£ RS Equally Spaced - _ »L»1711 gl 0]
5 9 I - %24719% oz ! ST Q S 3 ©g | Q N
o @ 3 & 29 : 0 8 s 77 B (10 8
| & — - uN" -
© = - < L “
2352 ® 2-M12x1.75 275 & 2-M12x1.75 275
@390 : )
2415 6B Splinettig | 6B Splinetti
ﬁﬁb*ﬁ MOMENT LOAD CHART—— E— ﬁ%ﬂ;iﬁlﬁ Mounting Holes Option ————— _— E(ﬁjj*ﬁ MOMENT LOAD CHART ——m8 _— ﬁ%}lﬁﬁlﬁ Mounting Holes Option
° g 67.8 (50) ‘ M N 0 & 135.6(100) ‘ Code M N
§ i 61.02(45) (Outer Ring 5 (Inner Ring PIEE]) 32 122.04(90) sl (Outer Ring 4M&) (Inner Ring PIEE])
e g e
z ¥ 5424040) — | M16x2 Tap (BF)30 M16x2 Tap (B%)30 = ¢ 10848(80) — | M16x2 Tap (F)32 M16x2 Tap (B%)32
£ = 47.46(35) g > 94.92 (70)
2 @ 40.68(30) T M16x2 Tap (K%)30 @18 Thru (L) S @ 81.36 (60) T M16x2 Tap (BR)32 @18 Thru (&HL)
jo2]
R = o= 2 o= -
% il 33.9 (25) B | 5/8"-11UNC-2B Tap (KF)30 | 5/8"-11UNC-2B Tap (IKZiF)30 s @ 67.8 (50) B | 5/8"-11UNC-2B Tap (KF)32 | 5/8"-11UNC-2B Tap (Ii%F)32
L= L=
113.39 226.79 340.17 453.56 566.95 BT | 5/8"-11UNC-2B Tap (BI%)30 @18 Thru ({@7L) 2267 4535 680.3 907.1 1133.9 BT | 5/8"-11UNC-2B Tap (K%)32 @18 Thru ({@7L)
(25.5) (51.0) (76.5) (102.0) (127.5) (50.9) (101.9) (152.9) (203.9) (254.9)
Axial Load #fiE)#farkN(x 103 Ibf) Axial Load 3@ 7aTkN (=< 103 Ibf)
'Iiﬁg%ﬂﬁ Slewing Drive Performance Parameters 'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters
Model  Output Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Model  Output Tilting Moment ~ Holding Static Axial  Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight Torque Torque Torque Rating Rating Rating Rating Ratio Precision Veight
ESS ] & H%E RIEFNIE HEFHEE | FRHEE | BosdE | fomiEiE | REl | BESH | BEE ESS ] & H%E REFNIE HEFHEE | FRHEE | BosEE | RO | REl | BESHR | BEE
8 kN.m 67.8 kKN.m 48 kN.m 555 kN 222 kN 133 kN 117 kN 10 kN.m 135.6 kN.m 58 kN.m 970 kN 390 kN 235 kN 205 kN
SEB14 85:1 | <017° | 74kg SEB 102:1| <0.15° | 92kg
5900 Ibf.ft 50x103Ibf.ft | 35x10° Ibf.ft | 125x10°Ibf 50%10° Ibf 30x10° Ibf 26x10° Ibf 17C | 7400 Ibf.ft | 100x10° Ibf.ft | 42.8x10° Ibf.ft| 218x10° Ibf 88x10° Ibf 53x103 Ibf 46x10°3 |bf
8 kN.m 67.8 kN.m 48 kN.m 555 kN 222 kN 133 kN 117 kN 10 kN.m 135.6 kN.m 58 kN.m 970 kN 390 kN 235 kN 205 kN
PEB14 85:1 | <0.09° | 74kg PEB 102:1| <0.09° | 92kg
5900 Ibf.ft 50x103Ibf.ft | 35x10° Ibf.ft 125x10° Ibf 50%10° Ibf 30x10° Ibf 26x10°Ibf 17C 7400 Ibf.ft 100%x10° Ibf.ft | 42.8x10° Ibf.ft | 218x10° Ibf 88x10° Ibf 53x10° Ibf 46%10° Ibf
””””””” AYEuASNTSMLOND ) [Peseesroonanunde e e sEEARERERRTHARES. | mpEweweunsaiowo  f) [Peecheouciofnnde voone sEmaRERRaRTaRESS.
ﬁAmmﬁFEAﬁm ,,,,,,,,,,,,,,,,,,,,, S o This drawing is susbject to change due to new dé;ign without prior notice. 282X EIR ER BU = Fm A mAmmﬁFEAﬂmg 777777777777777777777 S e This drawing is susbject to change due to new deI;E]n without prior notice. AATHRBHHAF=RHUIF) |
) 5 WABSTEM. | , 5 WABSmEA. |
SPECIAL DESIG){N};AS@EE(; N %LQI?QQER iREQUIREMENT F"; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES'%\‘}EBASEEES N %&;{gggR iREQU'REMENT g} * Please contact the technical department for dimensions and performance parameters of the drives. :
IRIERSIE R GAHRTY T NREBEEMNUR TSRS SN, BERABNIIEER, | FIRIBRE SR EH TR S MERBEENNYRTIMESEN, HSRABIIEER. |

YA SLEWING DRIVE sLewin DRIVE ARG



SLEWING DRIVE [El§&s8iRiESS

SEB21/PEB

UNITS/& fi:mm
1inch=25.4mm

Weight:142kg

SLEWING DRIVE [El3&=RiES

SEB25/PEB

UNITS/E2 {izmm
1inch=25.4mm

Weight:168kg

FRONT VIEW TEDNGIE
ERE l A R344
Grease Plug
: 81005 66
i |10
+0.065 it By N
@25 +0.025 YESS
o | |ty wE © : \4\%‘ g
< o i DI S| [ 1241 92
© 36-M 8 = re}
Q Equally Spaced o \J - \\/»\,\»(\\\ o
i %! Opeel /\\ §
3 N
35-N g 2-M12x1.75 275
Based on 36 Equally Spaced A
12367197 @25
| Input %N
SIDE VIEW o534 53
inE (24667 | ‘ & r
@425 35-@22 g
Based on 36 Equally Spaced
) 1%367L19% +051
T o) 21.59 +03
225.321035'

6B Splinettiz

— R HIEE MOMENT LOAD CHART————— ———— FEEFLIEIA Mounting Holes Option —————

FRONT VIEW R390

) INPUT NS
EMRE

Grease Plug

+0.08
1
o 8 +0.02
?O
™ Vo W
2 (ORia®
N

237
| ——

2425

+0.065
325 +0.025

2-M12x1.75

32-N
Based on 36 Equally Spaced

, & 216.95(160) " "
g 5 189.84(140) (Outer Ring #ME]) (Inner Ring PIE)
o O
[
z X 162.72(120) — | M20x2.5 Tap (BF)40 M20x2.5 Tap (BGR)40
g £ 4356100
2 ;é 108.48 (80) T M20x2.5 Tap (Ii%)40 @22 Thru (iB7L)
(=]
£ B 8136 (60) B | 3/4"-10UNC-2B Tap (TR)40 | 3/4"-10UNC-2B Tap (BF)40
=
133.9 1360.7 1587.5 1814.3 BT | 3/4"-10UNC-2B Tap (BF)40 @22 Thru (B7L)
(0058) (1555) (305.9) (356.6) (4079)

Axial Load #ifa) & fa7kN (%103 1bf)

'Iiﬁg%ﬂﬁ Slewing Drive Performance Parameters

386.8 3671597 @25
(456)
| Input  FINEG 52
38 10
+u; il []
o) ’/ -
SIDE VIEW @628 8 090 4%/7 .
AnE 2565 n 32922 é @Kf\\(@ < / |//// 2281 %
527 Based on 36 Equally Spaced 7 ¥y S - // B o~
sT= > - 12367197 +051 J © //l/l/// % I .
3 0 ,,,% @21.59 +03 ® L ,,,,,,,,A,,Z
= © ©25.32 321 i< 2-M12x1.75 ?E
6B Splinetti
@710
—— 7R/ E JI5EE] MOMENT LOAD CHART———— LEEFLIFEIR Mounting Holes Option
o & 298.28(220) | e - T
2 2 271.16(200) A5 (Outer Ring 4M8)) (Inner Ring AIE])
o O
= <
£ ¥ 244.04(180) — | M20x2.5 Tap (BIF)40 M20x2.5 Tap (BUR)40
£ = 216.93(160)
2 2 18981 (140) T M20x2.5 Tap (Ii%)40 @22 Thru (iBFL)
o ¥ :
§ @ 162.70(120) B | 3/4"-10UNC-2B Tap (BIR)40 | 3/4"-10UNC-2B Tap (BIR)40
=
800 1200 1600 2000 2400 BT | 3/4"-10UNC-2B Tap (BUFR)40 @22 Thru (B7L)
(179.9) (269.8) (359.7) (449.6) (539.5)

Axial Load 3@ 75 kN (<103 Ibf)

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

Output Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Model  Output Tilting Moment ~ Holding Static Axial ~ Static Radial Dynamic Axial Dynamic Radial Gear Tracking :
Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
ESS ] & H%E RISI5E HEFHEE | FRHEE | WBosEE | fomiEiE | REl | BESH | BEE ESCR g5 & H%E RISIE HEREE | REHEE | WOMHE | AR | REL | BESR | BB
15 kN.m 203 kN.m 70.5 kN.m 1598 kN 640 kN 385 kN 335 kN 18 kN.m 271 kN.m 84.5 kN.m 2360 kN 945 kN 590 kN 470 kN
SEB21 125:1| <0.15° | 142kg SEB25 150:1 | <0.15° | 168kg
11000 Ibf.ft | 150x10°Ibf.ft | 52x10° Ibf.ft | 359x10°Ibf | 144x10°Ibf 87x10° Ibf 75x10% Ibf 13300 Ibf.ft | 200x10° Ibf.ft | 62.4x10° Ibf.ft| 531x10% Ibf | 212x10% Ibf | 133x10° Ibf | 106x10° Ibf
15 kN.m 203 kN.m 70.5 kN.m 1598 kN 640 kN 385 kN 335 kN 18 kN.m 271 kN.m 84.5 kN.m 2360 kN 945 kN 590 kN 470 kN
PEB21 125:1| <0.09° | 142kg PEB25 150:1| <0.09° | 168kg
11000 Ibf.ft | 150x10°Ibf.ft | 52x10° Ibf.ft | 359x10°Ibf | 144x10°%Ibf 87x10° Ibf 75%10% Ibf 13300 Ibf.ft | 200x10° Ibf.ft | 117x10° Ibf.ft | 531x10% Ibf | 212x10° Ibf | 133x10% Ibf | 106x10° Ibf

“A” VIEW AS INPUT IS ALLOWED
BNBRFE “A” ERE

z

[}

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5
SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT 9
AHRERENE R TIERRIT z

I S.\NG DRIVE

A * Please be sure to remain under the curve. S8Rt & B {RCRR R E BRI o

* This drawing is just for your refenece.lA B4R tEES %, :
© This drawing is susbject to change due to new design without prior notice. A A EI{REBHL = RAIALFI
MABSTEN. 3
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEMYERITUERSEY, BERATIIHR. :

“A” VIEW AS INPUT IS ALLOWED
BNRAYFE A" ERE
SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRET

* This drawing is just for your refenece. LA B ES %, |
» This drawing is susbject to change due to new design without prior notice. &N A EHR B ELH RAIF] |
TIRESTEL. 3
* Please contact the technical department for dimensions and performance parameters of the drives. :
MRFELEEMINERI TS EY, BERARIIKR. |

A * Please be sure to remain under the curve. 5B R SRR LR A ELSBEM
4
E
f
i

SLEWING DRIVE



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

UNITS/E2 {izmm
1inch=25.4mm

UNITS/& fi:mm
1inch=25.4mm

Weight:37.5kg Weight:55.5kg

FRONT VIEW INPUT N E] FRONT VIEW INPUT NS
ERE TFRE
Cover [ 66 A 66
A R138+2 +0.08 Cover +0.08
FHIPES o 10-M v00ss 81002 10| IRE l R180£2 0065 87002 10|
Equally Spaced @25+0.025 i @25+0.025 i
- 0) H I~ 0) H I~
75 uACY S @ Grease Plug HACH S «
_— Grease Plug b S - b =
. i R 1 ™\ 3 121 %2 = 1 i\ D 121 0
I 24 -\ =] N @ o -\ e N
N S A~ g 15-N 9o g 8
] + = 0 ; * =
“,::. / 11-N g © S ®) ©| . Based On 16 Equally Spaced g © % @)
- : Based On 12 Equally Spaced 2-M12x1.75 = 275 : o 1&1630L19% 2-M12x1.75 = 275
o5 #127119% 1+§0 Equally Spaced
206.5 @25 1244 2 9% 25
|Input NG e o2 Input At st 2
» ©25.32 +03 22 ©225.32 +03 22
@195 2 @220
SIDEVIEW  Rr1gg 221,59 105 ER®) = . SIDE VIEW 2175 15.018 021,50 103 RO, 7 ,
AR o o 3 AN 2145 g
0 " g o Based On 16 Equally Spaced go
9 @105+ 3 ] ol ' Il P | al™g
~ 70‘“ Based On 12 Equally Spaced E —_ < HE-E 1721 gl @ ; 1670197 7 — < HH 1721 gl =
e ST I 1271497 eg = Ho S 5 5) R I - eg - Ho S
PR 8 2 "o = il > 3 ° 72 P 10 8|
o © @ g @ & © “ g @ & © —
;i 138 ;
@98 © 2-M12x1.75 275 0042 © 2-M12x1.75 27.5
182 o
L 2270 L
@205 6B Splineftig 2301 6B Splineftig
@231
— & S 1EE MOMENT LOAD CHART———— — ZZEFLIEIA Mounting Holes Option — —— 7&E %6 B MOMENT LOAD CHART———— FEFLIEIR Mounting Holes Option
L, 15 (11.07) ‘ o 7 N , & 3685 ‘
32 125(923) ey (Outer Ring 4M&) (Inner Ring PIEE) s 2 30 (22.14)
" g 10 (7.38) — | M12x1.75 Tap (BU%)25 M12x1.75 Tap (BUR)25 - E 24(17.71) - M16x2 Tap (BF)30 M16x2 Tap (BIF)30
== .75 Tap (BUR) .75 Tap (BGR) g £ ap (IUR) ap (BGR)
g 75(554) g E 18 (13.28)
g o 5 (369 T M12x1.75 Tap (BU%)25 @14 Thru ({@7L) g o 12 (8.86) T M16x2 Tap (BI%)30 @18 Thru (&%)
j=2] [}
% @ 2.5(1.85) B | 1/2"-13UNC-2B Tap (BGF)25 | 1/2"-13UNC-2B Tap (BF)25 § @ 6 (4.43) B | 5/8"-11UNC-2B Tap (B®)30 | 5/8"-11UNC-2B Tap (iF)30
L= =
4445 88.89 13333 177.78 222.22 BT |1/2"- . = § 100 200 300 400 500 600 BT | 5/8"- ’ KR ;
450 BB80 13833 TTTe 2222 1/2"-13UNC-2B Tap (BUR)25 @14Thru (3E7L) 252, 29 3% &8 %% %) 5/8"-11UNC-2B Tap (BGF)30 @18 Thru (&%)

Axial Load i 7arkN(x 103 Ibf) Axial Load #fiE)#farkN(x 103 Ibf)

ﬁﬁg%ﬁﬁ Slewing Drive Performance Parameters

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking :
Torque Torque Rating Rating Rating Rating Ratio Precision '/eight Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
etk 1REE RIFHIE MEFEEE | fEBHEE | HMamEE | foaiEE | Rkl | BESR | B8 Enfalesie) R H%E RIFHIE RS | FOHEE | HEsEE | 0T | Rkl | BESR | 28
3.5kN.m 142kN.m 20kN.m 220 kN 90 kN 63 kN 48 kN 8 kN.m 356 kN.m 345kN.m 578 kN 215 kN 136 kN 115 kN
47:1 <0.15° | 375kg 62:1 <0.15° | 55.5kg
2583 Ibf.ft 10.5x10°%Ibf.ft | 14.8x10%Ibf.ft | 49.5%10°Ibf 20.2x10%Ibf | 14.2x10%Ibf 10.8x10° Ibf 5904 Ibf.ft 26.3x10°Ibf.ft | 25.5%10%Ibf.ft | 129.9x10%Ibf | 48.3x10°Ibf 30.6x10° Ibf 25.9x10° Ibf
""""""" A VIEWAS INPUT ISALLOWED /) ° Please be sure to remain under the curve AN BRSRa ERAEN .,  AVEWASINPUTISALLOWED /) °Please be suretoremain under the curve AR AMESFAHEMESEN.
. giv;lﬁl;;ﬁl:gl{&lﬁs QJI}IIA:I,WED A * This drawing is just for your refenece.l_EE#R{R S, . QE\V;I%A;LEZ;U‘TA‘S Q]I}El%WED A * This drawing is just for your refenece. LL LIRS X .

« This drawing is susbject to change due to new design without prior notice. A ATHRBAEGHF=REIRF |
TIRESTEL. 3
* Please contact the technical department for dimensions and performance parameters of the drives. :
MRFELEEMINERI TS EY, BERARIIKR. :

SLEWING DRIVE

§ * This drawing;is susbject to change due to new design without prior notice. A2 B B 27 &2 HIRLF ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 9
MABSTEN. : , o

* Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES'%\‘}EBASEEES N %&;Igé"';'? iREQUlREMENT r;
NPRBLEOR TSR, BSHADIRER. 1 FRRPSHERA ALY s

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT ?rR
AIREMENE R TIFRZIT 2

SLEWING DRIVE



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

UNITS/E2 {izmm
1inch=25.4mm

UNITS/& fi:mm
1inch=25.4mm

Weight:74kg Weight:82kg

FRONT VIEW INPUTIEDNGE] FRONT VIEW INPUT RN
EWRE ENRE
Cover A R222.5+2 o 66 Cover |, R240+2 g 1008 €6
. +0.
- o253 - s 0253
4 : T E : T
Greése Plug o) M (9)\ _ Grease Plug ©3i:l©)
/4 ; p T S \
o . R i go 1 i
5 : ""\\ = 1281 %9 3 N P
. L on o RS S S 8 18-M o JG gl N
go Equally Spaced So >
2 Based On 20 Equally Spaced ™ \ Q | ] qua t{]ﬁpace ) 7/:’:\\! \ L
i %207L197% g \O% O - £ s \O% O R
N S 23N N S
2-M12x1.75 275 2-M12x1.75 275
2 2375 Based On 24 Equally Spaced
286.5 11 : 1%2431397%
[ @25 301.5 7 25
Input I\ . 52 | Input BN . 52
@25.32 +03 22 @25.32 +03 22
SIDE VIEW @300 ) i @340 +051 —
f r — SIDE VIEW @21.59 +03 D N
IS [@259] W . . (@295 | © ‘ -
e g;gg ) 19-218 3 MIRE %—1 23-018 8
Based On 20 Equally Spaced ] ~ fa - } ‘Based On 24 Equally Spaced < ] ] S
N~ S 2071195 1 runm oL N5 B © 24319 % . © g 17 2
5 — @ © ©g ! Q 5 3 © o = | %
- 3 =] = S 10 S] © S % = 10 Q
& B & }
2220 © - S 2256 P —
@327 © 2-M12x1.75 27.5 2363 © 2-M12x1.75 275
2358 . 2390 |
@391 6B Splinefrig 0426 6B Splinefei
— ®&&F BB MOMENT LOAD CHART————— — ZEEREIE Mounting Holes Option ——— — & #F 155 E] MOMENT LOAD CHART——— LEEFLIFEIR Mounting Holes Option
,E 604428 ‘ Code M N o g 72 (53.14) ‘
35 50369 K3 (Outer Ring 4M&)) (Inner Ring PIE&) T 60 (44.28)
°S 4 (29.52) °S 48 (35.42)
z 2 : — M16x2 Tap (IiR)30 M16x2 Tap (iR)30 S E — M16x2 Tap (iR)30 M16x2 Tap (BR)30
g g 30 (22.14) EZ 36 (26.57)
S5 2001478 T M16x2 Tap ()30 @18 Thru (&7L) = @ 24(17.71) T M16x2 Tap (B2)30 @18 Thru (iE5L)
= R
s @ 10 (7.38) B | 5/8"-11UNC-2B Tap (IZ%)30 | 5/8"-11UNC-2B Tap (BGF)30 é @ 12 (8.86) B | 5/8"-11UNC-2B Tap (I;%)30 | 5/8"-11UNC-2B Tap (KIF)30
L= =
- 150 300 450 600 750 BT | 5/8"-11UNC-2B Tap (i%)30 @18 Thru (IBFL 200 400 600 800 1000 BT | 5/8"-11UNC-2B Tap (B%)30 @18 Thru (Bl
(3375) (67.5) (101.25) (135) (168.75) P (0%) besid & a8 8% 88 &3 P (50R) (2L)

Axial Load #fi/&)£7aTkN(x103 Ibf) Axial Load 3@ FaTkN (<103 Ibf)

ﬁﬁg%ﬁﬁ Slewing Drive Performance Parameters

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking _
Torque Torque Rating Rating Rating Rating Ratio Precision '/eight Torque Torque REN] [RE] Rating Rating Ratio Precision 'Veight
BIHEEIE 1REE RIFHIE AR ETE FEgERT | e | fasEE | REL | BESR | E58 BEEIE R H%E RIFNE G RagsE | WmosHEE | fasEE | RElk | BESR | E8
9.5 kN.m 57 kN.m 43kN.m 760 kN 280 kN 190 kN 148 kN 10.8kN.m 71.2kNm 48 kN.m 960 kN 360 kN 230 kN 200 kN
79:1 <0.15° 74 kg 86:1 <0.13° 82kg
7011 Ibf.ft 42.1x10°Ibf.ft | 32x10%Ibf.ft | 171.1x10°Ibf 62.9x10°Ibf | 42.7x10°Ibf 33.3x10° Ibf 7970 Ibf.ft 52.6x10°Ibf.ft | 35x10°Ibf.ft | 215.8x10°Ibf 80.9x10°Ibf | 51.7x10°Ibf 44.9x10° Ibf

“A” VIEW AS INPUT IS ALLOWED

“A” VIEW AS INPUT IS ALLOWED
BNRAFE “A” EE

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT ?

AHRIEME R TIFRRIT 2

A * Please be sure to remain under the curve AR BIBREFHAELATEN.

* This drawing is just for your refenece.LA BRI ftE% | INBBAVFE “A” ENE

§ © This drawing is susbject to change due to new design without prior notice. A A EIfREE = FRAIELF mm}im ,,,,,,,,,,,,,,,,,,,,,,, 9

MABSTEN. ! 3
t

A * Please be sure to remain under the curve. 5B R SRR LR A ELSBEM
* This drawing is just for your refenece. LA B ES %, |
* This drawing is susbject to change due to new design without prior notice. A A BIR BT R AILF |
MABSTE . !
* Please contact the technical department for dimensions and performance parameters of the drives. :
MRFELEEMINERI TS EY, BERARIIKR. |

SLEWING DRIVE

* Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES%%“;%%Q%;&@I?@E;?_REQU'REMENT
MRFBLBEIPR IS EY, BERABIIRER. : - Tty

€A SLEWING DRIVE



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

UNITS/& fi:mm
1inch=25.4mm

UNITS/E2 {izmm
1inch=25.4mm

Weight:108kg Weight:122kg

FRONT VIEW INPUTIEREEE FRONT VIEW TIE2NE!
ENRE TFRE
Cover A R285+2 +0.08 66 R312.5+2 +0.08 66
iRE | 8 +0.02 10 Cover 8 +0.02 10
+0.065 L1V A +0.065
@25 +0.025 5 . inE = Grease Plug 925+0025 N ot N
Grease Plug @k @@ Al \\/</:= N L s @@ ué\{/:= B
re) T E\ ‘ < B Plug E\ ‘ < = S
S [ % © © e [ % © 8
N 20-M % S 2 HE | i g @
w0 o Rz A ~ I 3 A ©
N Equally Spaced go 0 ?o S
8 e ° @@ e L N 32-M © @© 50 L
20-N 3 \ N Equally Spaced Q \\
- | T jori
Equally Spaced 2-M12%1.75 2-M12x1.75
285 575 - 31-N
349" = Based On 32 Equally Spaced
‘ i @25 3775°% 132701975 @25
Input I\ 52 2 l Input BIAIE 52 2
SIDE VIEW o406 5| 69205 i SIDE VIEW 5| 69205 Nz )
MEnE 2365.1 20.018 S Klﬂ\ ‘ s N inE 2490 . € @z\ 2 &,
% | Eavally Spaced I dy < ML 700 & 8 2420 ‘ 31-918 L &7 I M a7er 8 8
o o ! 9% ﬁ 2 ST 2380 Based On 32 Ecgally Spaced ﬁ =4 8 g
mI f@}\ I gﬂ 3 21 59+0'51 @ -~ @ 3 %cﬁ: ) 25397 21.59 o ® @ i S
0J+0.3 L . +0.3 L
& © - o D %0 z 8 = —0 o © & (@) g
p322 | 25.32+03 2-M12x1.75 .10 @370 25.32+03 2-M12x1.75 .10
96447%94 275 @490 275
: o @520 P
‘ 2511 6B SplinefzsE @570 6B Splinettsz
—— &&EPI%EE vomeNT LoAD CHART——— — FTEEFLIEIR Mounting Holes Option ——— —— FEH BB MOMENT LOAD CHART————— ZLZEEFLIEIR Mounting Holes Option
L, & 150(1107) oo 7 N , © 200(147.46) 7 N
T2  152(92.25) ¥ Z] (Outer Ring 4M&)) (Inner Ring PIEE]) 22 160(117.97) (Outer Ring 4M&l) (Inner Ring )
g 738 2%
g 3 100 ((55 35)) — M16x2 Tap (IiF)32 M16x2 Tap (IF)32 5 £ 120 (8848) — M16x2 Tap (BUF)32 M16x2 Tap (BUF)32
Ez 750% E Z
S @ 50 (36.9) T M16x2 Tap (BUF)32 @18 Thru (B7L) 25 80 (58.98) T M16x2 Tap (BUF)32 @18 Thru (i&71)
=4 =)
S5 2501849 B | 5/8"11UNC-28 Tap (B%)32 | 5/8"11UNC-28 Tap (507732 sg 10 @9 B | 5/8"11UNC-28 Tap (E)32 | 5/8"11UNC-28 Tap ()32
L= =
2267 4535 6803 907.1 1133, BT | 5/8" . 7R ; 400 800 1200 1600 2000 BT | 5/8" ! R ;
(809) (101.9) (1529) (203.9) (254. 9) 5/8"-11UNC-2B Tap (#)32 @18 Thru (iB7L) (80°92) (15984 (260 76) (30.08) (449.3) 5/8"-11UNC-2B Tap (IKiF)32 @18 Thru (i&FL)

Axial Load ¥ arkN(x103 Ibf) Axial Load 3#im kN (=103 Ibf)

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

ﬁﬁgﬁﬁﬁ Slewing Drive Performance Parameters
Output

Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking Output Tilting Moment [lellsligfe} Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking _
Torque Torque Rating Rating Rating Rating Ratio  Precision Torque Torque Torque Rating Rating Rating Rating Ratio Precision 'Veight
e ELE RIFNE I EREE AOBHEET | HEDEET | FEpHEG | Rt | BESR | 582 e R F%E RIFHIE HEEHETE FagHE | mEsEE | fEsEE | ORE | BESR | B8
12.96 kN.m 1424 kN.m 72.3kN.m 1166 kN 435 kN 280 kN 231 kN 18.5 kN.m 196 kN.m 80.1 kN.m 1800 kN 675 kN 290 kN 250 kN
104:1 <0.1° 108 kg 94:1 <0.1° 122 kg
9564 Ibf.ft 105.1x10%Ibf.ft | 53.4x10°Ibf.ft | 262x10°Ibf 97.8x10°Ibf | 62.9x10°Ibf 51.9x10° |bf 13640 Ibf.ft | 144.5x10%Ibf.ft | 59.1x10°Ibf.ft | 404.64x10°Ibf | 151.4x10°Ibf | 65.2x10°Ibf 56.2x10°Ibf
""""""" A VIEWAS INPUT ISALLOWED /) °Please be sure to remain under the curve SRS bREIREA TR AABEM. N VIEWASINPUTISALLOWED A\ °Pleasebe sure to remain under the curve BRETNIRNFAGEMATEEAS.
. gi\v;lﬁ/;;g‘l?{&l”s QJI}IIA:I,WED A * This drawing is just for your refenece.l_EE#R{R S, : . QE\V;I%A;LEZ;U‘TA‘S Q]I}E.WED A * This drawing is just for your refenece. LL LIRS X . |
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, § ° This drawing is susbject to change due to new design without prior notice. AR\ B R BB = SAMLF | § * This drawing is susbject to change due to new design without prior notice. A A BIR BT R AILF |
i o MABBTEA. : , o MABBTEA. !
SPECIAL DESIG;N};AS@EEEJ) N %LQI?QQER iREQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES'%\‘}EBASEEES N %Ll;-[gé"';R iREQU'REMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. :
TR REt AR T NREBEEMNUR TSRS SN, BERABNIIEER, | FIRIBRE SR EH TR S MERBEENNYRTIMESEN, HSRABIIEER. |

£ SLEWING DRIVE

SLEWING DRIVE



SLEWING DRIVE [ol#&=t k%S SLEWING DRIVE [Elis=;ESe

UNITS/& fi:mm UNITS/E fi:mm
1inch=25.4mm I I t! 1inch=25.4mm
Weight:188kg Weight:205kg

FRONT VIEW INPUTIEREEE FRONT VIEW INPUT RN

ERE IEARE
c A R346.5+3 +0.08 66 |A 830 lA 66
over | N 8 +002 ( 350 350 R346.5:3 g
PRE M ?t:. : Cover ’ | Cover o
Grease Plug 3 s . | /= s e 2O T | JECAS s
St < é Grease Plug <« 1941 F°
0 | o L o =3 BT
gl ’ I . ] , S gl 2] - R
S 36-M 0 0 =< 8
+0.065 S O i © i +0.065 PN
NE \ & Equalgj?ﬁpaced @25 +0.025 X ©= g - % @25+0025 N
- 05 e 2 35-N \2¢M2M75hp(mﬁ)21 35 g / g -M12x1.75 Tap ( BUR ) 21 L35
ased On 36 Equally Spaced ‘L_J L G i
1367197 2 -
‘ @25 Input BN | [ Input BN @25
Input i o3 52 36-M 35N eg 52
fF | Equally Spaced Based On 36 Equally Spaced -
& @ f'\\ ) 5% 1#%367L197 &
SIDE VIEW ©550+3 ) g 2241 éo SIDE VIEW g 9241 éo
MRE 2466.7 \ 35-922 Lel 8 = — 8 ALE 255043 s 8 i — 8
T S| @ N5 o ©466.7 S| @ N5 o
Based On 36 Equally Spaced @ X
1#2367L19% 051 < — Q ) @425 051 8
%Lo % (—A; % @21.59 +03 el ) i o] , @21.59 +0.3 >
- - [}
< ;@F «051 2-M12 Tap (BG%) 21 L35 & q{ S| +1 3 051 2-M12x1.5 Tap (HGR) 21 .35
w @25.32 +03 120 - =) © A @25.32 +03 120
2425
@547
. 2584.2 N
6B SplinefeiE 2629 6B SplinefesE
— ®&&F BB MOMENT LOAD CHART————— — ZEEREIE Mounting Holes Option ——— — & #F 155 E] MOMENT LOAD CHART——— — ZEHERIR Mounting Holes Option
N g 240 (177) it M N o g 240 (177) N
22 200(147.5) K1 (Outer Ring 4MNE&]) (Inner Ring &) z £ 200(147.5) (Inner Ring )
23 11 22 160 (118
. :22 ((88 85)) — | M20x2.5 Tap (BiF)40 M20x2.5 Tap (BGR)40 . ((88 5)) — | M20x2.5 Tap (BiR)40 M20x2.5 Tap (BGR)40
€ = . £ = .
2 f'.i 80 (59) T M20x2.5 Tap (BUR)40 @22 Thru ({@7L) 22 8 (59 T M20x2.5 Tap (BiR)40 @22 Thru (1B7L)
o)) o H
é B 40 (295) B | 3/4"-10UNC-2B Tap (BIF)40 | 3/4"-10UNC-2B Tap (IF)40 é B 40 (295) B | 3/4™-10UNC-2B Tap (KUF)40 | 3/4"-10UNC-2B Tap (Ii%)40
= =
300 600 900 1200 1500 1800 BT R H R i 300 600 900 1200 1500 1800 BT - - IGR 1
(67 4) (134-8)(202.2)(269 6) (337) (404 4) 3/4"-10UNC-2B Tap (BIR)40 @22 Thru (1B7L) (67.4) (134-8)(202.2)(269.8) (337) (404.4) 3/4"-10UNC-2B Tap (KIiR)40 @22 Thru (187FL)
Axial Load3#H@# 17 kN(x103 Ibf) Axial Load 3#H[a13 kN (x103 Ibf)
'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters ﬁﬁg%ﬁﬁ Slewing Drive Performance Parameters
Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking : Tilting Moment Holding Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking
Torque Torque Rating Rating Rating Rating Ratio Precision '/eight Torque Torque REN] [RE] Rating Rating Ratio  Precision
e ELE RIFNE I EREE REERET A Eh & RamEsE | REt | BESR | 2= e & HE RISE I BT BT A EhETET RamshEs | mE | BESER | EE
28.7 kN.m 203kN.m 105.8 kN.m 1598 kN 640 kN 385 kN 335 kN 48 kN.m 203kN.m 1799 kN.m 1598 kN 640 kN 385 kN 335 kN
90:1 <0.1° 188 kg 90: 1 <0.1° 205 kg
21180 Ibf.ft 150x10%Ibf.ft | 78.1x10°Ibf.ft| 359x10° Ibf 144x10° Ibf 87x10°Ibf 75%10° Ibf 35408 Ibf.ft 150%10%Ibf.ft [132.7x10°Ibf.ft| 359x10°Ibf 144x10° Ibf 87x10°Ibf 75%10° Ibf
""""""" A VIEWAS INPUT ISALLOWED /) °Please be sure to remain under the curve JRES b REIFa T RABEM. N VIEWASINPUTISALLOWED A\ °Pleasebe sure to remain under the curve BRETNIRNFAGEMATEEAS.
. giv;lﬁl;;ﬁl:gl{&lﬁs QJI}IIA:I,WED A * This drawing is just for your refenece.l_EE#R{R S, ‘ . QE\V;I%A;LEZ;U‘TA‘S Q]I}El%WED A * This drawing is just for your refenece. LL LIRS X .

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5 This drawing is susbject to change due to new design without prior notice. /A EHR BRI GARIRLF)
o MABSTEN.
x
B

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AIREMENE R TIFRZIT

S e This drawing is susbject to change due to new design without prior notice. 2~ SR 88 B0 R AIIF]
o MABS{TEA. :
r; * Please contact the technical department for dimensions and performance parameters of the drives. :
5 MRFBEEBNINERIFIMEES T, BERATIIRKER. :

JZA SLEWING DRIVE SLEWING DRIVE

* Please contact the technical department for dimensions and performance parameters of the drives. ! SPECIAL DES%%“;%%Q%;&@I?@E;?_REQU'REMENT
MRFBLBEIPR IS EY, BERABIIRER. : - R



SLEWING DRIVE [El§&s8iRiESS

UNITS/& fi:mm
1inch=25.4mm

Weight:255kg

FRONT VIEW INPUT NS
ENRE
R407.5+3
+0.2
A 4-R10 43.30 10
] mes\w = @\\\\\‘{! _
Plug 'S ' i RO 2
ol d = / N \ \\\ VAVAN 3
N t‘g% / X 3‘E\B\ \ \ ] © l g°
2 ! T < o
o | I 1] @ 8
\ > i -
+0.025 N / Iy Q
] @400 X" \:@k&z $
= ¢ )
B |B
416
29-N 140x140 68 || 12
486 Based On 30 Equally Spaced —
] Input HIAIE 12307197
SIDE VIEW 2628 B-B a2
MARLE 2560 Equally Spaced
3512 Q 75
30-918 B
Equally Spaced -
(32}
§ 1T [t} 4-@13.5
= 4 & Equally Spaced
9%
340
—— &#F 7356 B MOMENT LOAD CHART L %EF| %A Mounting Holes Option ———
o € 298.28(220) ‘ o T .
g5 271.16(200) K15 (Outer Ring 4M&)) (Inner Ring PIEE)
o O
F -
- 244.04 (180
g ¥ 04(180) — M16x2 Tap (BI3)40 @18 Thru ({&FL) LI@30 T 17
£ = 216.93(160)
2 Eé 189.81(140) T M16x2 Tap (B#)40 @18 Thru (1B#L) L1230 T 17
2R
= 5 162.70(120) B | 5/8"-11UNC-2B Tap (¥F)40 | @18 Thru (iBFL) LI1@30 T 17
- 800 1200 1600 2000 2400 BT g = 3
(5% 089%) (3557) (993 Z3% 5/8"-11UNC-2B Tap (KiF)40 | @18 Thru (&FL) LID30 T 17

Axial Load i arkN(x 103 Ibf)

'Eﬁg%ﬂﬁ Slewing Drive Performance Parameters

Max Output  Tilting Mo Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking

Torque Torque Rating Rating Rating Rating Ratio  Precision

SLEWING DRIVE [El3&=RiES

g UNITS/E2 {izmm
1inch=25.4mm
-
Weight:275kg

FRONT VIEW INPUT NGNS
FRE
t i
486 +02
416 i?g 4-R10 43.30
R416+3 \E I
@165 = =
(otes] Y=g
/! 4 <\ N
] Plug { (ﬁwﬁ ‘,
I S
2 b \ 240 10025 Y C L Z\gg
N 11k o & H
° = TP@W o B
] B |B
L " 68 12
HINE Input | | Input N 140x140
29-N 30-M
Based On 30 Equally Spaced Equally Spaced
12307197 9%
2628 B-B
SIDE VIEW 2512 oM
AR E | 30-918 R qua iZJ atﬁpalce
Equally Spaced BN
9|
—_ e | I 0 —_
© I
o NPISES R 4-913.5
o~ Equally Spaced
97
240
2972
FEF%EE MOMENT LOAD CHART————— FERFLIEIR Mounting Holes Option
o & 298.28(220) ‘ M N
g2 o271 .16(200) (Outer Ring 41M&]) (Inner Ring AIE)
Qe
T & 244.04180) — | M16x2Tap (BUR)M40 | @18 Thru (#7L) LIG30 T 17
E Z 216.93(160)
= % 189.81(140) T M16x2 Tap (BGR)40 @18 Thru (&%) L1230 T 17
£
E @ 16270(120) B | 5/8"-11UNC-2B Tap (BiF)40 | @18 Thru (B%L) LI1D30 T17
N 800 1200 1600 2000 2400 BT | 5/8"- ! KGR i
(3L 229%) J99, 2909 2599, 5/8"-11UNC-2B Tap (BU&R)40 | @18 Thru (#87L) LI1@30 T 17

Axial Load ¥l kN(x 103 Ibf)

ﬁﬁgﬁﬁﬁ Slewing Drive Performance Parameters

Max Output  Tilting Moment  Static Axial Static Radial Dynamic Axial Dynamic Radial Gear  Tracking

otaet 23 BAEE 1B E AR REBHE | WEmEET | fEsEE | REE | BESR | BB

25kN.m 30kN.m 180 kN.m 2360 kN 945 kN 590 kN 470 kN

94:1 <0.15° | 255kg
18439 Ibf.ft 22140Ibf.ft  |132.8x10°Ibf.ft| 531x10°Ibf 212x10% Ibf 133x10° Ibf 106x10° Ibf

“A” VIEW AS INPUT IS ALLOWED A * Please be sure to remain under the curve. B R iEHHREFRE T EZSEEIA o
SABALE ‘A" mINE * This drawing is just for your refenece.lA B4Rt S %, |

© This drawing is susbject to change due to new design without prior notice. A A EI{REBHL = RAIALFI

. o MABSTEM. !
SPECIAL DESEE{%;%S@EE?%%;‘[%:E;?'—REQUIREMENT r; * Please contact the technical department for dimensions and performance parameters of the drives. !
FIRIER fraFtmy 5 NRBEEEOMNURIMMEESEY, BSRABIIRER. :

£ SLEWING DRIVE

Torque Torque Rating Rating Rating Rating Ratio  Precision

fant RAREE B H%E WS | FEBEE | WMEsEE | fEsEE | Rl | BESR | BB

50 kN.m 60kN.m 180 kN.m 2360 kN 945 kN 590 kN 470 kN

94:1 <0.15° | 275kg
36878 Ibf.ft 44280Ibf.ft  [132.8x10°Ibf.ft | 531x10°Ibf 212x10%Ibf 133x10° Ibf 106x10° Ibf

“A” VIEW AS INPUT IS ALLOWED A * Please be sure to remain under the curve. S8 R E R CARE A E S BER o
ENEATE ‘A" B0E = ° This drawing is just for your refenece.lA B4Rt 2%, i
7777777777777777777777777777777777777777777777777777777777777777 S This drawing is susbject to change due to new design without prior notice. /A SHRER XA FRIIA |
o MABS{TEA. :

r; * Please contact the technical department for dimensions and performance parameters of the drives. :
T NRTERENIMERIMRESEH, BERABIIKER. :

SPECIAL DESIGN BASE ON CUSTOMER'S REQUIREMENT
AREMENE R TIFRET

sLewG Drive AT



SLEWING DRIVE [El§&s8iRiESS

HESPN-0223

FRONT VIEW

IEMRE

UNITS/& fi:mm
1inch=25.4mm

Weight:53kg

- ﬁ%{#i}]ﬁﬁ%ﬁ& Spur gear Drive Performance Parameters -

Module &1 4
GearRatio JEiEEL 5.33
15-M16x2 Tap (BUR ) 32 : . g .
Based On 16Equally Spaced Static Radial Rating 1R &% 135 kN
16311975 Static Axial Rating 417 338 kN
2-G1/2
Oil ports Dynamic Radial Rating {2 [E1z0%7a 71kN
O~ T HO
f % X \e Dynamic Axial Rating 4fiEz0Ekfar 81 kN
g ore : -
3 \/k/ ¢ Rated Torque ZREAE 3216 kN
%‘e 19{3 & / Rated Speed 2fiE44i% 5.06 rpm
R178
(127)
192
252 -BEDXMHRESH Hydraulic Motor Performance Parameters =
(308)
Motor Displacement HE&  ( ml/r) 625
Flow i7%& (lpm) 20
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, Pressure £/ (Mpa) 8.5
Torque #4%E (N.m) 710
Speed #5E (rpm ) 27
SIDE VIEW
MR E
’ﬂﬁ [ — ERE MM ZEE] vomENT LOAD CHART—————
2 s
Q o £ 24(17.7)
L M ——— - £% 20(148)
Based On 16 EQ e 2 '
Equally Spaced @145 [T 117 5 g 16(11.8)
167197 ) l 5 Z 1289
) I 8 S
R <] P - 25 89
E® 40095
16-M16x2 Tap @229 5 =

(R ) 32

Equally Spaced ‘ @270

L

@306

L

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT

AIREME N E R TIFRRIT

I S.c\NG DRIVE

50 100 150 200 250 300 350
(11.2)(22.5)(33.7) (45) (56.2)(67.4)(78.7)

Axial Load $#i@Zk7aTkN(x 103 Ibf)

* This drawing is just for your refenece.lA B4R ES %, :
© This drawing is susbject to change due to new design without prior notice. A A EI(REB XL~ RAILFI
MABBTEM. 3
* Please contact the technical department for dimensions and performance parameters of the drives. !
MRFELEEAIERITUMERSEY, BERATIIHR. :

A * Please be sure to remain under the curve. J&B R BHHRLIREETEMLTEN
4
S
o
4

SLEWING DRIVE [El3&=RiES

HESPN-048

FRONT VIEW

\ INPUTIED S
EE

— A
12 1088

2-1/8"-27NPT

,%////////,/,

UNITS/E2 {izmm
1inch=25.4mm

Weight:131kg

31-M16x%2 Tap 32
Based On 32 Equally Spaced

L Equally Spaced
A 1975

@42
- fﬁm{ﬁn’fiﬁ%ﬁﬁ Spur gear Drive Performance Parameters -

12327197 Module &2 8
GearRatio J#i&EL 4.8
Radial Load (Max.) {2 1000 kN
Axial Load (Max.) #H[EIETT 2800 kN
7777777777777777777777777777777777777777777777777777777777777777777777777777777777777777 Output Torque (Max. ) HiHi#EsE 18.5 kN.m
Tilting moment (Max. ) & S4B 250 kN.m
{?JI EE.VlEW Number of teeth (wheel ) KIGELGEL 72
NEES
Number of teeth ( pinion ) /N&ESI5EL 15
@470 S R
(2420 | ———— FRE B MOMENT LOAD CHART—————
Input | 31-218Thru(i@7L)
2382 Based On32 250
© Equally Spaced o & (184.5)
[7*,11 O - 13271970 g2 200
- S o (147.6)
< © o = X 150
- { N THS 2 e §E (110.7)
52 100
D472 = (73.8)
[os20 | 2 & 50
@520 E W (36.9)
2550 =

600 1200 1800 2400 3000
(134.9) (269.8) (404.7) (539.8) (674.5)

Axial Load 3#[a1& kN (x103 Ibf)

* Please be sure to remain under the curve SR B RLIRE T E L TER o

SPECIAL DESIGN BASE ON CUSTOMER'’S REQUIREMENT

AREMENE R TIFREIT

é * This drawing is just for your refenece. LA B RS %,
[}
o MABSGEA.
3

NRFERBNIIMERIMMESEY, BESRARIIKER.

» This drawing is susbject to change due to new design without prior notice. 2~ SR 88 B0 R AIIF]

* Please contact the technical department for dimensions and performance parameters of the drives. !

SLEWING DRIVE



WHEEL DRIVE $FEIREH

UNITS/E2 fii:mm
1inch=25.4mm

Weight:53.5kg

TOP VIEW FRONT VIEW VIEW P
1R RE ERE P&
3 5-M12x1.5
©| Tap(BLFR)23min
3 I @
| @iﬁ < 3 g —P A N
T =1 g8 2] LA ‘
Q Q S \ i /' %
Al L 6x3/8”-16UNC-2B N — -
— Tap(BUR)19 i
6.35 89.14 Equally Spaced
256.65 42.46| 54

ﬁiESEEJJ Eﬁ%%ﬁ&i Wheel Drive Performance Parameters

Item INH

Application Type 1EFAEEHZKEL

Gradeability 1&FIZEHIEHEAE

Ratio JHIRHLEIE

JERLE

Rim Bolts Circle Diameter(mm) #3812\ B E 42 (mm)

Rim Bolts Specification ¥ HIMEAEHIE

Rim Pilot Diameter (mm) ##81E B4R (mm)

Outer Diameter of Reducer Housing(Max.)(mm)

IR RS AR AIME (mm)

Frame Installation Pilot Depth(mm) ZEZ2%22E 1 R EE (mm)

Frame Installation Pilot Diameter(mm) ZE22%22%E |E [ H42(mm)

Frame Mounting Bolts Circle Diameter(mm)

Distance from Rim Mounting Surface to Motor Rear(mm)

BRI B IRR T (mm)

Voltage(V) EBHLEBE(V)

Power(W) EBHIZHER(W.

)
Rated Braking Torque(Nm) IzhEs8iEHIznHEE(Nm)

DC Drive Parameters(EiREEIRZ%) | AC Drive Parameters(3Si7FEIRS %))
8-14m Scissor Lift(Electric Drive) 14-16m Scissor Lift(Electric Drive)
(8-14mEBIXEI ) (14-16mEEEXBI X )

25% 25%

45.13:1 45.13:1
Hub Output(3&R4H) Hub Output(#0&R#H)
395 500
790 1000
216 216
5-M12x1.5 5-M12x1.5
184.15-0.13 184.15-0.13
240 240
6.35 6.35
171.45-0.13 171.45-0.13
190.50 190.50
6-3/8"-16UNC 6-3/8"-16UNC

256/218 258
24V DC Motor(24VELREEH) 24V AC Motor(24VELTRER)
800 870/1000
20 20

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT
AIRIERE A R TIFRRIT

XA SLEWING DRIVE

— °This drawing is just for your refenece.lA EEIR{Z#t2% . :
G This drawing is susbject to change due to new design without prior notice. AR BB U= RANA) |
o MABSTEN. :
3
B

+0.055

@241 -0.046

WHEEL DRIVE {FEIRE]

UNITS/E2 {izmm
1inch=25.4mm

Weight:39.9kg

SIDE VIEW FRONT VIEW VIEW P
{FRE ENE P@E
] 4x1/2”-13UNC-2B Thru (IEF)
R1.14max. | Equally Spaced
T Jizl
1038
o2 |3] 9.65min | 8
o| R|_2575 o°%| p
E = |Spline(7E2); 38—
S | 137 161320P N
"6x5/8"-11UNC-2B Thru (I2F)
Equally Spaced
Paint /. 9%
i 10022 18.24 (38) Pa'nf 9-M16x1.5-6g
— it
106+1.3 (111.92)

ﬁ'i‘éﬁliﬁ] ﬁﬁ%%ﬁﬁ Wheel Drive Performance Parameters

DC Drive Parameters(EREBIRES %)
Application Type i&FEEH LT 14-16m Articulating Boom Lift(Electric Drive)(14-16mE33REEHE S 25 2F)
Gradeability & FAEEHLIEH BE 45%
Ratio JREEHLZIELL 64.08:1
Output Type JEEH 4 H AT Hub Output(3¢#4H)
Rated Output Torque(Nm) FiEHIHIAE(Nm) 2800
Output Torque(Max.)(Nm) A% HHE(Nm) 5600
Rim Bolts Circle Diameter(mm) #3122 LR E R (mm) 241.30
Rim Pilot Diameter (mm) 2548 1E 1 E42(mm) 200-5.046
Outer Diameter of Reducer Housing(Max.)(mm)
RS SRR AIMZ(mm) 2re
Frame Installation Pilot Depth(mm) ZEZ2222 1 [13REE (mm) 101833
177,804
Frame Mounting Bolts Circle Diameter(mm)
R e O EE R (mm) 20999
Frame Mounting Bolts Specification ZEZ2Zz 3242 1% 6-5/8"-11UNC
Total Length of Reducer(mm) JEiE& 28 < E (mm) 216
Power(W) EBHLIIZR(W) 117939
Rated Braking Torque(Nm) flz#880xEHz0H%E(Nm) 137-16/32 DP

SPECIAL DESIGN BASE ON CUSTOMER’S REQUIREMENT
AR A R TIFRRIT

— * This drawing is just for your refenece. LA E BRIV fit5% :
S This drawing is susbject to change due to new design without prior notice. xR BB B = RAINA |
o MABBTEX. :
3
B

SLEWING DRIVE



